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.......... 819912 (Ghaggar) -l 318 A& WL (Channel) - [3UR ¢d % [y (Rizgld) 4 udsicdlq a0 gd.

(A) A1y, 321 (Chanu Daro) (B) slasticun (Kalibangan)

(C) dlad (D) 83w

ARZHE 3GEHAL ... Al [Rlendm .24, 1501 u1a-l 8.

(A) [alzau (B) 514 (C) %113 (D) Mg
“UelanaA”Hi Bedlbid wis (crops) L Wl $# (Tkshu) -l 24 .......... A1y 69,

(A) A4 (B) w3l (C) uB (D) 2111l
Hera-l AlEs eadil S+, .......... i 3H 69,

(A) srruell (B) 43R (C) WAl (D) AR
adlu ellg uRne .......... vid Alons dl.

(A) SRR (B) aaldicn (C) Geuladl (D) wedly

.......... 3 ALY, WRAS Sl

(A) €M (Harsha) (B) dtligR (Lambodara)

(C) s34 (Karikala) (D) yaixdl (Pulomavi)

) gy da-dl Yo 665 (main seat) .......... Sdl.

(A) WourisisL (Nagarjunakonda) (B) HgUS (Madurai)

(C) di%i? (Thanjavur) (D) (&1 (Kalinga)

1729 GUE AN HIAS AHIAL WA 88U <......... A% 2, 20N AU W 5Y.

(A) AARSIR (B) AR (C) 4RA31 (D) Yrd
YHIN g 613 siounni iRl A sIAA viER .......... uat-l 22 530 sdl.

(A) $14S 6dlls (Forward Bloc) (B) a1 <Ugl (Swarajist)

(C) 513 AHIFUEL (Congress Socialist) (D) diaalel (Unionist)

[Ria ueaui Gevtn s34 wid-2A-e3i-l 2t 519l 53 el ?
(A) ™. AR, A4 (B) 2UR. {l. HYHER
(C) 2UR. 4. 6i-k® (D) eA1RH AL

oAl Hats daill -l sa a0 2uadl ¢dl ?
(A) 5158421 (Kakatipura) (B) acacdl
(C) $+i% (D) HAHELUE
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was on the banks of the dried-up channel of the Ghaggar is an early Indus site.
(A) Chanu Daro (B) Kalibangan

(C) Lothal (D) Harappa

The rock inscription of Rudradaman in Saurashtra is dated to AD 150.
(A) Vidisha (B) Karle

(C) Junagadh (D) Bharhut

Among the list of crops given in the Arthashastra, Ikshu means:

(A) Sugarcane (B) Mustard
(C) Wheat (D) Linseed
Important Vedic deities are Indra, Agni.

(A) Kamakshi (B) Varuna
(C) Maitreye (D) Tara

Third council of Buddhism was held at:
(A) Besnagar (B) Taxila
(C) Udayagiri (D) Pataliputra

was a Chola ruler.
(A) Harsha (B) Lambodara
(C) Karikala (D) Pulomavi

The main seat of the Ikshvaku dynasty was:

(A) Nagarjunakonda (B) Madurai

(C) Thanjavur (D) Kalinga

The state of gained importance under the King Martanda Verma after 1729.

(A) Travancore (B) Mysore

(C) Baroda (D) Surat

Subhash Chandra Bose founded the party within the Indian National Congress in Bengal.
(A) Forward Bloc (B) Swarajist

(C) Congress Socialist (D) Unionist

Who made the excavations in Sindh region and discovered Mohenjo-Daro?
(A) SR Rao (B) R D Majumdar
(C) R D Banerjee (D) Dayaram Sahani

Where was the capital of Maitraka dynasty located in Gujarat?
(A) Kakatipura (B) Vallabhi
(C) Kannauj (D) Ahmedabad
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A 2 [Qandl - al.

1. AL HHALIR A 5269 UL AHL 6i8o aal titgll Aaa1 215-318 ei-lagig s Gaue wu 8.
2. A3 — AR, il 244 w2 s cud .

3. sitteflan — vyl cud 244 (3Ll Gur [dlay Qs 6.

Gua~u [l WA sun [Qannl i ¢ ?

(A) {1 1 244 2 (B) WA 2 ¢4 3

(C)H1A 131 3 (D) 1,2 241 3 dHH

A2 20ud) Adlinidl wivy Ad Al Adlai ude s3U.

1. A (Ari) 211 ‘YS’ (Soof) L Li-UASISLY, HASIH .

2. 09lal, w1, ‘saell’, Reud’ A AR AHPIR, MIAPRR, AYSE2, LUANe [ARdrd
MHRASIH 69,

3. ‘il a2 MR, VR, YAl ‘AR A 529 MASIH .
U1y [d5ey uaie s20.

(A) 1,2 241 3 dHIH AL, (B) WiaL 1 241 2
(C) A2 M1 3 (D) WA 1 244 3

A= 2uuan [QaHl i al.

1. 1 214 2usiet Higdl ol wlanizil 214 4531 HiRdlL HLSIHAL 2i084d 825l 6 1 daR1d 3Dl
gzl dus Uldirt Wl ga-dl wel-t 249 yon 53 8. Wil uldruil 244 83y, 2ua, g s
@A Fal U531 YRl sou Al vinm ©.

2. 9RAdHl AHIIHIAL 2URAVFH, tr2al, FH, HFS), el 5aR, 6191 dal UISle sl 2ud 8. A3
AWM Gewesll (products) HReAsIH, Ayl sHAl dar 20 stmdl yalda siu 8. wmidl argil
HEE {9 WAL - 529 VLd tirllAUHL 2Ud 69,

ALY [Asey urie s2l.
(A) WA 10y 8. (B) WAL 2 13 69,
(C) 1 a2 1=l A1 89, (D) 1 244 2 61 L .

A= 2udan [Q-l i al.

1. wiou 3am-u avueatofl 8l 69 3 %+l o se1a S5 31501 (double ikat dying) ds-14-i Guaiol
5301 orudd 8. uaion dudui virdl 2 8 ariiz 2RI 2is 8. velon -l Yrad AR
QoS 69. ogrudle [ecuni Geaurl2d u2ivi vioL wudld €9,

2. 3ol AU 1 HLaAR1R [Feautl Alell og-i ety BLdloy 5l € 244 d-iL Yyou Bewes 8. s2dls
Guaoy iy ddl gelldl sals Bz dedui 2w 2us1a4l AHSAL A1, SUl 56121, 213d Ao,
ER 0L AUl A UG BRI AL W 8.

A1y [Asey urie 2.
(A) WA 101y 8. (B) WAL 2 13 69,
(C) 1 911 2 61 i -, (D) 1 244 2 61~ L 69,
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1. Bandhej or Bandhani or tie-dye products are best produced in Jamnagar and Kutch region of
Gujarat.

Consider the following statements.

2. Chokidal: Primary pattern of square, elephants and other animals.
3. Kambaliya: Pattern in the center and different designs on the border.
From the above which statements are correct?

(A) Only 1 and 2 (B) Only 2 and 3
(C)Only 1 and 3 D)1,2and3

Select the proper pairs from the pairs given below.
1. ‘Ari’ and ‘Soof’ embroideries from Banaskantha

2. ‘Kathiya’, ‘Mahajan’, ‘Kanbi’, ‘Rabari’ embroideries from Jamnagar, Bhavnagar, Rajkot,
Junagadh regions of Saurashtra

3. ‘Banni or Heer Bharat’, ‘Ahir’, ‘Mutwa’, ‘Neran’ embroideries from Kutch
(A)1,2and 3 (B) Only 1 and 2
(C) Only 2 and 3 (D) Only 1 and 3

Evaluate the statements.

1. Figures and toys made of clay and terracotta are an essential part of Indian pottery and Gujarati
Dangi tribes pray and worship their own clay god. Clay figures and toys like horses, cows, bulls
and buffaloes are like the watermark of Gujarati art style. Generally, Terracotta items are
produced in Chotta-Udaipur.

2. In Gujarat, from leather, mirror frames, batwa, frames, mojdi, cushion covers, bags and purses
are made. All the leather products are embellished with embroidery, bright tassels and mirror
work. Leather objects are mostly made in Khavda Kutch.

Choose the correct option.

(A) Only 1 is correct (B) Only 2 is correct

(C) Both 1 and 2 are correct (D) Both 1 and 2 are not correct

Evaluate the statements.

1. Patolas are woven sarees made of silk that feature patterns created by using the double ikat
dyeing technique. These are one of the finest hand-woven sarees made in Gujarat. There are
primarily four patterns of Patola saree. The Patolas produced in Junagadh District are very
famous.

2. Amreli and Bhavnagar districts of Gujarat are the oldest block printing centers, and a major
producer in this segment. Some of the known block print patterns available are twinkling
stars in the clear sky, Egyptian tombs, abstract patterns, dense forests with beautiful colour
combinations.

Choose the correct option.

(A) Only 1 is correct (B) Only 2 is correct

(C) Both 1 and 2 are not correct (D) Both 1 and 2 are correct

[BDV-1] rro. [N
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016. 15 2222, 2022+0 RalaA Awuui e (e 2udean ¢9 ?
(A) 33 (B) 24 (C) 57 (D) 68

017. drud [Aaaeu-dl ga slssi-l dva sedl € ?
(A) 157 (B) 168 (©) 182 (D) 154

018. MvAld Hl2RL 2t du-i Aace [ecuiidl Adlail 200l 8, 55 Al dlou dd Azl =) ?
1. MR P e — M3
2. 613 AR Hidl H[22 — v
3. -wduR uildldo — og-udte
4. ¢8lflotrl & (B — vuglcus
A1 Y4 w0y [Aseu urig s
(A) 1A 1 244 2 (B) {1 1 241 3
(C) WA 1 A 4 (D) 1,2,3 21 4

s

019. -l WRg Al 214 d- A4oifd Precnzi- gl wiou dd A3l

1. AR Qi a. A3lEll

2. vistag-ll alq b. AHELAE

3.6l Al c. Aidl21R

4. "aavil aia d. wewl
(A)1-2a,2-d,3-¢,4-b (B)1-b,2-2,3-d,4-¢
(C)1-¢,2-b,3-2a,4-d (D)1-d,2-¢,3-b,4-2

oA Y

020. -2 (Becuil da d (Bean % 200 2uddl 8 d -l Adai 2uddl ©. DA W4 5S Adai vy ANd
sl €9 ?
1. s6512 [(Becll — 529
2. Buasie [3eell — o1
3. Sca gl [Bedl —wianyR
4. LS 617 A Mg [Seall — vimgLae
(A) {1 1 244 2 (B) Wit 1 244 3
(C) 1A 1 1A 4 (D) 1,2,3 21 4

021. A A (@9 02 2udean [Qanl Luqni Al
1. AL ARSI+ AL AU dAHIH U2 BUR 25 UAHIA 52 Sl
2. Al AepaHl el ua A8l A gdl.
GuR-it [l WS sy [ / s (sl 0 / 02 -9 ?
(A) WA 1 (B) H13A 2

(C)1au 26 (D) 1 141 2 215w ]
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How many districts are there in the state as on 15" August 2022?
(A) 33 (B) 24
©) 57 (D) 68

Total Assembly seats in Gujarat assembly are?
(A) 157 (B) 168
(C) 182 (D) 154

The pairs showing well-known temple and the concerned District are mentioned below. Which

pairs are not correct?

1. Bhadreshwar Jain Temple — Bharuch

2. Bahuchar Mata Temple — Mehsana

3. Nageshwar Jyotirlinga — Junagadh

4. Hutheesing Jain Temple - Ahmedabad

Select the correct answer using the codes given below:

(A) Only 1 and 2 (B) Only 1 and 3
(C) Only 1 and 4 D) 1,2,3 and 4

Match Rich Stepwells of Gujarat and the district.

1. Rani Ki Vav a. Vadodara

2. The Adalaj Stepwell b. Ahmedabad

3. Dada Harir Vav ¢. Gandhinagar

4. Navlakhi Vav d. Patan
(A)1-a,2-d,3-¢,4-b B)1-b,2-a,3-d,4-¢
©)1-¢,2-b,3-2,4-d MD)1-d,2-¢,3-b,4-a

The fort and the fort place are mentioned below. Which pairs are correct?
1. Kanthkot Fort — Kutch

2. Uparkot Fort — Junagadh

3. Ilva Durga Fort — Palanpur

4. Manek Burj and Bhadra Fort — Ahmedabad

(A) Only 1 and 2 (B) Only 1 and 3

(C) Only 1 and 4 D) 1,2,3 and 4

Consider the following statements regarding Mauryan Empire.

1. Mauryan government had equal control over all the regions of its empire.
2. Slavery was completely absent in Mauryan Empire.

Which of the above statement/s is/are incorrect?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

[BDV-1] [PT.O.
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022. 5351 cuRdla [Qaldenaa 2EMAUN sma sul, B 2idold...
(A) HRAx dHIH G2 Rai@s il vdluse sy,
(B) x2ale vigaHi dar 2 vl [Qaldenaui-i xeusiuidl Hiws [Qauqd ¢ 54,
(C) MR- AxiH [duldenaal ARs1-1 (g 80 cieul.
(D) [Qaldenaui-u wels 21852 8 g2 sy,

023. il 2usia-dl dsu Anug1ue Ma s3dia, 1918 su1 Had QI8 A edl ?
(A) AcRAUs {3 glL M s1ug1Rl e 21l adq
(B) 4> AHH S1MEIR1 (Rl & d-l M qaaus dsnl [Qiy
(C) SIHERIA WEeL Qv WAL bl
(D) [Ma simgiRi-l wizy w926l (layoff)

024. cuRdHi 194 gl g% A% AU 4216 [del 1A 2uden [Qan-l u-ui al.
1. A% AH, HIS AU A0 g121 eioieum U5 Al 21 scuHi 2ud) 8dl.
2. RflRgHR Al gRL dsHi viou (Bl SRun auudl uuami 2udl edl.
3. Srg [Aean1012 gia1 sastuni Suq dloy a3 sami 2udl edl.
BuRr WSl sy [Aanq / s [l aea &9 ?
(A) " 1 (B) Wiat 1 244 2
(C) WA 121 3 (D) WA 2 24 3

025. 1A 20Ul A2l - Al
143 Slesd Al — 2drg-1d 210U
2. S22 S[=3u1 vaiflAA — sle1eus 1Al
3. S[R3uL ARNAA — 2i1-E HigH G
Bua-ll Afliuidl 5S Al wiou d ARl © ?
(A) WAL 1 244 2 (B) H1AA 2 244 3
(C) WA 124 3 (D) 1,24 3

026. udly 2[‘{1!{ PR (Indian National Congress) (INC) -l yanaglAi-l Huy ol DA WA 56 el ?
1. As(Ad Ruud 214 s1R1603)
2. ol HSYAUT 82131 sl 2 -l gleRi vigdiA 28Ry wsd,
3. llsiril 52 27 viis yes uoyel.
4. AL vAnL w213l
1 [Aseu wrie s
(A) W3 1,2 ¢4 3 (B) {1 2, 3 211 4
(C) A 1, 3 A 4 (D) 1,2,3 21 4
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Curzon brought in the Indian Universities Act which

(A) Nationalized all higher educational institutions in India

(B) Removed social sciences from the curriculum of private universities to curb nationalism
(C) Brought all the universities in India under the control of the government

(D) Did away with the territorial jurisdiction of the universities

Ahmedabad Mill Strike 1918 led by Gandhiji was based on the issue of

(A) Inhuman treatment of mill workers by the management

(B) Objection of management on participation of workers in the freedom struggle
(C) Plague Bonus of the previous year to workers

(D) Large-scale layoffs of mill workers

Consider the following statements regarding the political organizations during 19th century in
India.

1. The Bangabhasha Prakasika Sabha was formed by associates of Raja Ram Mohan Roy.
2. Bengal British India Society was set up by Sisir Kumar Ghosh in London.

3. Indian League was started in Calcutta by Ishwar Chandra Vidyasagar.

Which of the above statement/s is/are correct?

(A) Only 1 (B) Only 1 and 2

(C) Only 1and 3 (D) Only 2 and 3

Consider the following pairs.

1. Landholders Society — Debendranath Tagore

2. East India Association — Dadabhai Naoroji

3. Indian Society — Anand Mohan Bose

From the above pairs which pairs are correct ?

(A) Only 1 and 2 (B) Only 2 and 3
(C)Only 1 and 3 D)1,2and3

Which of the following were the main demands of the Moderates of Indian National Congress
(INC)?

1. Integrated judiciary and executive.

2. Reduction of land revenue and protection of peasants from unjust landlords.

3. Abolition of salt tax and sugar duty.

4. Reduction of spending on army.

Select the correct answer:

(A)Only 1,2 and 3 (B) Only 2, 3 and 4

(C)Only 1,3 and 4 M) 1,2,3 and 4

[BDV-1] rro. [N
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028.

029.

030.

A2 2 an [Qadl Hanagl ddizil 249 a1l aalBisdaizi sald 9. s Q- a1 ?

1. SLELLE AR — d MIRA-L ‘Grand old man’® d3\3 2elldl € 241 (B2l House of Commons -l
ALY Gi=UR AUAH MRl dl. A2l Indian National Congress (INC)-lL MAH UHM Edl.

2.9, YU HU — “The Hindw’ AdHIuA, dHa adHiriusl asaf@ o+ 22U, gl He1m
UL ASRAUS Sl

3. QUULAEH ANHA — HSLHL ATELAL A% S 23 D1RUAL S ell 24 ALz s S[R3l A AL 215 Sl

4. AR YRrwrU 6l — ARl YAl A Grllel 53l ug della Heruad S128L €921 sAUML Ul Sdl.
GUEHT ‘A2 33’ i “Indian Burke’ d<l3 vyl

(A) H1A 1 244 2 (B) H1A 2 211 3
(C) WA 3 i1 4 (D) 1,2, 3 21 4 dHIH 110 69,

auRdld 880U si3AA (Indian National Congress) (INC) il Guagl Al (49l Al [l enxmi al.
1. s RAfA AEMHL d Youed HHIHEIRL 21 101R1L G2 HEUAH QAL Sl

2. ddl 3 GIRd AH2uAL A6 S dls @l wiawll 530,

3. il Gellg1d] 241 eif&gin 2l Al dHA AR [ gdl.

4. Al Hirdl 8l 5 [Bre- a1 Ao Sl A3l (322121 gl GuRd-AL AN s1uH] eiriasl.

Gu-iL WSl su Qe e 69 ?

(A)HA 1,2 24 3 (B) WA 1,3 211 4

(C) WA 2, 3 ¢4 4 (D)1,2,3 %1 4

QUEL-T A, WEL-TT e 28 N3 2 e [Qseuinizdl Al FaoL Yie $2.

Agl--1 a1gl--11

a. BAE 1. ®ogHidl Au

b. vadde 2. ufd= ofldidl Aue

c. AHAE 3. da Waadl Hus

d. ugde 4. ollayoli-l Aus
(A)a-2,b-1,c-4,d-3 (B)a-3,b-2,c¢c-1, d-4
(C)a-4,b-2,¢c-3,d-1 (D)a-1,b-3, c-2, d-4

agall anam (a9l DA [Qaunl kuni al.

1. 190541 1S+ Hlasifs sludlun 25 Aertul oil8ss11 6Ad UAR SAHT Ul el 244 el
onan-l Huaus aingn sl 2udl sdl.

2. [Banidl (Hitabadi), Aiwoudl (Sanjibani) 211 sioudll (Bengalee) Bl swiouRidl Guaidl agsll
NAONAL ARSI UAR S WIS Al Sl

GuRr WSl sy [Aaiq / s [l aea & ?
(A) 112 1 (B) WA 2
(C)1da 26 (D) 1 141 2 215w ]
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Statements showing moderate leaders and their characteristic are mentioned below. Which
statements are not correct?

1. Dadabhai Naoroji — Known as the ‘Grand old man of India and the first Indian to become
a member of the House of Commons in Britain. The first president of the Indian National
Congress (INC).

2. G Subramania Aiyer — Founded ‘The Hindu’ newspaper, Tamil newspaper ‘Swadesamitran’.
co-founded the Madras Mahajana Sabha.

3. Gopal Krishna Gokhale — Regarded as Mahatma Gandhi’s political guru and founded the
Servants of India Society.

4. Sir Surendranath Banerjee — Cleared the Indian Civil Service but was discharged due to racial
discrimination later known as ‘Rashtraguru’ and ‘Indian Burke’.

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 3 and 4 (D) 1,2, 3 and 4 all are correct

Consider the following statements regarding the Extremist leaders of Indian National Congress
(INC).

1. The social base was mainly zamindars and upper middle classes in towns.
2. They demanded swaraj as the panacea for Indian ills.
3. They had immense faith in the capacity of masses to participate and to make sacrifices.

4. They believed that political connections with Britain would perpetuate British exploitation of
India.

Which of the above statements are correct?
(A)Only 1,2 and 3 (B)Only 1, 3 and 4
(C) Only 2,3 and 4 D) 1,2,3 and 4

Match List-I with List-1I and select the correct answer from the codes given below the list.

List-I List-11

a. Rigveda 1. A collection of Hymns

b. Atharvaveda 2. A collection of Holy songs

c. Samaveda 3. A collection of Spells and charms
d. Yajurveda 4. A collection of Sacrificial formulas
(A)a-2,b-1,c-4,d-3 B)a-3,b-2,c¢c-1,d-4
(C)a-4,b-2,¢c-3,d-1 M)a-1,b-3,c-2,d-4

Consider the following statements regarding Swadeshi Movement.

1. In 1905, the Boycott Resolution was passed at Mumbai’s historic Gowalia Tank Maidan and the
formal proclamation of Swadeshi Movement was made.

2. Newspapers such as Hitabadi, Sanjibani and Bengalee were used to propagate the agenda of
Swadeshi Movement.

Which of the above statement/s is/are correct?
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2
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031. QURA A&l AA[AuH 1915 (Defence of India Act 1915) (A9l DA [Qau-l uqui al.

1. d GURdL AAR-% ¢ g1l uaH [Quyta uel izaiel 241 sildsidl uglhzid azaru gl asami
2l gdl.

2. dgl yAdlud i aurdla waRsl a2l dla Mg sul.

3. 2182 M3 WSl UAH ALSIR MIUA HSEHL £ 24 HARUH Qd) sAUAT 2Ul gl
Guu U4 s [Qandl Acw 69 ?

(A) H1A 1 244 2 (B) {1 1 241 3

(C) WAL 2 21 3 (D) 1,21 3

032. *RAlY Ql‘{lq PSEY (Indian National Congress) (INC) B} ﬂ%éﬂ‘-l clot Q2L @viAl $2AR IRL AR
A A U4 S A5l Hivwelnl 29 saumi 2ud) ?

1. d-it 6120 2430 WAl wididl a5 (self-government) niall 53,

2. YelHL HI2 AU HAEIR Hiul.

3. awduiadl s11602) ulRNgAL dHiH uagul cudlu sial A A,

il [Asey uaie 0.

(A) HaL 1 244 2 (B) HIA 2 211 3 (C) 1A 2 (D) HiaL 1 244 3

033. i 3& dloLanan (el fai-u [Qu-l Luqni Al
1. ¢in 3¢ dloy anan 3 uau [ g -l surddl wlalsa edl.
2. FAUSAAUA 183, Y GISIER AY i AL APUA A SIH 34 ELAA 251 Ul gl
3. 1917 A2 sila-u 5120 $1 3@ dlor anang ud- 1y,
Gu- WSl s [Qai-il A 69 ?
(A) H1A 121 3 (B) 1,2 1 3 dHIM
(C) 1A 1 211 2 (D) H1AA 2 11 3

034. Wd-f-2l YR Qg Daqu [Qeanl Luqmi al.,
1. ‘A4 HaglR {30l [Aenaqid :dlsidld YRl we ainellRs ulaRfEad wa ema as.

2. 5sel [Qan uRuent w513 @lsduti-l sigidl ndl uami 2udl gdl uig uidla (@ uRueid
(Bt U510 sl ergHdl varll 2ol suuami 2udl gdl.

3. d 2l [Rasd, 5421 A Qaeri 202 allzd Avainl disia Hal@si 2uuaml sicl.
GuR- WSl 5y [Aanq / s [l aea €9 ?
(A) 1A 2 (B) WiaL 1 ¢4 2 (C) 1A 131 3 (D) 1,241 3

035. DA U4 55 anand [RHuau Fadl 44’ (Himalayan Blunder) €14 2idleo vigs Avil ?
(A) 1A 51 Anan (B) A2 ¢is2 [A3gl ncunaus anan
(C) ulana st ol anan (D) [S¢ st anan
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1. It was enacted by the Governor-General of India with the intention of curtailing the nationalist
and revolutionary activities in the aftermath of the First World War.

Consider the following statements regarding Defence of India Act 1915.

2. It made a sharp distinction between European and Indian people.

3. The Act was first applied during the First Lahore Conspiracy trial in the aftermath of the
Ghadar Conspiracy.

Which of the above statements are correct?
(A) Only 1 and 2 (B) Only 1 and 3
(C) Only 2 and 3 D)1,2and3

Lucknow Pact between the Indian National Congress (INC) and Muslim League put forward
which of the following political demands before the Government?

1. It demanded self-government from the British.

2. Separate electorates for the Muslims.

3. All the members of the Viceroy’s executive council should be Indians.
Select the correct answer :

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 2 (D) Only 1 and 3

Consider the following statements regarding Home Rule League Movement.

1. Home Rule League Movement was the Indian response to the First World War.

2. Jawaharlal Nehru, Tej Bahadur Sapru and Lala Lajpat Rai supported the Home Rule agitation.
3. The Russian Revolution of 1917 led to the decline of the Home Rule League Movement.
Which of the above statements are correct?

(A)Only 1 and 3 (B)1,2and3

(C) Only 1 and 2 (D) Only 2 and 3

Consider the following statements regarding Morley-Minto Reforms.

1. It introduced a system of communal representation for Muslims by accepting the concept of
‘separate electorate’.

2. It retained official majority in the Central Legislative Council but allowed the provincial
legislative councils to have non-official majority.

3. It granted franchise to a limited number of people on the basis of property, tax or education.
Which of the above statement/s is/are correct?

(A) Only 2 (B) Only 1 and 2

(C)Only 1 and 3 D)1,2and3

Gandhi suspended which of these movements calling it a ‘Himalayan Blunder’?
(A) Non-cooperation movement (B) Satyagraha movement against Rowlatt Act

(C) Civil Disobedience Movement (D) Quit India movement

[BDV-1] rro. REB
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190741 Yl vild HAUAUEL - GAAEL A2 AUALEAL Ugal-l Yo 51200 AL WS suL e ?

1. Hamaglil w812 (Boycott) L Antand oidum Yl Aldld war Hidtdl gdl 2uR Guaglzil »u
LA B AHIH HIRLHE A %l HiddL Sl

2. GAALIAL A9l 8l § 19077 A YRl [Aas vadl drUAAUAU UYWL Ue 860 Al AR
HAUNUEIZAL 249l Sl 5 2AL A WOIYR vl AUGLSIZ SN NHM ue dloa.

ULy [d5ey uaie s,
(A) "= 1 (B) WAt 2 (C)1du 206 (D) 1 21ac 2 245 4L Al

auRd- 2045 Slasinui oRudl 2uau o e 8 ?

1. d WeLent Al 2ilan R 2214 8.

2. 20 2034 vidll 193041 {lsiril AcuASA I 2l Sell.

3. IR ARSI GIRL d ALZNU 1R AZls Blld sl 2u .

Uiy [Asey wae 52U

(A) " 1 (B) WA 2 ¢4 3 (©) 1,241 3 (D) {1 1 4 3

192741 2l Auu- sl aemel N4 U4 58 edl ?

1. HIRA 6iIRE 215 doAleds (Unitary) 23U, Sid AS .

2. AL HABIR HIVIL AUBLE S AS A,

3. [amacui-l el dls yod HalEsi-u >ua adl A,

4. widla AR R Sla Al @RS A Alud) ASA.

U1y [d5ey uaie s,

(A) 1A 14 3 (B) WA 4

(C) Wat 1 244 2 (D) Buisd U4 visuat 1l

DR ECTE R RSN

1. ylad sl suotarll dsu aist Agellan AM(A iRl 612218 ¢2 (Barrah Dacoity)d 2udlo- sl
21y 8.

2. U5 A8 247 vLlAM 6D S A SUE% (Hardinge) UR 63t GHAL ST Sdl.

GurL WAL 5y [Qaqt / sun Qe 0 /i e ?

(A) W 1 (B) H13A 2

(C) 1 adL 2 &1 (D) 1 A2 2 %45yt Al

Al acameus uea [ag QA A4 sy [Qan g el ?

(A) UREIR USA WA MHIRdL UAH GU UAHAAL 4 NaH 318 UL a5 Al 20l edl.
(B) AAMMLS YA %~H HHELUEHT AL Sl

(C) ARER WAl Mt uH »AMS uld g4,

(D) AUREIR USH MR- dlvidl y3u als el 8.
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1. Moderates wanted to restrict the Boycott Movement to Bengal, whereas Extremists wanted to
take the movement to all parts of the country.

2. The Extremists wanted the 1907 session to be held in Surat with Tilak or Lajpat Rai as the
president, whereas Moderates wanted the session to be held at Nagpur with Rashbehari Ghosh
as the president.

Which of the following are the major causes for Moderate-Extremist Split at Surat (1907)?

Select the correct answer :
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

What is the significance of Sabarmati Ashram in the modern history of India?
1. It served as the last residence of Mahatma Gandhi.

2. Salt Satyagraha was started from this Ashram in 1930.

3. It has been declared as a national monument by the Indian government.
Select the correct answer :

(A) Only 1 (B) Only 2 and 3

(C)1,2and 3 (D) Only 1 and 3

Which of the following was/were the recommendations of the Simon Commission set up in 1927?
1. India’s constitution should be unitary in nature.

2. Separate electorates should be abolished.

3. Elections to the legislative assemblies will be based on Universal adult franchise.

4. The provincial governments should devolve financial powers to the local bodies.

Select the correct answer :

(A)Only 1 and 3 (B) Only 4

(C) Only 1 and 2 (D) None of the above

Consider the following statements.

1. Barrah Dacoity was organized by Dhaka Anushilan Samiti under Pulin Das.

2. Prafulla Chaki and Khudiram Bose staged a bomb attack on Viceroy Hardinge.
Which of the above statement/s is/are correct?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

Which of the following statements is not correct about Shri Vallabhbhai Patel?

(A) Sardar Patel had served as first Deputy Prime Minister and first Home Minister of Independent
India.

(B) Vallabhbhai Patel was born in Ahmedabad.
(C) Sardar Patel’s father’s name was Jhaverbhai Patel.

(D) Sardar Patel is also known as the Iron Man of India

[BDV-1] rro. K3
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043.

044.

045.

046.

MURAHE A sl [BaA’ S12 Boraaumi 2ud € ?
(A) 15 A2 (B) 25 BAwR
(C) 31 2Us2i0R (D) 26 A4Sl

‘Statue of Unity’ (42 121 WS 53 At 1y el ?

(A) ‘Statue of Unity’ 9J21d-l el [Fecuni 20dg 8.

(B) d-l Glue Statue of Liberty gedl 69,

(C) Statue of Unity, 31 11521042, 2018 -l 1% A%z AHMd s2cUu1 0, 8.
(D) Statue of Unity il Gl 2u212 182 122 (597 §2) 8.

SEAGUE AU MR [SUL b1l HI2 UREIR USH GIRL 54 U 812 HRAUHT U 8q ?
(A) Operation Blue Star (B) Operation Polo
(C) Operation Seize (D) Operation Unity

19461 Au4 MRl A A orncu (A2 DA [l 2uui al.

1. Aud (Rl AL At AR ARsLHE 8 dR vl ARy stisiar-l RalA- Hio 21 sinard diesilas
S18 .

2. Rl AU S13A dan Yrellm dlor 2 g3 s-uRiii-l el 530 sdl.

3. 21 t1ncll Yot & Ydl AR sdl.

Gur WAL sy [Aaiq / s (sl 0 / uai e ?

INKIEREER ) (B) WAt 1 (C) 1A 121 3 (D) H1A 2 1A 3

A= [Qaul 2uqni Al
1. dvlld cud- Al uan widal [Qies 4 auani 2ud ¢9.

2. dell a2 du-t Ul 2 ouotdd AFHIEL 20 8d 5 [Ra2L 21 15 You dvdl 8 B gL RS 21
glad aold Analsase i 8.

3. dell Acu AHS A1 A ASNAY Sdl.
i [Qausl siv e 9 ?

(A) ARy ag (B) ste[¥i-ll aioyell
(C) B 1l (D) AlaNeus sd
193] A1 WM widlaR (Poligar) Gl HAL .......... Hi .

(A) Bl n2512 g1 2uleonfd adl 244 €l uasi R
(B) eH1512) oHlA Heya usuell

(C) 2ul2onlaxi-l [Bin-2uleonldil a-l geuniaz

(D) (220l e A caus 2idiN
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When is “National Unity Day” celebrated in India?
(A) 15 August (B) 25 December
(C) 31 October (D) 26 January

Which of the following statements is not correct about the ‘Statue of Unity’?
(A) ‘Statue of Unity’ is located in Narmada district of Gujarat

(B) Its height is equal to the Statue of Liberty

(C) The Statue of Unity was dedicated to the nation on 31 October 2018

(D) The height of the Statue of Unity is about 182 meters (597 ft).

Which operation was carried out by Sardar Patel to make Hyderabad State a part of India?
(A) Operation Blue Star (B) Operation Polo
(C) Operation Seize (D) Operation Unity

Consider the following statements regarding 1946 Royal Indian Navy revolt.

1. The immediate trigger was the demand for better food and working conditions for Indian sailors
of the Royal Indian Navy.

2. The Indian National Congress and the Muslim League condemned the strikers.
3. The revolt was confined to Bombay region.

Which of the above statement/s is/are correct?

(A) Only 1 and 2 (B) Only 1

(C)Only 1 and 3 (D) Only 2 and 3

Consider the following statements.
1. She is regarded as the first female teacher of India.

2. She along with her husband recognized that education was one of the central planks through

which women and the depressed classes could become empowered.
3. She was associated with Satyashodhak Samaj.
The above statements refer to
(A) Sarojini Naidu (B) Kadambini Ganguly
(C) Usha Mehta (D) Savitribai Phule

The Poligar revolt of early 19th Century was rooted in

(A) Control of tribal forests and river streams by British government
(B) Oppressive land revenue system

(C) Enmity of tribals with non-tribals

(D) General discontentment with foreign rule

[BDV-1] [PT.0.
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048.

049.

050.

051.

052.

053.

gall ol e A W4 sa 2ad wA Bi-sadau- Qld 21u-udl edl ?
(A) %€i AR (B) [adlun si-dls
(C) Aln SRz (D) GURisd WAl 2isur Al

A1 U4 sUL 5120092 193940 siAu-L HAHIMUA ADUHL 21 ?

(A) S R NidiA 3 121 vor 2069 2ulds asia 2uuani 2uadl sdl.
(B) Uilds a1a-z 14 ad A g1 dlel waz ([QauEsiR)-l ay usdl Guaia
(C) 513 WlAd nidini s2158-) aivau,

(D) MR-l 20 dlan (A cndn oflon [Qa ygHi uasik 45 ailid sy,

cRdla 2[‘{[1{ PR (Indian National Congress) (INC) -l Adl [(Fw Raq (1942)l gRuudiefl
AL HE Ade A8l ?

(A) Bt [Raui 2149 HdgiR Hsu [Qaidl custa-l Gedv saui 2ul A Sdl.

(B) Bt Raint yta uefl el ARelds Sedid@ W2 Add QAL gdl uTg U 2 A2l Ais
222l [RHYls A%ATL (crown) g1RL A d tuotd A1 Av edl.

(C) il US4l (dominion) Ul €% AEA UYLl A AL SA9ell el
(D) Bt B cudla Adizil 8 SRl sioianl [ [Qual sul 4 sdi 244 245 uslla sricaudl-l uedia
YUl Gl

A2 WAL s AldsiRs BUAL HIRAL AU Yrols 246ilEq 6 ?

1. 2l ul@ld 2. 5% Al 2uidL 3. HIR il 4. 2uwd u@ld
12y [Asey uRie $2.
(AW 1,2 ¢4 3 (B) {12 2, 3 41 4 (C) WA 1,2 ¢4 4 (D) HiA 1, 3 ¢4 4

D2l Wl s Yaus? Miaqi €l dan dlaadl vt (49 aldraR 2l s34 6 ?
(A) Abbe Barthelemy (B) Jean-Baptiste Tavernier
(C) Francois Bernier (D) Jean de Thevenot

A2 WS su [Q2ell Y52 ‘Records of Buddhistic Kingdoms® -UHAL MaAlAARl-Hi Uil
Asan s4 6 ?

(A) 518121 (Fa-Hien) (B) &AL i3 (Hiuen Tsang)

©) Wyl (Megasthenes) (D) WSt wal (Marco Polo)

A 2uden [Qandl Luqui al.

1. 9t dall Yg12il (Coins) Wi A1HLA 2 HIR Sdl.

2. ul2all g 5u AN g1l (Coins) Hi YaR -l 961l Adumd Udls dals Gualal sl gdl.
GuL Ul £y [Qanq / s (Al ) /i ?

(A) W 1 (B) {12t 2

(C) 1911 2 6iA (D) 1 244 2 U4l visua 4l
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Who among the following Governor Generals followed the policy of non-interference with native
states?

(A) John Shore (B) William Bentinck
(C) Warren Hastings (D) None of the above

Which among the following was the reason for the resignation of Congress ministries in 1939?
(A) Congress ruled provinces were given very less financial aid by the Center.

(B) Extensive use of veto power by provincial governors and viceroy

(C) Proclamation of Emergency in Congress ruled provinces

(D) India was declared a party to the Second World War without consulting Indian opinion

Why Indian National Congress (INC) leaders were not satisfied with the Cripps Mission (1942)
proposals?

(A) Cripps Mission did not address the issue of separate electorates.

(B) Cripps Mission agreed for post-war real transfer of power but maintained that the Viceroy
and Secretary of State shall be appointed by the crown.

(C) Leaders wanted full independence rather than a dominion status.

(D) Cripps Mission did not deliberate any matter with the Indian leaders and proposed unilateral
measures.

Which of the following historical commissions were related to States Reorganization in India?
1. JVP Committee 2. Fazl Ali Commission

3. Dhar Commission 4. Gokhale Committee

Select the correct answer :

(A)Only 1,2 and 3 (B) Only 2, 3 and 4

(C)Only 1,2 and 4 (D) Only 1, 3 and 4

Which of the following traveller elaborately discussed about diamonds and diamond mines of
India?

(A) Abbe Barthelemy (B) Jean-Baptiste Tavernier

(C) Francois Bernier (D) Jean de Thevenot

Which one of the foreign travellers compiled a travelogue “Records of Buddhistic Kingdoms”?
(A) Fa-Hien (B) Hiuen Tsang
(C) Megasthenes (D) Marco Polo

Consider the following statements:

1. Peacock was usually present on Gupta coins.

2. Western Chalukyan kings used images of boar as a common symbol in coins.
Which of the above statement/s is/are correct?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

[BDV-1] rro. K3
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alld (=t 2udvi (Mural paintings) (@2l 121 WL sy (A a1 9 ?
(A) 3™ BuR RaaiHi »udd 5 A4l o @dusami 2uda (applied directly) saslasl ¥l
(B) &ld, £9d 212l 21 515 AW BUR [RAduui suda 5 A4l o @dusani 2udd (applied directly)

senglanl 4yl

(C) 5143 GUR Rdeaumi 2uda $ A4l o @dusaii >udd (applied directly) sauglanl 4yl

(D) Hid £8 BUR [AdRauni 2uda 5 Al o @ousuHi 2udd (applied directly) sagla-l 4yl

Y

ofld (221 204v (Mural painting) i .......... uRAadl seugla 6.

(A) 4 (B) A2

(©) AR (D) uiy

Rl sou 21 dzglan Slagia- Aeeni DAl Al ruqni al.

YUl SHIRA

1. [Qgumn veaRi-l awdl uR [Rieu 514 534,
four gnder’ 5 @ 2lAs Ad o
wald’ a3 sy 9.

2. [Amgil a1 AadiR § FHE Yl HidiAd
BlsL 2 i3 wslluiofl srndar, du-l
u3s uR [Reusiu sl toll

3. GuR-L GRIML 2B Aas1ell AN sil
a2 Adl - opeadl wgRRaiaxl
My ¢90f)

Gua-ll A8 WA 56 Al ) sl € ?

(A) H1A 1 244 2 (B) WA 3

)
— HHAYRH

— G2 10

— V%l

(C) WA 124 3 (D)1,2 943

Yldtl e senaar Wi [8+€l (uriel Guaiol UL UAH M5d Ad S1Q 8dl ?

(A) AM-g (B) svll2

(C) dallen (D) €1,

QUEL-T A, WEL-TT 1 231 241 A 2004, 5131 BUaidL 30 1AL WAL YHE $2U.

AEL-T (Yrelsg UH)

a. The First Indian War of Independence
b. AI-iEHS

c. M-

d. Life Divine
(A)a-1,b-2,¢-4,d-3
(C)a-3,b-2,c-1,d-4

D2l WL su 2iA% 197441 Mo198 Ml AL NAHAR 2A02 x1eue sul gl ?

(A) William Jones
(C) Alexander Cunningham

AEl-IT (Avtsd -uH)

1. [A-uus s1dieR AaR 5
2. 6{5lu g A2

3. 9l x12[de

4. Aarg-u 21002
(B)a-3,b-2,c-4,d-1
(D)a-2,b-3,c-4,d-1

N

(B) Charles Wilkins
(D) John Marshall
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Which of the following is the correct definition of Mural Painting?

(A) Any piece of artwork painted or applied directly on canvas

(B) Any piece of artwork painted or applied directly on a wall, ceiling or other permanent surface.
(C) Any piece of artwork painted or applied directly on a cloth.

(D) Any piece of artwork painted or applied directly on human body.

Mural Painting is dimensional form of artwork.
(A) two (B) three
(C) four (D) five

With reference to the Indian History of art and culture, consider the following pairs:
Famous Work Site

1. Descent of the Ganges, known locally as Arjuna’s : Mamallapuram
Penance sculpted on the surface of huge boulders.

2. A huge image of Varaha Avatar of Vishnu, : Mount Abu
as he rescues Goddess Earth from the deep and
chaotic waters, sculpted on rock.

3. A grand image of Buddha’s Mahaparinirvana : Ajanta
with numerous celestial musicians above and
the sorrowful below.

Which of the pair/s given below is/are correctly matched?
(A) Only 1 and 2 (B) Only 3
(C)Only 1 and 3 (D)1,2and 3

Who among the following was the first Bhakti Saint to use Hindi for the propagation of his
message?

(A) Ramananda (B) Kabir
(C) Tulsidas (D) Dadu

Match List-I with the List-II and select the correct answer using the codes given below the list:

List I (Name of the Books) List II (Name of the Authors)
a. The First Indian War of Independence 1. Vinayak Damodar Savarkar
b. Anand Math 2. Bankim Chandra Chatterjee
c. Sadhana 3. Sri Aurobindo

d. Life Divine 4. Rabindranath Tagore
(A)a-1,b-2,c-4,d-3 B)a-3,b-2,c-4,d-1
(C)a-3,b-2,c-1,d-4 MD)a-2,b-3,c-4,d-1

Which one of the following Englishmen first translated Bhagavad Gita into English in 1974?
(A) William Jones (B) Charles Wilkins
(C) Alexander Cunningham (D) John Marshall

[BDV-1] rro. BB
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061.

062.

063.

064.

06S.

MIRAHE s 20 3 ©22 SR sudl wididl wan §s29 ) ¢dl ?

(A) vydluzu (B) ydlse

(C) YRd (D) tllaflelluen
ALEL-T A AE)-TT 18 AL 24 A 200a 513 WS Loy 513 ude $2.
EL-T (Autsd un) AEel-I1 (§ldd, uw)
a. UuAe 1. a2 5 Bendl
b. glriy [ 2. eofl Ayl

c. tiflu g A2w 3. Na-gu
(A)a-1,b-3,c-2 (B)a-1,b-2,c-3
(C)a-3,b-2,c-1 (D)a-2,b-3,c-1

A= 200l A 2L LAHL AL 241 WAL B, YHE SR

A1EL-T (Myvand 2a01) El-11 (M)

1. oli821L - ERICER

2. WogRIEL - sjeavis

3. [a3uld - AuadlH

4. 24 - [aeed

(A) "1 1, 2 A 4 (B) WA 2 ¢4 3
(C)Wa 1,224 3 (D) GURlsd dM

MR-l Riangd uucidu Slasia (@ DA [@eanl L al.
1. Saizu vid [Alay el 51 siraani >udl ©.

2. URIGR (Barabar) [Slalgd 5100 a2 Asod WA gL Yad: 2u[As (Ajivikas) W olrilaaii
21l gl

3. sugidll (Badami) vild-ll 5120 HIRAHE SULd (surviving) Sid dd) Alefl Wl Riangd sl .
BuAsd (Al WAL sy [Qtun / sl (Al 0 /i e ?

(A) 1A 1 241 2 (B) WA 2 ¢4 3

(C) "3 (D) 1,241 3

ollait Y21 Reuadl siaRell A 56 el quad U [Axu-lasal Hle: saiwudg o ?
(A) sl (B) 4i4R (C) MGRAAH (D) gl 3am

21 U4 56 AL wiou d Asiaedl 69 ?
(A) [asullan [Qaulasman — (B

(B) Geudlld 35124l — U1

(C) uR1adl tlig 51l — dlRa-ug
(D) 8H §3 913611 — GriRuviy
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062.

063.

064.

065.

The Dutch East India Company in India established its first factory in one of the following
locations:

(A) Masulipatnam (B) Pulicat
(C) Surat (D) Bimlipatam

Match List-I with the List-II and select the correct answer using the codes given below the list:

List I (Name of the Author) List II (Name of the Work)
a. Premchand 1. Shatranj ke Khiladi

b. Dinabandhu Mitra 2. Debi Chaudhurani

¢. Bankim Chandra Chatterjee 3. Nil-Darpan
(A)a-1,b-3,c-2 B)a-1,b-2,c-3
©C)a-3,b-2,c-1 MD)a-2,b-3,c-1

Consider the following pairs and select the correct answer.

List I (Famous Place) List IT (Region)

1. Bodhgaya - Baghelkhand

2. Khajuraho - Bundelkhand

3. Tirupati - Rayalaseema

4. Shirdi - Vidarbha

(A) Only 1, 2 and 4 (B) Only 2 and 3
(C)Only 1,2 and 3 (D) All of the above

With reference to history of Indian rock cut architecture, consider the following statements:
1. At Ellora, caves were made for different faiths

2. The Barabar rock cut caves were originally made for Ajivikas by the emperor Chandragupta
Maurya

3. The caves at Badami are the oldest surviving rock cut caves in India
Which one of the statement/s given above is/are correct?

(A) Only 1 and 2 (B) 2 and 3 only
(C)Only 3 D)1,2and 3

Where is the famous Vijaya-Vitthala temple having its 56 carved pillars emitting musical notes
located?

(A) Hampi (B) Belur
(C) Bhadrachalam (D) Srirangam

Which of the following pairs is correctly matched?
(A) Vikramshila University — Bihar

(B) Udayagiri Caves — Maharashtra

(C) Amaravati Buddhist Caves — Tamil Nadu

(D) Hem Kund Gurudwara — Uttarakhand

[BDV-1] rro. B



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


066.

067.

068.

069.

070.

QLEL-T A AEL-TT 18 AL 24 20ua SI3HIL 410U, $13+0L GuaAldL 53] AL BB, YA_E 53U,

atel-T (Al 2am) el (Ydcdlu HeTa)

a. alad 1. w34 WdR (plough field)

b. sieflerion- 2. A8IFAUSL

c. euguadl 3. 3w [Afqn 10 Hi2L se-u Rl vuadl RQicndw
d. diendlzl 4. ¢+l (plough) 2215121 Ulasld
(A)a-2,b-3,c-1,d-4 (B)a-2,b-1,c-4,d-3
(C)a-1,b-2,c-3,d-4 (D)a-2,b-1,c-3,d-4

‘Roses in December’ 51+l sl 20y ¢ ?
(A) Yot -in (B) AR wsiolR sl
(C) v aan (D) YL oA, ¢l

dorRuedl AUS AU UvULd AU A% 5 BHI2is2 gl (A9l DA WA s [l a1 2

1. suAdls el W 57U A2l WA dl gl

2. A8 2A518H] Al W 57URA dAL NAH AL Sl

3. dil ‘ARl duiegu-l GUaLdL Sl Sdl.

4. dvil ‘eels’ dviegA-il GUAULdL Sl gl

(A) {12 1 1A 4 (B) Wi 2 ¢+ 4 (C) 1A 2 41 3 (D) WL 1 241 3

Hel Ao oL [Qal Al WAL 56 ouotd [ ouotdl AL € ?

1. A2l 2o AL WA 51513 Yous-ll gdl.

2. AL YL UAH ABAULE Sell.

3. [Reude st duqi 2AouHl g

4. A2l 92rRud-l Al Heiddrl nau Hou AR sdl

(A) 1A 2 91 3 (B) WiaL 1 ¢4 3 (C) 1A 3 1A 4 (D) H1A 1 1A 4

o (Al la-u WA su Q- a8 ?

1. d Alel ay s Has i Alel 291 2 Hast 4d 8.

2. d Al qiedl eRaun [3uRl i Alell ay s Hasl ud 8.

3. GIRdL Alefl Hiel duor A u-l PBreatl oprdui 2uddl €.

4. [zl Aluam YLl wssidl Aot-d (subway) dHY UL 82 2JoAdML A3 SAUML 21l €9,
ULy [d5ey uaie s20.

(A) H1A 1 241 2 (B) WA 3 ¢4+ 4

(C) Wiat 2 ¢4 4 (D) H1AA 2 1 3

[BDV-1]
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066.

067.

068.

069.

070.

Match List-I with the List-II and select the correct answer using the codes given below the list:

List I (Ancient Site) List IT (Archaeological Importance)

a. Lothal 1. Plough field

b. Kalibangan 2. Dockyard

c. Banawali 3. An Inscription comprising 10 large sized signs of the Harappan Script
d. Dholavira 4. Terracotta replica of a plough

(A)a-2,b-3,c-1,d-4 B)a-2,b-1,c-4,d-3
(©)a-1,b-2,c-3,d-4 MD)a-2,b-1,c-3,d-4

Whose autobiography is titled “Roses in December”?
(A) Sujan Chinoy (B) Sir Jehangir Cowasjee
(C) M C Chagla (D) P N Bhagwati

What is true about Umashankar Joshi the famous Gujarati literary figure?
1. He was the first Gujarati to receive Jnanpith Award

2. He was the first Gujarati to receive Sahitya Akademi Award

3. He used pen name ‘Shravan’

4. He used pen name ‘Darshak’.

(A) Only 1 and 4 (B) Only 2 and 4

(C) Only 2 and 3 (D) Only 1 and 3

What is true about Mehdi Nawaz Jung?

1. He was the first acting Chief Minister of Gujarat

2. He was the first Governor of Gujarat

3. He was succeeded by Nityanand Kanungo

4. He was the first Chief Justice of Gujarat High Court

(A) Only 2 and 3 (B) Only 1 and 3
(C) Only 3 and 4 (D) Only 1 and 4

What is true about Gujarat from the following statements?

1. It has the highest number of airports and lowest number of railway stations in India
2. It has the longest coastline and highest number of airports in India

3. Both the largest and the smallest districts of India are located in Gujarat

4. World’s first pure vegetarian Subway and Pizza Hut opened in Gujarat

Choose the correct option.

(A) Only 1 and 2 (B) Only 3 and 4

(C) Only 2 and 4 (D) Only 2 and 3

[BDV-1] rro. B3
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071.

072.

073.

074.

07s.

076.

3L @Ay U [Qd DA UH s [Qenel ey © ?

1. d HeLe 2l AuEds (personal) Si52R Sl

2. d YRAd-Ul UAH HUUHA Sl

3. yuudll ddls Yvid. 2612 du-l AgouH] sl

4. A4l Indian Medical Association -l 241Ut 53| &dl.

U1y [d5ey uaie $2U.

(A) HaL 1 24 3 (B) {12 1 241 4 (C) WA 2 ¢ 3 (D) H1oL 1 244 2

u~end vl [Qal Nl Ul sun Qs A e ?

1. dHA 518 A]U AHaAlS ol A Sl

2. sudls Al Uik $-UR ddl oflog Ul Sl

3. dnsll Hadsat WAl s’ 214wl 2’ [Ben 3uid 2y ed.

4. A4 Booker Prize UL $2a Udld $UHL 21Ul Sdl UTd dHAl d 53] 5160 Sl
aloy [Aseu uaie 3.

(A) WiatL 1 ¢4 4 (B) HIAA 1 211 3 (C) WA 2 ¢ 3 (D) {12t 3 ¢4 4

81 s (Dhan Shak) =2l [Qal D2+ U4 s [Qen-l i ¢ ?

1. d [Alre sidlucudl wauder Hla-us anll .

2. d uiusidl 5 wseidl 3 Ma siu 6.

3. d wanc A1a-l dlsBia wx:dl il 6.

4. d 529 wadeIR [AlAy ir x4 wseu-ll arall €.

ALy [Asey urie 3.

(A) H1A 2 A 4 (B) Wizt 1 ¢4 3 (C) 1A 2 31 3 (D) WiaL 1 241 2

orR1d AU uRneAl 2au-u 518 53 8l ?
(A) HL2atUS 2L B) sl squdan
(C) AWM HEdl (D) R[RAAA €lddlu

Statue of Unity 58 udaxionzi-l a3 [Rad ¢ ?
(A) [Qenam 24 A1dysL (B) [Anan i1 iyl
(C) AAY3L 17 vRacd) (D) AYAIRL 244 viaeed]

VHELALE VLA Science City 1 cAdRaUA L [Aeuol 53 € ?

(A) HHELUE HSI2R uilAst

(B) [Asu-t 24 dsLA [Aeus, dod U2

(C) xtugtcug A3 (512 Al 430 (Ahmedabad Urban Development Authority) (AUDA)
(D) %A UeuA-L
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072.

073.

074.

07s.

076.

What is true about Dr Jivraj Mehta from the following statements?
1. He was the personal doctor to Mahatma Gandhi

2. He was the First Chief Minister of Gujarat

3. He was succeeded by U. N. Dhebar as Chief Minister

4. He established Indian Medical Association

Choose the correct option.

(A)Only 1 and 3 (B) Only 1 and 4
(C)Only 2 and 3 (D) Only 1 and 2

What is true about Pannalal Patel from the following statements?

1. He did not receive any national award

2. He was the second Gujarati to receive Jnanpith Award

3. His novels ‘Manvi ni Bhavai’ and ‘Malela Jeev’ were adapted into films
4. He was offered Booker Prize but he refused.

Choose the correct option.

(A) Only 1 and 4 (B) Only 1 and 3

(C) Only 2 and 3 (D) Only 3 and 4

What is true about ‘Dhan Shak’, a cuisine from the following statements?
1. It is a typical Kathiwadi spicy mix-vegetable cuisine

2. It is either non-veg or veg or mixed.

3. Itis a popular Parsi cuisine with spices

4. It is a spicy multi-grain and vegetable cuisine from Kutch

Choose the correct option.

(A) Only 2 and 4 (B) Only 1 and 3

(C) Only 2 and 3 (D) Only 1 and 2

Gujarat Sahitya Parishad was established by
(A) Mahadevbhai Desai (B) Kavi Dalpatram
(C) Ranjitram Mehta (D) Narsinhrao Divetia

The Statue of Unity is situated between the mountain ranges of
(A) Vindhyachal and Satpura (B) Vindhyachal and Saputara
(C) Satpura and Aravalli (D) Saputara and Aravalli

Which department manages Science City of Ahmedabad?
(A) Ahmedabad Municipality

(B) Department of Science and Technology, GoG

(C) Ahmedabad Urban Development Authority [AUDA]
(D) Gujarat Tourism

[BDV-1]
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077.

078.

079.

080.

081.

082.

083.

The Statue of Unity -t [Qleusiz sia ¢9 ?
(A) AU YdIR (B) Bina ua
©) Mo a2 (a2 (Xing Long Wing) D) ﬁ*ﬂl{l 33 (Andrea Francaise)

[vua sla sedd [Qel D21 U4 5y [ uea e ?

1. dug UH YRARASD dvdlRisw dulda .

2. d Q8L AYEAR Sell.

3. d A%BEHIR SIA%HI MR Sl

4. d 26 Qu-l @l Yy WAL gl

f2l-u WA uloy [Asey vaie s

(A)1,2,3 %1 4 (B) H1A 1 241 4
(C) WA 121 3 (D) WAL 1 244 2

s¥qRol ol (gl 5y [ uea 9l ?

(A) 518 20, 1R 5 oUHT UM dH-L UHAL v 20 ).
(B) il du- uld sl auui HizlL 8l

(C) AiL 242U il YA, Yril Wi QAL URAL Sl

(D) dil 20100 vir YA, Ad) [Bedl vitd a1 L g,

(&g -1 202l 1 naH [Baudl su1 gl Gyasll a3 wu e ?
(A) Sl 24 yaidl (B) =Rl
(C) [Beauull (D) &3l

ol Alell aionHi qioll 244 Zs1mi 24l el 56 €9 ?
(A) AGRHUA 24, 2120 (B) cwdl i1 yail
(C) HEL 21 2UD (D) dwdl 11 27

HeHE o131 il 2y [ani 3140 i vitndl edl ?
(A) iR wdan-u Hdl 3amld edl

B) AR adari uell 33108

(C) durll 61e A3 s1aH

(D) du-t [Bar-i uedl 213149 siam

ol (U2 2y (Al la-u Wl sy (At aea €9 ?
(A) d [Qaui Akl ay su41 414 8.

(B) dui [Alrs uoala siesl 2uddl 6.

(C) d 2l Aman sRus xdlu Geun O,

(D) d -l AMAH YU W3Sl Gl €9,

[BDV-1]
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078.

079.

080.

081.

082.

083.

Who is the sculptor of The Statue of Unity?
(A) Ram Sutar (B) Bimal Patel
(C) Xing Long Wing (D) Andrea Francaise

What is true about Kalapi, the famous poet from the following statements?
1. His name was Sursinhji Takhtasinhji Gohil

2. He was the Prince of Lathi

3. He studied at Rajkumar College.

4. He died at the age of 26.

Choose the correct answer from the below-given options

(A)1,2,3 and 4 (B) Only 1 and 4

(C)Only 1 and 3 (D) Only 1 and 2

What is not correct about Kasturba Gandhi?

(A) There is no place: town or village named after her
(B) She was older to her husband

(C) She died at Aga Khan Palace, Pune

(D) She died at Aga Khan Palace, New Delhi

Which festival celebration begins on the first day of Hindu month of Ashwin?
(A) Holi and Dhuleti (B) Navratri
(C) Diwali (D) Dusshera

Which is the longest and the shortest river of Gujarat?
(A) Sabarmati and Aji (B) Tapti and Purna
(C) Narmada and Aji (D) Tapti and Shetrunji

In whose memory did Mahmud Begda build Adalaj Vav?
(A) Ruxmani Devi mother of Veersinh Vaghela

(B) Rudabai, wife of Veersinh Vaghela

(C) Adala Begam, his sister

(D) Adalja Begam wife of his Diwan

What is true about Pirotan Island of Gujarat?

(A) It has the greatest number of crabs in the world
(B) It has special species of Dolphins

(C) It is the first marine national park in the country

(D) It is the first coral reef park in the country

[BDV-1]
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084. w2wlL vild AAS ca sial situd) edl ?

-

(A) lluga udal (B) HUIR1% A4 (C) el 3undl (D) el Geundl

085. DA U sha wend 921l s1g[Rze 8 ?
(A) 2125 ed B) aca siiflawdk () sidleana aul (D) 30 YAl

086. NA WS 518 U2l AAST €1 5Y 24 HHELAE VL Ueldl AAS LU W Heu »ud) ?
(A) [asu eus (B) sld3u w1 ul@ist wacus
(C) Au™S s (D) RURUS u2d

087. Alwre-l uaH 3ad aid+ 58 ¢dl ?
(A) cua-RRdl agawe (B) 2usadl ersie
(C) ¢ 23 (D) A% sl Baau

-

088. uel 3U (verse) dldl 8, 23U ‘v’ 518 Al 5y ?
(A) Mg (B) Yaurie (C) sla s1wa (D) 8AUARAH

089. y2Au-ll 12 351 Anan (Art Deco movement) - AU &, AR sui sUHE 20 8 ?
(A) HiRedl (B) AHAIR (C) MuaA2AR (D) WiRbiER

090. (A sandl, gan cua 191, $[A Sivd 2 5. uani AHIA oot 56 edl ?
(A) d axn s[a gar (B) A dHIH- usiGueL 2dis vola 8,
(C) d arum 12l [Fecnr aal 6. (D) d dHIH YR%121R Lreci-i ad-l .

091. @3 (A9l DA A s [Qan-l aer 9 ?
1. Al A5 yd d arld-l Al 8.
2. d &9} dlel a3 onellg €.
3. d gsa dlel, sollas A acgeud -l sddl e wwad 6.
4. d was Axd dils nallg ed.
Uy [Aseu urie s
(A) WAL 1 244 2 (B) WL 1 9 4 (C) 1A 2 41 3 (D) WL 1 241 3

092. AEL-T A AEL-TT A2 AL 241 20UE SIsHI 10U, 5131 GUULRL 53] 1AL UL YA_E 52,

ALEl-T (MR- =l eul) ael-11 (Bemag Awu)

1. MR U2AH a. iR

2. 545 b. i¥ vz

3. 5dlydl c. Gk e

4. 2080 d. dl®a-ug
(A)1-d,2-¢,3-b,4-2a (B)1-¢,2-b,3-a,4-d
(C)1-b,2-2,3-d,4-c (D)1-a,2-d,3-¢,4-b
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08s5.

086.

087.

088.

089.

090.

091.

092,

‘Who built the Rani Ki Vav at Patan?
(A) Bhimdev I (B) Mulraj Solanki
(C) Rani Rupmati (D) Rani Udaymati

Who is the famous Gujarati cartoonist among the following?
(A) Ashok Dave (B) Ratilal Borisagar
(C) Bansilal Verma (D) Rusi Surti

Who donated the collection of kites and inspired Kite Museum at Ahmedabad?
(A) Vikram Sarabhai (B) Kartikey & Mallika Sarabhai
(C) Bhanubhai Shah (D) Ramanbhai Patel

Which was the first Railway line of Saurashtra?
(A) Bhavnagar to Wadhwan (B) Gondal to Rajkot
(C) Bhavnagar to Gondal (D) Rajkot to Jetalsar

Who popularized ‘Akhyan’ a form of storytelling through verse?
(A) Narmad (B) Premanand
(C) Kavi Kant (D) Dalpatram

Where was a palace made following Art Deco movement of Europe?
(A) Morbi (B) Jamnagar
(C) Bhavnagar (D) Porbandar

What is common among Kavi Kalapi, Dula Bhaya Kaag, Kavi Kant, K. Lal?
(A) All are poets (B) All have received Padma Bhushan
(C) All belong to Amreli District (D) All belong to Surendranagar District

What is true about Bharuch from the following statements?

1. It was the capital of Gujarat before Solanki period

2. It was known as Brigu Tirth

3. It is famous for Shuklatirth, Kabir Vad and Lallubhai Haveli
4. It was known as Palak rajya.

(A) Only 1 and 2 (B) Only 1 and 4

(C) Only 2 and 3 (D) Only 1 and 3

Match List-I with the List-II and select the correct answer using the codes given below the list:
List I (Classical dances in India) List II (State of Origin)

1. Bharatnatyam a. Odisha

2. Kathak b. Andhra Pradesh

3. Kuchipudi c. Uttar Pradesh

4. Odissi d. Tamil Nadu

(A)1-d,2-¢,3-b,4-a B)l-¢,2-b,3-a,4-d
(C)1-b,2-a,3-d,4-c¢ MD)1-a,2-d,3-¢c,4-b

[BDV-1] rro. EB
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093.

094.

09s.

A 2uddl A2 WA 56 Aflzil udl © ?

LHBy2 — o, dl, aial, wll siasl, w6, wdlk (Buiya, Chalo, Wancho, Pasi Kongki,
Ponung, Popir)

2. 300 —  [Big, [Braegan, ey, HeiRd, sidloliwa, 633011, L 31w, W UL (Bihu, Bichhua
Natpuja, Maharas, Kaligopal, Bagurumba, Naga dance, Khel Gopal)

.HMEd —  OlR Hﬂi&l, ‘{Ml, ABA A, ‘{i$Cll'[l, QSH«“, swlas (Gaur Maria, Panthi, Raut Nacha,
Pandwani, Vedamati, Kapalik)

4.90%RAd = 2AW0YY, sidla AA, alwell D\jﬁlbﬁ, ST (Garba, Dandiya Raas, Tippani Jurian, Bhavai)

5. [RtiRu — esu, sH Y31, u10H, JuR, Andl JHR, el JHR, Ust, 51920 (Alkap, Karma
Munda, Agni, Jhumar, Janavi Jhumar, Mardana Jhumar, Paika, Phagua)

(A) 1A 1 241 2 (B) WA 2 241 3
(C) 11 2 1A 4 (D) H1A 2 ¥ 5

D2 2uuen [l Luqui Al
1. RAlA e e AniEl Gemay . urAflu geull Yo of [Aeua-izil 6. 4 214 disa.
2. dise s @Rl AAA AHDS HOUAL Bl § @0 A9l Gorall i studen 8.

3. Al gl a1 v adld dlian geasil 3 FHd aen aul Yol a3 8 duql giRL
2[Rl seUML 20 8. FURAHE 216 Us1R-L WAL el €9,

4. HIRAHE 30 9l ay disdl 9 s2ans uAldd dlsgcdl - gHR, 52 N i, sasifau, arew, eifla
AU QIR .

A 2 [Qseunidl il s ude s
(A) BuHL dx [Qtusl acy .

(B) Gu~tt dxm [Aan-l acu 69,

(C) = [Qtustl 2 244 3 =0 89,

(D) H1= [Qtusdl 1 244 3 00 69,

A udal (Palaces) i d ol [Rud €9 d 0] A2l 2uudl 9.
1. &5 UdA — GeuyR

2. GHle Mad udu — ANYR

3. AUOUOL UAA — FAYR

4. Hitld YA — BEALUE

5. 5As7HLUAU — slasTl

Gua-l Ad2iuidl 58 A2l ) ) ?

(A) 1A 1 214 2 (B) WA 2 ¢4 3
(C) {1 3 1A 4 (D) H1A 4 HA 5

[BDV-1] [Contd.
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From the following pairs, which are correct pairs?

1. Manipur  — Buiya, Chalo, Wancho, Pasi Kongki, Ponung, Popir

2. Assam — Bihu, Bichhua, Natpuja, Maharas, Kaligopal, Bagurumba, Naga dance, Khel
Gopal.

3. Meghalaya — Gaur Maria, Panthi, Raut Nacha, Pandwani, Vedamati, Kapalik

4. Gujarat — Garba, Dandiya Raas, Tippani Jurian, Bhavai

5. Mizoram - Alkap, Karma Munda, Agni, Jhumar, Janavi Jhumar, Mardana Jhumar, Paika,
Phagua

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 2 and 4 (D) Only 2 and 5

Consider the following statements:

1. The classical dance originates from Natya Shastra. The 2 basic aspects of classical dance are

Lasya and Tandava.

2. Folk dance is associated with celebrating agricultural harvest or social gatherings like weddings,

etc.

3. Classical dances are performed by professional or highly trained dancers who have studied

their form for many years. There are eight classical dances in India.

4. There are more than 30 folk dances in India. Some of the most popular folk dances are Ghoomer,
Kacchi Gori Chari, Kalbelia, Garba, Dandiya Raas etc.

Choose the correct answer from the below-given options
(A) All the above statements are not true

(B) All the above statements are true

(C) Only statements 2 and 3 are true

(D) Only statements 1 and 3 are true

Pairs showing Palaces and the Places are mentioned below.

1. Lake Palace — Udaipur

2. Umaid Bhawan Palace — Jodhpur

3. Rambagh Palace — Jaipur

4. Marble Palace — Hyderabad

5. Falaknuma Palace — Kolkata

Which pairs are not correct?

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 3 and 4 (D) Only 4 and 5

[BDV-1] rro. E
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096.

097.

098.

099.

100.

101.

A2 A0 [Alas gl dyu-u (@il [@Qodl e 2udan 9. 20 W4 Aolld- sa1L w244, d-u (gl
([Qordl =l 69 ?

1. el — d 52941 @idll (langa) YT WRAURS A 8. d 413 Ul ua-L AHA (double reed wind
instrument) 8. 24 7 9l 9 (54l €l & d &5 2 U UBA Y 5 B BUR Grelle ANAE cwer adudl
ER)

2. 4R — @3k A 52697 vior Wl dls Aol 1187 6. d el 2% (dust) 5 3L B Slu & 5 3 [l
53¢ 81U 8. Yairil 5 P uPia ARAAl auid AdU3dL S1d 8 Azl d B 8.

3. Adla wial — oAdla wian 6 aiuoll-l A 2iaql [Gaiuullai 2aql 248 o se 214 deud -l 2ua2 20 €
22 Sl 6 aiuollail © 5 % Hd Ad vid aiuoflai yeni gelld aousami 2ud 9.

4. HIRL — WAL H1al AL Alvis a1 Rinng o w0 uid s R Guse 8. 20 agdt w-d
A ugH ARl AU HRA AYEL gL ATGIL AHUL HIS APUIAUHT 2d 69,

(A) H1A 1 241 2 (B) WA 2 ¢4 3
(C) 1A 3 1A 4 D) 1,2,3 21 4

A Qs 2200 247 d oui 2uda 8 d - A uia 8. 5§ AL diou Ad Al 4l ?

1. uolHiaL — 50 2. [a3uld — alma-ug
3. ARRR] — Gr Yel 4. s[Rg1R — Brrwis
(A) 4 (B) 3 ©)2 D)1

A2 taoreil doeusS-Gland (usions) deliar Sedl sidl ASA ?
(A)3:5 B)2:3 (©)3:2 D)3:4

MR AU Udlsl D12 i[Ed Aoel UAHA gud’ AHidl Gl sneun e ?
(A) B2dE (B) AU CUERL
(C) 435 Gulue (D) AU

A Ul £y e 2Us& 14 (solo dance) & ?
(A) 2124 Y4 (ottam thullal) (B) dlydl
(C) uau-L (D) 28Rl

i) [Aguai2il 29 d % 2l URA & d Arg-w uL 12 peuda 8. [Rdend [Asdum 52U

1. (1) dugld AR, (2) sl W (3) sellde Aeu (4) [AdmlasR A2 (5) Aucla [QgdwEsi (@02
(Grzqell uRa ©.

2. (1) A2uld GuHl H8RURIU (2) Auld 24 Guarguld-l sl (3) BRAAH 24 G ~qEaHL
pudla du-l Sigl udl €2 s (4) YO 851 (5) RS Y[R (6) ~uuda-l adady
(7) MuRA A[Ad, 2ue (A2 AHR s1ell WRA 8.

(A) 1 244 2 61 0 . (B) 1 211 2 61~ 2uAL 89,
(C) A 1AL 89, (D) {1 2 AL 89,
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096.

097.

098.

099.

100.

101.

Different musical instruments are mentioned below with description.
Which instrument and its description are correct?

1. Sundari — This is a family instrument of Langa community in Kachchh. It is a double reed wind
instrument and has 7 to 9 holes. It is a short and tiny instrument on which the maestro can play
with ease.

2. Bhorrindo — Bhorrindo is a very antique folk music instrument of Kachchh. It is a simple
vacant dust all or like anegg twisted with holes. It is popular among the young who play on it
while grazing cattle.

3. Jodiya Pava — Jodiya Pava is a pair of two flutes or double flutes or double flutes of the same
size and length remains about 20 to 22 inches generally played together keeping both the flute
in the mouth.

4. Morchang — Morchang or Chang is a simple but sophisticated sounding device made of Iron or
Brass. This Instrument is mainly played by Shepherd Community for a long time while grazing
the cattle

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 3 and 4 (D) 1,2,3and 4

Pairs showing religious place and the State are mentioned below. Which pair is not correct?

1. Sabarimala — Kerala 2. Tirupati — Tamil Nadu
3. Varanasi — Uttar Pradesh 4. Haridwar — Uttarakhand
(A4 (B)3 ©2 D)1

The ratio of the length to the height (width) of the National Flag shall be in the ratio of
(A)3:5 B)2:3 ©)3:2 MD)3:4

The words ‘Satyameva Jayate’ inscribed below the base plate of the emblem of India are taken
from

(A) Rigveda (B) Satpath Brahmana
(C) Mundak Upanishad (D) Ramayana

Which of the following dances is a solo dance?
(A) Ottam Thullal (B) Kuchipudi
(C) Yakshagana (D) Odissi

Inspired features of constitution and the names of the nation are mentioned below. Analyze the

statement.

1. (1) Parliamentary government, (2) Rule of Law, (3) Cabinet system, (4) Prerogative writs
(5) Parliamentary privileges etc. were inspired from Britain.

2. (1) Impeachment of the President, (2) Functions of President and Vice-President, (3) Removal
of Supreme Court and High Court judges, (4) Fundamental Rights, (5) Judicial review,
(6) Independence of judiciary, (7) The Preamble of the Constitution etc., were inspired
from United States of America.

(A) Both 1 and 2 are not correct (B) Both 1 and 2 are correct

(C) Only 1 is correct (D) Only 2 is correct
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102, GURATL GiHIRRAL ‘YA WbUAL [Rigid Al uay turdsll G2adu —uaay gt aA-umidl sa suui
U AHL UL Sl ?

(A) dlasu 53 (B) 6130l 5
() 3al-ie tudl 3 (D) S+ Als+N 34

103.  dlsAncunidl Aue-l e (ol uFElani sean neul G2 ¢ ?
A1 (B) 12
(C) 13 D) 15

104. vad-l 426l d- [Quf -l alvell sean wg-udl yeaniau ® ?
(A) =2 1~ (B) &9 uld-1
(C) 7 ule- (D) tuR -t

105. ¥, 202240 HIRA U512 gIRL DA-unidl 58 245 A YAolst SR 20 8 ?
(A) a2 A%u uRug (B) A [A51 ulRue
(©) A 2uaiadl Rauns ulkne (D) ud i ulRug

106. 5.2, yararl 3uui Rrddl Wy walza xeiada Reia Yoo, diudladidl 2U85R ®Hikd-L
Al NaAumisdl sur x14269e- 2is cua e ?
(A) 19 (B) 20 (©) 21 (D) 22

-\

107. 4240 oitiRellu YR, 1976 Sl GuRd-U AlQH-iL 2uyuinl lA-unidl sul 2oe Agidl ?
(A) AHLAL (B) viYdl
(C) el (D) 2vil3adt

108. ~DA-uHiddl s ATUHE YA1UAA AUl $1°424, A2l ?
(A) Griwis (B) Hanay
(C) ddau (D) i

109. cudlu sigRaidl DAl 56 RS viHi AsUu Elaudl stuel ARuanHi 2ucal 9 ?
(A) 4O 851 (B) euHl 2144
(©) esa-lla-u Hieteels Rigial (D) Al 44

110, Aol Yuasdl s W2 33 YridH au Quasid ©
(A)21 (B) 25 adl
(C) 30 M (D) 35 aM

111, GURALY {HIRRL AL AU 24 UAH UHM A5 5191 21 el ?
(A) SL. AB+% UALE (B) USRI 83
(©) 3l. ulRagIHe Rigt (D) aca™maus ude

E [BDV-1] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

The ‘Basic Structure’ doctrine of Constitution of India was first given by the Supreme Court of
India in which one of the following cases?

(A) Golaknath Case (B) Berubari Case
(C) Kesavananda Bharati Case (D) Indra Sawhney Case

How many members are elected from Lok Sabha to Public Accounts Committee of Parliament?
A) 11 (B) 12
©)13 D) 15

Election to Panchayat is made within how many months from the date of its dissolution?
(A) Three Months (B) Six Months
(C) Nine Months (D) Twelve Months

Which one of the following institutions has been reconstituted by Government of India in
May 2022?

(A) Inter-State Council (B) National Development Council
(C) Governing Council of NITI Aayog (D) Eastern Zonal Council

As per the decision of Hon. Supreme Court of India in K S Puttaswamy Case, Right to Privacy is
a part of which one of the following Articles of Constitution of India?

(A) 19 (B) 20 (©) 21 (D) 22

Which one of the following words was not there in Preamble of Indian Constitution prior to 42nd
Constitution Amendment, 1976?

(A) Equality (B) Fraternity
(C) Liberty (D) Integrity

Panchayat system does not function in which one of the following States?
(A) Uttarakhand (B) Meghalaya
(C) Telangana (D) Goa

Uniform Civil Code is stated in which of the following provisions of the Indian Constitution?
(A) Fundamental Rights (B) 10th Schedule
(C) Directive Principles of State Policy (D) 7th Schedule

The minimum age qualification required to be a Chief Minister of a State is:
(A) 21 years (B) 25 years
(C) 30 years (D) 35 years

Who was elected as the interim President of the Constituent Assembly of India?
(A) Dr. Rajendra Prasad (B) Jawaharlal Nehru
(C) Dr. Sachidananda Sinha (D) Vallabhbhai Patel

[BDV-1] [PT.0.
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112.

113.

114.

115.

116.

117.

118.

119.

RURdArL sUL viaRella YRl ARMAUN s Yneyd s394 GHaHT 20l ¢dl ?
(A) 423 oirielly YRl x18RuH (B) 4341 vitnellu Yt vERam
(C) 444 vitnellu YRy wAEMAUH (D) 454 vitellu yaRL 2AEMAuH

YN 85iHil RasdHl 85 su1 asul AUoLE ST vl Sl ?
(A) 1975 (B) 1976
(C) 1977 (D) 1978

A Q- [Qnenmi dl :

1. AHIAAL A429€ 1411 uxulae .

2. 214249 14 1 15 L 4, oAl A9l 2012 Hesna M uldoiy uxifde 6.
3. uy v sde’ Ul oigHdl dlsi-ll aoell 24269¢ 49 i A saul 2ud) 8dl.
GuRHidl sy [Aan-/sun (Al A0d/00 6 ?

(A) WA 1 (B) H13A 2

(C) 1A 1 211 2 (D) 1,241 3

GIRAL G1HIRRLAL sUL ARIHE AsA-A HRle s [Rugidl sataami 2uda o ?

(A) MIRdrL GLEIRRLAL MI0L 3HL (B) ®IRdAL GLHIRRLAL HIOL 4HL
(C) HIRAL IR ML 5HL (D) HIRAAL GIHIRRLAL MI9L 6HL
APAAMLAL UKL .......... GIRL 211 69,

(A) disi

(B) ALSAML

(C) [Qtunaeu- G2rar weal
(D) [t uRue-u Azriar el

cuRdly iR suL 2129 Sot el Yl 22 20 Adras scaumi udl ¢ ?
(A) x14269¢€ 323 (B) ¥L3%9¢ 324
(C) A4 29¢ 325 (D) A4 %9¢ 326

RURArL GIHIREAL 521 AH2A9E NS Al AU ACU SIEL Buel 62 s 244 Aumiell Higs Avia
2A6i[8a ¢ ?

(A) x14269¢ 315 (B) 21329 316

(C) x4 %9¢ 317 (D) 24 %9¢ 318

2114 ol 12 2iadn Al 2uaio-l s s A sl 2ud) edl ?

(A) 2003 (B) 2004
(C) 2005 (D) 2006
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112. Under which Constitutional Amendment Act of India were the Fundamental Duties added?
(A) 42 Constitutional Amendment Act (B) 434 Constitutional Amendment Act
(C) 44 Constitutional Amendment Act (D) 45 Constitutional Amendment Act

113. In which year was the Right to Property abolished from the Fundamental Rights?
(A) 1975 (B) 1976
(©) 1977 D) 1978

114. Consider the following statements:
1. Samanta (equality) is incorporated in Article 14

2. Prohibition against discrimination on the grounds of religion, castes, etc., is incorporated in
Article 14 and 15.

3. Sentiment of majority of the people towards ‘cow and slaughter’ was incorporated in Article 49.
Which of the above statement/s is/are correct?

(A) Only 1 (B) Only 2

(C) Only 1 and 2 D)1,2and3

115. In which Part of the Constitution of India, the Directive Principles of State Policy are enumerated?
(A) Part III of the Constitution of India (B) Part IV of the Constitution of India
(C) Part V of the Constitution of India (D) Part VI of the Constitution of India

116. The members of the Rajya Sabha are elected by
(A) the people
(B) Lok Sabha
(C) elected members of the legislative assembly

(D) elected members of the legislative council

117. Under which Article of the Indian Constitution, a provision has been made with regard to the
composition of Election Commission?

(A) Article 323 (B) Article 324
(C) Article 325 (D) Article 326

118. Which Article of the Constitution of India relates to removal and suspension of a member of a
Public Service Commission?

(A) Article 315 (B) Article 316
(C) Article 317 (D) Article 318

119. In which year separate National Commission for Scheduled Tribes (NCST) was established?
(A) 2003 (B) 2004
(C) 2005 (D) 2006

[BDV-1] rro. EJ
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120.

121.

122,

123.

124.

125.

Y12l s1A8ARE Ysumi 2uddl s1aicns suoidl 2isl il san [Qan-l i o ?

1. w8an 244 eum [Asiu 2. SIUEL A AL
3. Al s a-lse 2 5[ anlden 4. Qarg well

AULAL FAUC YRAE 53U,

(A) WA 1 244 2 (B) H1AA 2 241 3
(C)WA 1,224 3 (D) WAt 1, 3 ¢4 4

DA-uuiell 54 Al 2ulds A, 1991 60 A3 s U] 4 8 ?
(A) wRdl-l (B) vurofllseL
(C) Geldls (D) Alusw

auRdrl [Aruasdl WlRd sul ad g 29124 ANl UYL a5 A2iai sa ?
(A) 1952 (B) 1953
(C) 1954 (D) 1955

A AidRAEIA A814d ouetd DA WS s [Qandl i ) ?

1. ~udlail g 15 v 8.

2. Heu gl sy @y’ ddls sl 8.

3. =l 6 au-l Yed 1 AHaHi 2ud 9.

4. vEldd] ueuued [Aaa 2=Rnidl 3 aeid wlalEadl uanell 200 6.
(A) A 1 (B) WiaL 1 444, 2

(C) 1A 2 41 3 (D) WA 1 241 4

Sustainable Cities India Programme il AHcl 5281 12 58 A AAA %SF%aaq@ ER R
(NIUA) 18 A4, 2104, U SlaR sul 6 ?

(A) [@#1 6i-s (World Bank)

(B) Q{g&-l Adg [ast sidsn (UNDP - United Nations Development Programme)
(C) Brr vizanl24 2[4 @ (NATO - North Atlantic Treaty Organization)

(D) [@21 2[5 H2 (WEF - The World Economic Forum)

A HELAAL WRUUL YO, HLS HELAA SSULAL UL &9 —

1. 516 s 81 -l

2. ul3a91d Yarudl 21 [QAengi-l 233l yruasl

3. d uasRLHR olarsdl © i d [Rfda sidd gsuuy ©.

4. d 2l sa Ulu 8,

2 2 sigHl Gualar 531 A1l was ude s2U.

(A) {12 1 1A 4 (B) WA 2 ¢4 4
(C)HA 1,243 (D)1,2,3 %1 4
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120.

121.

122,

123.

124.

125.

Which of the following statements are true regarding functional items placed within the purview
of panchayats?

1. Women and child development

2. Law and Order

3. Social forestry and farm forestry

4. Drinking water

Choose the correct answer:

(A) Only 1 and 2 (B) Only 2 and 3
(C)Only 1,2 and 3 (D) Only 1, 3 and 4

Which one of the following was not initiated under the New Economic Policy, 1991?
(A) Licensing (B) Privatization
(C) Liberalization (D) Globalization

In which year Vijay Lakshmi Pandit of India was elected as the President of the UN General
Assembly?

(A) 1952 (B) 1953
(C) 1954 (D) 1955

Which of the following statements are incorrect about International Court of Justice ?

1. There are total 15 number of Judges.

2. The chief of Judges is known as Prime Judge.

3. The Judges are appointed for a period of six years.

4. The distribution of Membership of the court allows the representation of 3 members from Asia
(A) Only 1 (B) Only 1 and 2

(C) Only 2 and 3 (D) Only 1 and 4

Which organization has signed an MoU with the National Institute of Urban Affairs (NIUA) to
implement the Sustainable Cities India Programme?

(A) World Bank

(B) UNDP - United Nations Development Programme
(C) NATO - North Atlantic Treaty Organization

(D) WEF - The World Economic Forum

According to the Supreme Court, the benefits under Lok Adalat are
1. There is no court fee
2. The procedural flexibility and speedy trial of the disputes.

3. It is binding on the parties and it has the status of a decree of a civil court

4. It is appealable

Select the correct answer using the codes given below:

(A) Only 1 and 4 (B) Only 2 and 4
(C)Only 1,2 and 3 M) 1,2,3 and 4

[BDV-1] rro. 8



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


126.

127.

128.

129.

130.

MHIRA AR gl ‘U8l 24 cunsi-i s adla wwerq Asa WS O AFU md

sl 2udl ¢ ?
(A) Gorac (B) [Reiw
(C) 618 oAl 613 vl Uil (D) A+ 21U A2 4\

A st AU FURANE A2 g0l (AN ABAAHAL (AFSPA) x1ua $3L 80 69 ?

1. 200H 2. PUA~S

3. ulay2 4. 3RA4 UL
A 2 s3Il Gualol 530 AL FAsL VAL SR,

(A) WA 1,224 3 (B) 1,2, 3 ¢ 4
(C) A 131 3 (D) 1A 2 41 3

AAni) i1 3T ol U, LGSR IR BEU 2 UMY A5 ARl Sl ?

1. AYHE 19 2. wg29¢ 23
3. AUJAIE 29 4. PAIE 32
AL S8+ Gualal $30 1AL et YRAE SR,

(A) WAL 1 244 2 (B) H1AA 2 244 3
(C) 1A 3 1A 4 (D) 11 4

Awsudla 52158 eRu NaA-unioll 53 2udig ad s ?

1. 3l ig1runt 29 seuHi 2uagl 4,

2. siSuRL Q- sHARN2AL URUR A G2l 8213t S A3 .

3. 818l eandl ysashl 2124 ol

4. A1 sHAE A wouR-l ysanll Higs Avicumi 2nasl.

AL 130 Guatiol 531 A1 et URiE 3.

(A) WAL 2 244 3 (B) WAt 2

(C) "1~ 3 (D)1,2,3 %1 4

audly iR AwElsiHl Yaeyd s0A DA-umiddl 56 ¢ ?

1. cuRd-dl 200ilRddl, Ad@HA 2144 sl @ 53,

2. o Rllg 28R 523G 2 A S a1 WS Huug.

3. AsulAs u-laa 2 dawial cuant [dsaadl,

4. o1l e Masad e 524,

AL 5131 GualaL 530 WAL WUt URAE $2U.

(A) 1A 1 241 2 (B) WA 2

(C) " 1, 3 A 4 (D) 1A 1, 2 1A 4
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126.

127.

128.

129.

130.

Which scheme is introduced by Government of India for the prevention of ‘women and children
commercial sexual exploitation’?

(A) Ujjawala (B) Nirbhaya
(C) Beti Bachao Beti Padhao Scheme (D) One-Stop Centre Scheme

Which of the following States are implementing Armed Forces Special Powers Act (AFSPA) in
India?

1. Assam 2. Nagaland

3. Manipur 4. Arunachal Pradesh
Select the correct answer using the code given below

(A)Only 1,2 and 3 (B)1,2,3 and 4
(C)Only 1 and 3 (D) Only 2 and 3

Which one of the following was described by Dr. B.R. Ambedkar as the ‘Heart and Soul of the
Constitution’?

1. Article 19 2. Article 23

3. Article 29 4. Article 32
Select the correct answer using the code given below

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 3 and 4 (D) Only 4

In the following which can be planned during the financial emergency?
1. Union budget will not be presented

2. Salaries and allowances of any class of employees may be reduced

3. Repayment of government debts will stop

4. Payment of salaries to public servants will be postponed

Select the correct answer using the code given below

(A) Only 2 and 3 (B) Only 2

(C) Only 3 D) 1,2,3 and 4

Which of the following is/are among the Fundamental Duties of citizens laid down in the Indian
Constitution?

1. To protect the integrity, sovereignty and unity of India

2. To protect the weaker sections and promote social injustice

3. To develop the scientific temper and spirit of inquiry

4. To safeguard all public property

Select the correct answer using the codes given below:

(A) Only 1 and 2 (B) Only 2
(C)Only 1,3 and 4 (D) Only 1,2 and 4

[BDV-1] rro. 53
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131.

132.

133.

134.

135.

136.

QUM Gerdlsaug uReuH g g ?

1. 6iRloousl 2. =il WL Gl bity
3. AsifEsR-l G- 4. {1 29d

A2 S8 Guaidl 53] 1AL FUet YRAE S3U.

(A) 1A 2, 3 A 4 (B) WA 2 ¢4 3

(C) W~ 4 (D) 1A 2

QAniel el Aledl W Aalafa 590 ?
(A) @ig1 ulald (B) 28R [Baue ulala
(C) 82 Busy ulala (D) 2129311 u+ll u@ld

D2-umiell 56 Auelu weudll yia 4l ?

1. Wb UAAA 2. [R2 812
3. uldcnaslla s 4. AS %A
A 2 s3Il Gualol 530 AL FAsL YAE SR,

(A) WAL 1 211 4 (B) H1AA 2 244 3
(C) 1A 3 1A 4 (D) {1 1 241 2

QU 6{HIRRL 2 AL NAH Hs HYS Eed 6. 2ud 519 58] ?
(A) HURA 2~ (B) ui& siyaofl
(C) AAsA-3Idl50 (D) wl[<d [z

Al G AUl 2B 51285 A AT A A1 69 ¢

1. 2dlella 858

2. guRw AvAL HASIREAA

3. sRiouL) 258

4. dlo-ll ANe14dl u [

A2 2 si3-l Gualol 531 1AL FAL YUE S3U.

(A) WL 1,2 ¢4 3 (B) {1 1,3 21 4
(C) 1A 2, 3 ¥ 4 (D) {1 1 1A 4

AU A-75 (SMILE-75) Usd $i-il g1l A3 s 2ud) ¢dl ?
(A) MUy s 2y 21 2@ 5 dL WAy

(B) A8 Huqu

(C) UM A1 AU HAAY

(D) 2UR12U A YRR sl Hnay

[BDV-1]

[Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


131.

132.

133.

134.

135.

136.

Which was not the result of Liberalisation in India?

1. Unemployment

2. Shutdown of small-scale industries

3. Arousal of Monopoly

4. Scarcity of Labour

Select the correct answer using the code given below

(A) Only 2, 3 and 4 (B) Only 2 and 3
(C) Only 4 (D) Only 2

From the following, which is the largest Committee of the Parliament?
(A) Estimates Committee (B) Public Accounts Committee
(C) Public Undertakings Committee (D) Committee on Petitions

In the following which was not the quality of Parliamentary System?
1. Strong Judiciary
2. Stable Government

3. Responsive Government

4. Wide Representation

Select the correct answer using the codes given below:

(A)Only 1 and 4 (B) Only 2 and 3
(C) Only 3 and 4 (D) Only 1 and 2

“The Indian Constitution is first and foremost a social document.” Who said this?
(A) Morris Jones (B) Paul Appleby
(C) Alexandrowicz (D) Granville Austin

The jurisdiction and powers of Hon. High Court include

1. Appellate jurisdiction

2. Supervisory jurisdiction

3. Executive jurisdiction

4. Control over subordinate courts.

Select the correct answer using the codes given below:

(A)Only 1,2 and 3 (B)Only 1, 3 and 4
(C) Only 2, 3 and 4 (D) Only 1 and 4

The “SMILE-75 Initiative” was started by

(A) Ministry of Social Justice and Empowerment
(B) Ministry of Home Affairs

(C) Ministry of Labour and Employment

(D) Ministry of Health and Family Welfare

[BDV-1]
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137.

138.

139.

140.

141.

142.

143.

asiustl Quler seuRL AR A[@UL AL AuARU S2dl 8 ?
(A) 100 [2an B) 125 [2axn
(C) 175 [Ban (D) 200 [2ax

20204 51 [Bi-20AU1 (non-ASEAN) sciasdl el wellls cus 2ulds cudleldl (Regional
Comprehensive Economic Partnership) (RCEP) UR 8cl&R 5l W2 A sl ?

1. ie(au, A 2. oAU, YA

3. Blaws-=, Rouui 4. A a-3, [Ade-un

A 2dan S13HL Gualol 530 1AL FAsL YAE $3U.

(A) WA 1244 2 (B) {1 2 211 3

(C) Wat 1 ¢4 4 (D) WaL 1 244 3

i (A5 4A515 2022 : ¢HIRA 191 22 24 vgiHid] .......... suis qAd O,
(A) 131 (B) 132

(C) 133 (D) 130

suL 61 02 [gualla sanad BeaulSaui cua ad @eu e ?

1. Hdn 2. MId 3. Al 4. Ruui
A 2uden Si3HL Gualol 530 AL FAsL Y_E $3U.

(A) W3 2 244 3 (B) 1A 3 211 4

(C) HaL 1 244 2 (D) 1A 1 1A 4

-l oolau Qs RanHl [@eua €

(A) 2umsttil aalell [@as

(B) arttrt gl -

(C) AgyAd gl 423 GellorigRsdid Ui g
(D) A3uRA gl [Qendlzini Risad dieus suug

sUas-19 Av0n gL [endflinl aotda Rilgu vasan g2 sa1 W sul A% “VidAy A4Q324
WM’ (Ennum Ezhuthum Programme) 23 534 ¢ ?

(A) sRU2% (B) 31cl
(€) dlRa-ug (D) HEAUB A

sUL AR gl 205242 (1202) 2Asig Wl 52 6 ?
(A) SRRAUA, IR, Y23 2u01 221, YA,
(B) 4. 2., Y.5., AW, SHRAUA

(C) Y21, MR, Y.5., 5131

(D) Y. 2., MIRd, 3131, A6A 2ul351 (SA)
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137.

138.

139.

140.

141.

142.

143.

What is the duration of the Prime Minister’s “Garib Kalyan Rojgar Abhiyaan”?
(A) 100 days (B) 125 days
(C) 175 days (D) 200 days

In 2020, which non-ASEAN signatory nations joined in signing the Regional Comprehensive
Economic Partnership (RCEP)?

1. Australia, China 2. Japan, New Zealand 3. Philippines, Singapore 4. Thailand, Vietnam

Select the correct answer using the codes given below:

(A) Only 1 and 2 (B) Only 2 and 3

(C) Only 1 and 4 (D) Only 1 and 3

Human Development Index 2022: India ranks out of 191 countries and territories
(A) 131 (B) 132

() 133 (D) 130

Which two nations are participating in the bilateral exercise Udarshakti?
1. Malaysia 2. India

3. China 4. Singapore

Select the correct answer using the codes given below:

(A) Only 2 and 3 (B) Only 3 and 4

(C) Only 1 and 2 (D) Only 1 and 4

The feature of Pradhan Mantri Janjatiya Vikas Mission is
(A) Comprehensive development of villages

(B) Formation of Van Dhan groups

(C) Promoting entrepreneurship among the STs.

(D) Promoting education among ST students

Which state has introduced the “Ennum Ezhuthum programme” to address the achievement gap

created among students by the COVID-19 pandemic?
(A) Karnataka (B) Kerala
(C) Tamil Nadu (D) Madhya Pradesh

Which four countries represent the 12U2 alliance?
(A) Israel, India, UAE, US (B) US, UK, Japan, Israel
(C) US, India, UK, Canada (D) US, India, Canada, SA

[BDV-1] [PT.0.
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144.

145.

146.

147.

148.

149.

150.

151.

152.

Al [Qa-u Al Wizl @dd i yedl Uz .......... L ANAVAH] 2UAA 6.
(A) B x4 R 511 eRu 58 (B) 2ui--iL el 5i8
(C) »i[du-n eRa si8 (D) elaa 2108 [Rs1-u e R 5i8

ReteL uH AU [ gL Al Rl Yordui Geane sda ol P17A Qi e [(Boled un g o ?
(A) 2u8. 24,4 quaie (B) 2uS .. 244, G2l
(C) 20 .23, S1Hd (D) 2uS. 2.3, g

AR QUAVSA §-4 VR$1527 A UH Y O ?

(A) YU (Inspire) (B) dtdl (Freedom)
(C) 2usia (Aspiration) (D) (@2 (Triumph)
Raul 2uleonld susidi-u Wouaasdl -t .......... i scuui 2udl edl.
(A) 1995 (B) 1998

(©) 1999 (D) 2000

The State of Inequality Report 54 AL 1AL AUIR sAHL 20d 8 ?
(A) Q48U SAL W2 AU

(B) 2uls gl Qe

(C) Sl it S[Rezye s Iqauure Rud

(D) Nl 2uuia

“R-aa 2.0 Wi suL 200 qae 9 ?
(A) & 121 (B) silas-19
(C) 3R (D) x[AfRa

AL AR5 HIELA 12 A0, 2022+ A% [ 33 ulRed Geaue- sui 20 59 ¢ ?
(A) U3t (B) Yy
(C) Ai-lua (D) HHELNE

. 1
P 21 Q 35 cuaiuHl Mller 8. P & A5 n g2dl (8231 15 |81 W2 A5 € 214 Q & 51l

W[~

-

QUL U 53 69, dll Q 1 B2el uHY W2 As1RL s eal?
(A) 10 18~ (B) 12 -1
(C) 16 H[&-u (D) 20 H[&-u

=\

s QUL 15 915AAL 24 10 91530241 69, o =t [Qenellal w269 fd uae sand 204 dl, 1 9153 244
2 9151 URde A d-l Acua-n sedl?

(A) 3/25 (B) 1/25
(C) 21/46 (D) 20/37
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144.

145.

146.

147.

148.

149.

150.

151.

152.

The world’s largest living plant has been recently identified on earth at
(A) Off the coast of North America (B) Off the coast of Japan
(C) Off the coast of Australia (D) Off the coast of South America

What is the name of the second P17A class Stealth Frigate that was recently inaugurated in
Mumbai by the defence minister Rajnath Singh?

(A) IND Dhupgarh (B) INS Udaygiri
(C) INS Kamet (D) INS Trishul

What is NASA’s SpaceX Crew-4 aircraft’s new name?
(A) Inspire (B) Freedom
(C) Aspiration (D) Triumph

The Ministry of Tribal Affairs in India was set up in the year of
(A) 1995 (B) 1998
(C) 1999 (D) 2000

The State of Inequality Report is prepared by which organization?
(A) Institute for Competitiveness

(B) Institute of Economic Growth

(C) Indira Gandhi Institute of Development Research

(D) NITI Aayog

‘Ni-kshay 2.0 portal’ is associated with which disease?
(A) Tuberculosis (B) COVID-19
(C) Cancer (D) Anaemia

Prime Minister Narendra Modi inaugurated the World Dairy Summit on September 12, 2022 at
which place?

(A) Noida (B) Pune
(C) Sonipat (D) Ahmedabad

1
P and Q are partners in a business. P contributed 1 of the total investment for 15 months and

2
Q received 3 of the total profit. For how long Q has invested money?

(A) 10 months (B) 12 months
(C) 16 months (D) 20 months

In a class, there are 15 boys and 10 girls. If three students are selected at random, what is the
probability that 1 girl and 2 boys are selected?

(A) 3/25 (B) 1/25
(C) 21/46 (D) 20/37

[BDV-1] rro. 3
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153.

154.

155.

156.

157.

158.

159.

5 A5l 245 3ell 8 SASHL G 53 O, dl d el 4 SASHL GRA S W2 S2el Al 32 usal?
(A) 20 al3a2il (B) 10 ul3ail
(C) 16 al3axil (D) BuRisd U4l 516 1l

s WAL 4 1 welld 630 [Mdl R 7:2-0 wami 8. dl 20 wani se¢ well sl Mad
uHLRL 7:3 2?

(A) 70 (el (B) 80 (Ml

(C) 90 (Ml (D) BuRisd U4l 516 Al

Qe wlls A A d e 58 o Asuii-l vecioiedl sdl usa?

5+3x8-12:4=3

(A) + 21 — (B) — ¥t =

(C) x ¥ = (D) = A +

(R uai: 156-157) DA WAl 2160121 520 21 200 UL WS ALY [A5eu vrig $:U.

25 2222 €35 AHAR Al AR vjeal 28 8, ug AdR vid Q 69, € ALHAR, HANAUR 24 3R
55 du YRAUHL 2ud 8. €2 ofaaAR, s Ut AR WA R YRAwml 2ud 8. 2R w2AR-2
ofloytA Wi vieal Siu R DAl 23R UHRL di HRRAR (floor) Widlal 52T 20 & 1 913
wiell Areumi 2ud ¢ :

1. 69131 sl o Bau well mani »ud 6, U AU Add 6 Ban viaa ¥ [Bad cllualnd
uldlay Ml 2ud d [Bad, uell wsami suad .

2. €2 2163 AHAR 1 21U 6] [2ad Miud[Rd widla saumi 2ud 89, uid sARY Add 6 [Ban
paal % [Bad 9is well -wvicunni 2ud d [2ad, cllud(0d widla saumi suadl 9l

2[R nHIYL 32212 MU uidla s2aami 2ud d [Bal...
(A) HANAUR AUl BHAR (B) HANUR AL 3R
(C) GaUR A% J3AIR (D) JA3UR AU Y5AUR

-\

A % [Bad 342 YRuaHi 2ud d o [2ad e91s- well wal Aivicuni »ud, di 1A W4 sy [Qanq w2 972

(A) 9134 Haeu? Wl Arami 204 €9, (B) Mludl 9 3R uidla sauui 2ud .
(C) 91311 R Well AivaiHi 2ud . (D) AUAA[RA R uldla saH 2ud .

2 Q4 8¢ 2ivan yeiad] «l?
(A) 6241 (B) 17689
(C) 25291 (D) 47089

25 QuIE) 2i[3d YU U 4% andR 200 8 1 udls 15 20 sarll wilel u 1 2ulsa [Quyel 20l .
A £9di d 35% 15l WA 9, dl 2i[3d Y Yo Bud sd1 321 251 R ¢ai?

(A) 40% (B) 50%

(C) 56% (D) GuRisd WA i «dl.
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153.

154.

158.

156.

157.

158.

159.

5 men can repair a road in 8 hours. How many men are required to repair the road in 4 hours ?
(A) 20 men (B) 10 men
(C) 16 men (D) None of the above

In a container there is a 630 ml mixture of milk and water in the ratio 7:2. How much water must
be added to the container to make the ratio 7:3?

(A) 70 ml (B) 80 ml
(C) 90 ml (D) None of the above

What are the two signs to be interchanged for making following equation correct?
5+3x8-12+4=3

(A) +and - (B) — and +

(C) x and + (D) + and +

(Directions for Questions 156-157) Study the following information and find appropriate option
for given questions:

A restaurant stays open every Monday to Saturday but is closed on all Sundays. On Mondays,
Tuesdays and Thursdays only lunch is served. On Wednesdays, Fridays and Saturdays, just dinner
is served. The restaurant’s floors are polished and plants are watered only on days that restaurant
is open for business, according to following schedule:

1. Plants are watered two days each week, but never on consecutive days and never on the same
day that floors are polished.

2. Floors are polished on Monday and two other days each week, but never on consecutive days
and never on the same day that plants are watered.

According to a schedule, the restaurant’s floors are polished on either...
(A) Tuesday or Wednesday (B) Tuesday or Thursday
(C) Wednesday or Thursday (D) Thursday or Friday

If dinner is served on the same day as plants are watered, which of the following is correct?

(A) Plants are watered on Tuesday (B) Floors are polished on Thursday
(C) Plants are watered on Wednesday (D) Floors are polished on Wednesday.
Which of the following number is not perfect square?

(A) 6241 (B) 17689

(C) 25291 (D) 47089

A tradesman gives 4% discount on the marked price and gives 1 article free for buying every
15 articles. Still he gains 35%. The marked price is above the cost price by how many percentages?

(A) 40% (B) 50%
(C) 56% (D) None of the above

[BDV-1] rro. B8
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160.

161.

162.

163.

164.

165.

166.

167.

A2 AellHi 2uoudl ue sy eal?
1, 8, 35, 156, (?)

(A) 630 (B) 745

(C) 805 (D) GuRisd WA 51 dl.

113 Al 113113 YA 7 ad [Aeucu sl ddl yails vl aal sedl 29 ?

(A) 913952088 (B) 913952095

(C) 913952081 (D) Buisd U4 518 .

25 Alsad 6 (B3l idR 45 MR2Hi stuard 28 ©. A d d WA 213, 2idR &4 uHuw ol- glaaia Fea

AHUHL 51U, 69; ol LSl 2idR eusl-il AHAHL stual d-l B3y 526l il ASA?
(A) 6 [3:l/scus (B) 8 [3:{l/sc18
() 12 [33ly/scus (D) BuRisd U4 516 .

-

78.9, 165.6 2411 376.2 -l 9. AL 24 526l 4 ?
(A) 0.03 (B) 0.3
(C) 3.6 (D) BuRisd U4 516 .

-\

2L 9 sl — 1, 2, 3, 4, 521 7 a3 25 AR isl v w229 dd eiitai 2ud, dl d dva 5 a3
[Qeuou sia d-l Aeua-u sedl?

(A) 1/66 (B) 1/8

(C) 1/12 (D) Buisd U4 516 .

A2 (Aol 2[4, [AR1e 214 AlRA a2 s2efls 28 3:4:5 1L JRUTRHL adAuuHi 2ud 8. %t [A21eq 31. 6160
R, dl A ¢uoL seal sal?

(A) 3L. 4260 (B) 3L 4062

(C) 3. 4620 (D) GuRlsd WA 518 .

Vs SIHEIRL UUR UAH 10% dRAML 2ud 21 Ul 20% a2l 2ud 9. 21 d d-l YouR
3L 16720 A, dl 40 UUR 52¢l 82l?

(A) 3L 19000 (B) 3L. 20064
(C) 3L. 21350 (D) BuRisd U4l 516 .

Y

ol 61 [A5hat wanHl 2RlTR x ¢ p Sl A dHAL AASNAL ARITR p 2 ¢ 6. el AR Aoi[8d dudl JRiiaR
sedl 8al?

(A) px : qy (B) py : qx

(C)xy : pq (D) Buisd U4 i .
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160.

161.

162.

163.

164.

16S.

166.

167.

What is the next term in the following series?

1, 8, 35, 156, (?)

(A) 630 (B) 745

(C) 805 (D) None of the above

What is the sum of integers from 113 to 113113 which are divisible by 7?
(A) 913952088 (B) 913952095
(C) 913952081 (D) None of the above

A person has to cover a distance of 6 km in 45 minutes. If he covers one-half of the distance in
two-thirds of the total time; to cover the remaining distance in the remaining time, what should

be his speed ?
(A) 6 km/hr (B) 8 km/hr
(C) 12 km/hr (D) None of the above

What is the HCF of 78.9, 165.6 and 376.2?
(A) 0.03 (B) 0.3
(©) 3.6 (D) None of the above

A four digit number is formed with given six digits — 1, 2, 3, 4, 5 and 7 at random, what is the
probability that the number formed is divisible by 5?

(A) 1/66 (B) 1/8
(©O) 1/12 (D) None of the above

A certain amount is divided among three friends Ravi, Virat and Rohit in the ratio 3:4:5.
If Virat receives Rs 6160, what will be share of Ravi?

(A) Rs 4260 (B) Rs 4062
(C) Rs 4620 (D) None of the above

The salary of a worker is first increased by 10% and then decreased by 20%. If thus his salary

becomes Rs 16720, then what is his original salary?
(A) Rs 19000 (B) Rs 20064
(C) Rs 21350 (D) None of the above

The ratio of bases of two triangles is x : y and ratio of their areas is p : g. Then what will be ratio
of their corresponding altitudes?

(A)px : qy (B) py : qx

O)xy:pq (D) None of the above

[BDV-1] rro. B
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168. o A1 2uglr [Ada-l Heus 6 iy, dl p 4 yeu 524 sal?

24 3 5 2 7 4
gl 8 10 5 p 3
(A)8 (B) 60
(C) 104 (D) Buisd U4 516 .
% ((Rga:usi 169-171 w2) DA 1l cdl-l 210u4 530 20t usi 12 divu [Asey vrie s,
adl 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
2uglt 5 10 18 30 20 12 5

169. GuRisd Hlla-l neue seal u9?
(A) 36.57 (B) 37.56 (C) 35.67 (D) 38.17

170. GuRAsd HlSdli ergas aol sul aud?
(A) 30-40 (B) 40-50 (C) 20-30 (D) 50-60

171. Gu-ll wladl-l neus seal aal?
(A) 35.6 (B) 37.5 (C) 36.6 (D) 34.5

* (Ao : usl 172175 w2-) P, Q, R, S, T, V %A W 25 53611l Ald 40l 8. d g2l w2l
8. 3011 E35 URUHL UANU AAL AAA B — afla, S AUs16-22 (CA), w2 [RuR, Ras, diseR,
(5252 w1 s1uilAR2 (sl S1u d ¢33 ell). 516 20 smilize 5 S xi5168-2-2 (CA) . €35+
HAs 2uas el el 8. WES vi516-2-2 (CA) Alell ay sHuell 52 ©. S 2is A=A O, A V 5 % s
352 89, drll sl Aitdl 2uas Hd 9. R 215 [Aas 69, % P sl AR 24 S 5L 2488 2uas Hd 69,
W Al uedl Aledl 2409 2uas 4Ad 9. T 2is 2uR(B1d 250 69, % afla € 21 d P 5L 2] 241 Q Sl
At 2uas Hud 6. siuilRiedl vias Al 24091 4.

172. A0l 2419 20 si-l 97
(AP (B) Q (C) Pl Q (D)R

173. Pl cucuy sl 697
(A) swilaze (B) afld
(C) s (D) Afd 53 4 as

174. 31522 $dl 52El AAL A9 2uas YA £97?
A)2 B)3 (©)4 D)5

175. A WSl s AR g2t AL nedl 97
(A) PTQ (B) TRQ
(C) VIQ (D) Afd 53 1 asu

m [BDV-1] [Contd.
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168.

169.

170.

171.

172.

173.

174.

175.

If the mean of following frequency distribution is 6, what is the value of p?

Variable 3 5 2 7 4
Frequency 8 10 5 p 3
A8 (B) 60
(©) 104 (D) None of the above

(Direction for Questions 169-171) Study the following data and choose the appropriate option for
given questions

Classes 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency 5 10 18 30 20 12 5

What is the median of above data?
(A) 36.57 (B) 37.56 (C) 35.67 (D) 38.17

Which class is modal class in above data?
(A) 30-40 (B) 40-50 (C) 20-30 (D) 50-60

What is mean of above data?

(A) 35.6 (B) 37.5 (C) 36.6 (D) 34.5

(Directions for Questions 172-175) P, Q, R, S, T, V and W are the seven members of a family.
There are three female members in the family. Each member of the family has a different
profession - Lawyer, Chartered Accountant (CA), Engineer, Teacher, Doctor, Architect and
Pharmacist (Not necessary in same order). No lady is either Pharmacist or Chartered Accountant.
Each of them has a different monthly income. The Chartered Accountant earns the most. S,
the Engineer earns less than V, the Doctor. R, the Teacher, earns more than P and less than S.
W’s wife earns the least. T is an unmarried lady Lawyer and she earns less than P and more than
only Q. The Pharmacist’s income is not the lowest.

Who earns the least?

(AP B Q
(C)PorQ (D)R

What is P’s profession?
(A) Pharmacist (B) Lawyer
(C) Teacher (D) Cannot be determined

How many members earn less than the Doctor?
(A)2 (B)3
©4 D)5

Which of the following represents the three female members of the family?
(A) PTQ (B) TRQ
O VTQ (D) Cannot be determined

[BDV-1] rro. B3
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176.

177.

178.

179.

180.

181.

182.

183.

184.

X, Y 21 Z [3512 PQR ) tiogxil PQ, QR 244 PR U2+l [Big 24l 9, %ui PX : XQ =4:3 QY : YR =2:3
A RZ : ZP = 2:1. dl [A512 XYZ 211 [(As519 PQR UL &5 0L dRliniR s2al aal?

(A) 4/35 (B) 4/21

(©) 521 (D) BuRisd U4l 516 .

o A2l P 241 Q €35 WAL s 514 29 [Bauul 52 9. P £ 4 [Bau uedl 218 [Ba-l (A & € 214
Qe 5 [2au uedl 2is [Raurl [[Qam A €. o P 21l Q A1d 514 52, dl d 511 5L [Ba yel a9i?

A) 150 [Bad (B) 16 1 [Bad
(©) 17 W [2ad (D) Buisd U4 516 &l

3/8, 7/12, 2/3, 16/25, 14/15 W12 A1AL A3l $H (ascending order) sUl 8?
(A) 3/8 <7/12 <2/3 <16/25 < 14/15 (B) 3/8 <7/12 <16/25 <2/3 < 14/15

(C) 7/12 < 3/8 < 2/3 < 16/25 < 14/15 (D) BuRisd U4l 516 Al

s 54 4 QUL 5% WEL 21 Al 31 504 A . dl d U WBH 10% WEL Q% 2% QuHl adld
s2d) ual?

(A) 3L. 440 (B) 3L. 500

(C) 3. 525 (D) Buisd U4 516 .

AN

s AU WH 4% Aot wlls €2 AsalB 1y, €2 6 WA Yy ARug 1A dl s adl ughl ey
HEA 3 7803 AU B, dl d 54 58 sA?

(A) 3L. 7000 (B) 3. 7080

(C) 3L. 7250 (D) BuRisd U4l 516 1l

K 3L 15/3al - cud 86 wdle 8 24 dl UR 10% 151 4ol 2 £ld o 291 A 6. 4 5, dd wig
A% 900 AH 1A AR 1000 H £ 9. dl A WINR HOAIR 51l 2511 s2el ga?

(A) 20% (B) 30%

(C) 32.5% (D) GuRisd U4 516 dl.

1l 2y >0l 2012 1 [Bad AdaR Sy, dl 1l 20202l 2016 - [Bad sul ar ¢a ?
(A) AIMUR (B) YsUR (C) Hamawr (D) 23R

R A s1al GHR d-it Rl sia-dl GHR s2di 6 yania g2d) 6. 8 ay ytl R Al BHR d-u Ml d anadl
BHR 52al 2134 89, dl d-it Al sradl Byl sedl sa?

(A) 40 ad (B) 45 4
(C)50 (D) BuRisd U4 516 1l

-\

%A 6 HIRAAUL 24, 8 £9L5AV 15 511 10 [Eauni, FUR 26 HIAAL 241, 48 E915AVU d % $1H 2 [BaAHi 52 dl
15 HIQLAL 24, 20 £915AAUA, d % SIH 5L 52El AHY QARIA?

A) 6 [Ban B) 7 Baxn
(C) 4 [Ban (D) Buisd U4 i A,
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176.

177.

178.

179.

180.

181.

182.

183.

184.

X, Y and Z are points on the sides PQ, QR and PR of the triangle PQR, such that PX : XQ =4:3
QY :YR=2:3 and RZ : ZP = 2:1. What is the ratio of the area of the triangle XYZ to that of the
triangle PQR ?

(A) 4/35 (B) 4/21

(©) 521 (D) None of the above

Two persons P and Q each can do a work alone in 29 days. P takes rest of one day after every 4
days and Q takes rest of one day after every 5 days. If P and Q start working together, then the
work will be completed on which day?

(A) 15t day (B) 16t day
(C) 17t day (D) None of the above

Which of the following is the correct ascending order for 3/8, 7/12, 2/3, 16/25, 14/15?
(A)3/8<7/12<2/3<16/25<14/15 (B) 3/8<7/12<16/25<2/3<14/15
(C) 7112 <3/8 <2/3<16/25<14/15 (D) None of the above

A sum invested at 5% simple interest per annum grows to Rs. 504 in 4 years. The same amount at
10% simple interest per annum in 2% years will grow to?

(A) Rs. 440 (B) Rs. 500
(C) Rs. 525 (D) None of the above

A certain sum, invested at 4% per annum compound interest, compounded half yearly, amounts
to Rs. 7803 at the end of one year. The sum is

(A) Rs. 7000 (B) Rs. 7080
(C) Rs. 7250 (D) None of the above

K buys wheat at Rs. 15/kg and puts a price tag on it so as to earn a profit of 10%. However, his
faulty balance shows 1000 gm when it is actually 900 gm. What is his actual gain percentage?

(A) 20% (B) 30%
(0) 32.5% (D) None of the above

It was Sunday on 1%t January 2012, what was a day of the week on 1% January 2016 ?
(A) Monday (B) Friday
(C) Tuesday (D) Thursday

R’s today’s age is two-fifth of his father’s present age. After 8 years, R’s age will be half of his
father’s age that time. What is the present age of his father?

(A) 40 years (B) 45 years
(C) 50 years (D) None of the above

If 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys can do the same
in 2 days, what is the time taken by 15 men and 20 boys to complete the same work?

(A) 6 days (B) 7 days
(C) 4 days (D) None of the above

[BDV-1] [PT.0.
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18S.

186.

187.

188.

189.

190.

191.

192.

193.

P, Q ¢ R 518 9 [Bauui 31 1620 538 A5 6. P 1+ R 5 [Bauui 31 600 51 25 8. QAR 7
[Baumi 31 910 578 A3 8. di Ruld 2+ 326l 254 578 asa?

(A) 3L 70 (B) 3L. 90
(C) 3L. 100 (D) Buzisd U4l 518 )

25 2231 deus, ustons 241 G vigsd 74, L w4 9 ML O, dl drun [Bauall s &g s2¢ ual?
(A) 240 AL M. (B) 270 LML
(C) 290 .. (D) BuRisd U4l 51 €.

25 LAl AHL UUS VL5 ALSSA VidR SUAL 8 5eLs QUL AR U~ [Beuni deg o 2idR d 6 sasHl
iU 69, o uasHl B33 4 (3358 Sl di (R el sifl-l »su s24l sai?

(A) 26 [33/sc18 (B) 27 [33{l/s5¢cus

(C) 28 [34ll/5cus (D) BuRisd U4l 16 -l

Y S

1R 4 YRSl U212 72.5 8. d WSl He M YRS 117 A4 AgdH Yaus 15 8. susl-il ol yailsiql dsiad
12 69. dl bufl- ol yrisl U4 Widl dvau 56 ¢a?

(A) 85 (B) 87

(C) 98 (D) BuRisd U4l 516 .

-

{12 150 W2 2UAR (approximate) HEA ALk
134% of 3894 + 38.94% of 134 = (?)

(A) 5220 (B) 5280 (C) 5330 (D) 5420

-\

A “P” H24 “oUgosl”, “Q” H2d “HIUSIR”, “R” A AU i1 “S” 2d “ORusIR”, i dl
330 Q6P32R45S 12=(?)

(A) 561 (B) 563 (C) 565 (D) 567
" Y o b 1 Y 1 A . et a )

Ap, g oAl rAYA S, WA p T Pl Lot g+ = Ldl pgr 4 4eu 524 aal?

(A)-2 B)-1

(©)-3 (D) BuRisd U4l s -l

-

215 AUidR el 4 Al Ue —13 2 69§ UE —4 SIU dl il UAH 12 UEL-L AR 52l A7
(A) 30 (B) 33
(©)-30 (D) BuRisd U4l 516 -l

oA @il €2 ugdll, ollon 244 Al adl W vgsH 5%, 6% A 7% Sid dl, 3L 29000 f 3 A A5
Qo 524 ual?

(A) 3L 30507.29 (B) 31. 34536.39

(C) 3L 36425.48 (D) Buzisd U4 51 Al

[BDV-1] [Contd.
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18S.

186.

187.

188.

189.

190.

191.

192.

193.

P, Q and R together earn Rs.1620 in 9 days. P and R can earn Rs.600 in 5 days. Q and R in 7 days
can earn Rs.910. How much amount does R can earn per day?

(A)Rs. 70 (B) Rs. 90
(C) Rs. 100 (D) None of the above

The length, width, and height of a room are 7 m, 8 m, and 9 m respectively. What is the total area
of all the walls together?

(A) 240 sq m (B) 270 sq m
(C) 290 sq m (D) None of the above

A boat takes 8 hours to cover certain distance while travelling upstream. Whereas while travelling
downstream, it takes 6 hours to cover the same distance. If the speed of the stream is 4 km/ph,
what is the speed of the boat in still water?

(A) 26 km/ph (B) 27 km/ph
(C) 28 km/ph (D) None of the above

The average of four positive integers is 72.5. The highest integer is 117 and the lowest integer is 15.
The difference between the remaining two integers is 12. Which is the higher of the two remaining
integers?

(A) 85 (B) 87

(C) 98 (D) None of the above

Find out the approximate value for the following equation.
134% of 3894 + 38.94% of 134 = (?)

(A) 5220 (B) 5280
(©) 3330 (D) 5420

If “P” means “subtraction”, “Q” means “division”, “R” means “addition” and “S” means
“multiplication”, then

330 Q6 P32R45S 12=(?)
(A) 561 (B) 563 (C) 565 (D) 567

If p, ¢ and r are non-zero, and p+ ; =land¢ +; =1, then what is the value of pgr?
A)-2 (B)-1
©)-3 (D) None of the above

What is the sum of first 12 terms of an arithmetic progression if its 3" term is — 13 and 6™
term is — 4?

(A) 30 B) 33

(©)-30 (D) None of the above

What will be compound interest of Rs. 29000 in 3 years, if the rate of interest for 1%, 2"* and 3"
year being 5%, 6% and 7% respectively?

(A) Rs. 30507.29 (B) Rs. 34536.39
(C) Rs. 36425.48 (D) None of the above

[BDV-1] rro. B3
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194.

195.
196.
197.

198.

199.

200.

25 50 [(Bl/scusl 23U ol 108 {12 aivll 2+ Al 2uadl ollew 112 Hlez @iell 214 6 As~3Hi AR
52 9. dl 0flo 2l B3u sedl sal?

(A) 28 3l/5cus (B) 48 [33{l/5cus
(C) 68 [33{l/5¢cu8 (D) BuRisd U4 516 1l

(A2 : ua : 195 4l 197) 245 =@ [Anadl uden w2 2004 WAL 210w 53U 24 200 U2l WS
U1y [d5ey uaie s,

1. udlauni GulRad 8l GHgawRiHl v - 1000
2. udlau-l A8 [Quaini wa 2da GHgawridl dva - 460
3. 1ot o [anuui wa 2da GrgaRi-l v - 280
4. 55d s [Auani wa 234 GHgariHl Hva - 240
5. 55d QUlAs [Qsuni w234 GlgaRidl ivar - 80
6. 55 U8 [Asuni Aw 2da GigaRi-l vl - 60
7. $5d Bl U 2Ad GHgaRiH Hval - 140

sea [QenellAl cren [Quani i 2a?
(A) 20 (B) 540
(C) 280 (D) BuRisd U4 516 1l

sea [QenlAl 2UeHi 291 6L [AnaHi wa aan?
(A) 640 (B) 720
(C) 740 (D) BuRisd U4l 516 Al

secn [Qznellatl 245 (Qua viaqn ol [Quani v qa?
(A) 520 (B) 580
(C) 330 (D) BuRisd U4l 516 =l

s uil3As cuwuni “JASON” 4 “KBTPO” dil5 @viiy 89, di “MASTER?” 1 ¢ 3ld quual?
(A) NBTUGS (B) NBTVGS
(C) NCTVFS (D) NBTUFS

28 AL cuA 24 3 AHL 03 vAadl 30 aduusiz Wen 15 Bu s Yil s A AUSIR GlrllAdHi
204 8. dl d sl asuudly arsn seq a?

(A) 9152 sq cm (B) 9251 sq cm

(C) 8764 sq cm (D) BuRisd U4l 516 Al

-

25 20g, wLUAS 27 Aus0L Wl B 244 G0 1ull 9. dl du-l arsuHl oRinR s2dl val?
(A) 2:3:8 (B) 4:5:7
(C) 6:8:11 (D) BuRisd U4l 516 1l

[BDV-1] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


194.

195.

196.

197.

198.

199.

200.

A train 108 meter long moving at a speed of 50 km/hr crosses a train 112 meter long coming from
the opposite direction in 6 seconds. The speed of the second train is

(A) 28 kmph (B) 48 kmph

(C) 68 kmph (D) None of the above

(Direction for Questions 195-197) Study the data given below about an examination of three
subjects and choose appropriate option for the given questions.

1. Number of Candidates appeared in the examination - 1000

2. Number of Candidates passed in all three subjects of the examination - 460

3. Number of Candidates passed in two subjects only - 280
4. Number of Candidates passed in one subject only - 240
5. Number of Candidates failed in Physics only - 80
6. Number of Candidates failed in Chemistry only - 60
7. Number of Candidates failed in Mathematics only - 140

How many candidates failed in all subjects?
(A) 20 (B) 540
(C) 280 (D) None of the above

How many candidates passed in at least two subjects?
(A) 640 (B) 720
(C) 740 (D) None of the above

How many candidates failed in either one subject or two subjects?
(A) 520 (B) 580
(©) 330 (D) None of the above

In a coded language “JASON?” is written as “KBTPO”, then how will be “MASTER” written?
(A) NBTUGS (B) NBTVGS
(C) NCTVFS (D) NBTUFS

30 circular plates, each of diameter 28 cm and thickness 3 cm are placed one above the other to
form a cylindrical solid. What is the curved surface area of the cylinder?

(A) 9152 sq cm (B) 9251 sq cm
(C) 8764 sq cm (D) None of the above

A cone, a hemisphere and a cylinder have equal base radius and have the same height. What is the
ratio of their volumes?

(A) 2:3:8 (B) 4:5:7
(C) 6:8:11 (D) None of the above

[BDV-1] rro. B8
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Preliminary Test held on 30-10-2022
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Last Date to Send Suggestion(s) 8-11-2022
THE LINK FOR ONLINE OBJECTION SYSTEM WILL START FROM 02-11-2022; 04:00 PM ONWARDS

Instructions / ¥yl

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only.
Physical submission of suggestions will not be considered.

(2) Question wise suggestion to be submitted in the prescribed format (proforma) published on the
website / online objection submission system.

(3) All suggestions are to be submitted with reference to the Master Question Paper with provisional
answer key (Master Question Paper), published herewith on the website / online objection
submission system. Objections should be sent referring to the Question, Question No. & options of the
Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master Question
Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the responses given
by him in his answer sheet. Objections shall not be considered, in case, if responses given in the answer
sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question should be made on separate sheet. Objection for more than one question
in single sheet shall not be considered.

GREUR o{lA{l AUt ULEtat sRclloll AB el AMl, WoRAAUL clitil-} et I SEA YALA LUl AU o8]

(1) GRAEAR citi-¥YUsll §5ct Bllolcle ol WoBsalet AoiHl2let AR M 6l % Uot{le scllell _2. 3043 el 2WAH
glRL aRNLe{l 5 A Wsetall AUAA Aitl-Yuoll Lol Actil AUA ogl Boll Wit ollu Adl.

(2) GREAR ditl-yusll % 5l AnAE2 / WolcAl ot wNoBs2ot A2t ke UR YRt 9de (At oiystioll
% GUAlL 2.

(3) GRAEAR Wellal UIletl HAA YHUYRASIHL WA USSHLS Y0l clitll-Y Aol % ol Sl dAHIM cltll-3 Al
Aot UR YRty A YUABAA loAR 8l (HIR2R YsUA)oll Ysl sHIS Yool ol A Aealul % s2all.

(4) HReR Ysusil RlEwe yst wa [@scu Rlatastl diu-yuel ua Aol wadl «&l.

(5) GREAR YUsloll [AsEU UR il %5 B Al [AscU 3U B w6l YAAA B A el GREUR Welloll Griradlu
AUNUA A ANSA, GAEAR YUAA wcllol AUA GriRaddlol wellol @t §3 Al GREAR 7Y s clltll-YUoll
€2llotHL Aclld o3l

(6) A USL IR A % clltl-YUol Uals cllud. As % clitll-yAol ussHi Asel auR ysllsll 290U st $A Al
Aol citil-HAoll LUl Al o8l

Website link for online objection submission system : https://gpsc.safevaults.in/login/


CNF
Highlight


001.

002.

003.

004.

00s.

006.

ved SHldlaq R (AIM) 21 15 Y udd © g+l el .......... glRL sAHL 2udl 8.
(A) ld 2uaia

(B) Wiria Aaaq (s Wouau

(C) s~y A uaAlsdasm Wouau

(D) [Gsun 24 2sHidi® Huau

Daumiddl 54/ sunQaun / [l tiaq ausdl (slai-dlud) selda- AoiaHi 2] / 208 ?

1. $22 S[3u1 Su-l g1l 52431 LU A9 50 251 Sl

2. SIS a1 1829 €l 1865 £(Rutt Aud i) 10 218 WG~ A1 825 a3 Cin M AH
E1% YU 6.

(A) WA 101y 8. (B) WAL 2 13 69,

(C) 61 1 24+ 2 0L 89, (D) 61 2 -4,

D2A-uniell 53 cudlu 2ieldotd @z -l ?
(A) HAEls 2uas el (B) 2360l Gl dlstr
(C) $Mi, aiza (D) ay Aousl

QA Qe aial 204 DA 2004 diou [Asey vie s,

1. 206l AHA AHA NS Sl s12d 1.5 5318 stHgiRinil |zt wa- Gaidli-l (31l 2134l gdl.
2. oflep qaarlu dloru 860 Buisdl Aloazguii-n Geloiq 622 AAdl uuani 2udl ¢dl.

(A) WA 101y 8. (B) WAL 2 13 69,

(C) 1l 1 211 2 0L 89, (D) 61 vii2L 69,

2UREL YdHl YOIHT MIRAL YRGB s1us Gellod s umal vidied gL ulagn wRRulA2A Bl sami
20l ¢dl. 20 Aeeini DA-umiedl 53 / sanQaun / [Qa-l ) /w8 ?

1. (B2 U512 1A YARAB 51U Uelall uR 5 251l 2ue513] o s1d el sdl.
2. d avid U151 sid YRAUAL 2 iyeiuel AnLlldl edl.

(A) AL 1 99, (B) HA 2 13 €9,

(C) 61 1 24 2 0L 89, (D) 61 vii2L 69,

28 Ul 5N cuRaul ALl ay AU UELL s AA O, arddl AR 2011 Hwor, s wA Aaon
uaatini Astadl azdl-l esiadl sedl sdl ?

(A) 64.8 251 (B) 54.6 251
(C) 41 251 (D) 31 251
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001.

002.

003.

004.

005.

006.

The Atal Innovation Mission (AIM) is a flagship initiative set up by:
(A) NITT Aayog

(B) Ministry of Human Resource Development

(C) Ministry of Social Justice and Empowerment

(D) Ministry of Science and Technology

Which of the following statement/s is/are true in connection with the colonial economy of India?
I. Taxation by the East India Company was at a minimum of 50 per cent

II. Dadabhai Navroji has estimated home charges as a component of wealth drain from India
during 1829-1865 to the tune of 10 crore pound

(A) Only (I) is true (B) Only (IT) is true
(C) Both (I) and (II) are true (D) Both are not true

Which of the following is not a characteristic of Indian Economy?
(A) Low per capita income (B) High incidence of poverty
(C) Predominance of agriculture (D) High employment

Read the following statements and select the right option given below:

I. At the time of Independence out of the total 1.5 crore workers employed in the whole industrial

sector, large-scale industries accounted for half of it.
II. Under the Second Five Year Plan high priority was given to consumer goods industries.
(A) Only (I) is true (B) Only (IT) is true
(C) Both (I) and (II) are true (D) Both are false

Unfavorable conditions were created by the British to crush India’s cotton textile industry during

the pre-independence era.

Which of the following statement/s is/are true in this connection?

I. The British Government levied an excise duty of 5 per cent on India’s cotton textile products
II. The excise duty then was completely known in European countries

(A) Only (I) is true (B) Only (IT) is true

(C) Both (I) and (II) are true (D) Both are false

Even today, Agriculture is the largest employment providing sector in India. What was the

percentage of population engaged in agriculture and allied activities, as per Census 2011?
(A) 64.8 per cent (B) 54.6 per cent
(C) 41 per cent (D) 31 per cent

[BDV-2] rro. [EN
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007.

008.

009.

010.

011.

012.

013.

yd ®Rddi sRull sild qadl; aaue 2utRd [RaRini 2092 60000 F2a -l 2slsd [@si;
U WHHl AR A MIRd 4512+ 56 50 Al Yar aloguil ¢ ?

(A) AR vgL yrau [Maq (NFSM)

(B) Axglu 5[ (A5 Al (RKVY)

(C) nan H-ll su4 o1 wier-1 (PMFBY)

(D) uLemL i) Al il AeuR AL Uit (MGNREGS)

2013 6lis 59O Al e AoilEd © ?
(A) azdl Hlld (B) »eilus HAlld
(O EREVERIIR] (D) 28R s lld

Dalumiddl 5 e wAel- 50 Geug-nl wilta, [[azel, Fsi 2 2ua1d-l Al 536 ?
(A) -ueuS (NABARD) (B) 121415 (AGMARK)
(C) Nl (NIAM) (D) us3 (NAFED)

12 2uda [QuuHl ud uR @l 2 DAl Al g uie 2.
1. A% vuel Yrau (B 20104 29 sRUMT 20 .
2. A0JLAU BULEL YREU SIUEL 201THI UAIR SAUHL 2l Sdl.

3. 20 AU PDS 8 uvtfdlawn vi-ue Hi2 75 251 L 14 50 251 A8 Al sl 218512
21U 69,

(A) H1A 1 244 2 0L 89, (B) 1A 2 211 3 0L 69,
(C)HA 1Y 9. (D) A 3 0y 99,

Dal-umioll sy/su (/A sudni SST (ag se-u Getldl) sisHi-l Hiell-u Ae el g/ e ?
1. {124 SST Geutet HisHi-l ugll s kuiq .

2. SSI Gewg 2isui-l Aagll §523l w52l sau 2m(i) 21 2m(ii) S50 SUHL 2ud 6.

(A) WA 10y 8. (B) WAL 2 13 69,

(C) 61 1 24 2 0L 89, (D) 1 2 -,

MRAHL 2y (st R dsssimiddl sun doissid uus ddd 0By Yy ansst adls
2N 209 & ?

(A) NAH ALL5l (B) tlloAl aoissi
() AlA dvissi (D) Aldl dvissl

AA-uuidl sul CUAHE NS Al AU Baeu Al ?
(A) 1l u%H (B) AAidaHoeud [As
(C) WelAs ML £2 534 (D) Al [A512 (R
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007.

008.

009.

010.

011.

012.

013.

Bringing Green Revolution to Eastern India; Integrated Development of about 60000 villages
in Rainfed Areas; Promotion of Oil Palm are the sub-schemes of which Agricultural Policy of
Government of India?

(A) National Food Security Mission (NFSM)

(B) Rashtriya Krishi Vikas Yojana (RKVY)

(C) Pradhan Mantri Fasal Bima Yojana (PMFBY)

(D) Mahatma Gandhi National Rural Employment Guarantee Scheme (MGNREGS)

‘Amber Box’ is related with which of the policies?
(A) Population Policy (B) Industrial Policy
(C) Agricultural Trade Policy (D) Public Enterprise Policy

Which of the following organizations deals in procurement, distribution, export and import of
selected agricultural products?

(A) NABARD (B) AGMARK
(C) NIAM (D) NAFED

Consider the following statements and choose the right answer from below:
I. The National Food Security Bill was introduced in 2010
II. The National Food Security Act was passed in 2011

III. The Act gives legal entitlement to 75 per cent of the rural and 50 per cent of the urban
population for subsidized grains under PDS

(A) Only (I) and (II) are true
(B) Only (IT) and (III) are true
(C) Only (1) is true

(D) Only (III) is true

Which of the following statement/s is/are true with regard to the registration of SSI units in India?
I. Registration of only SSI manufacturing units is mandatory

II. Registration of SSI manufacturing units is done under Sections 2m(i) and 2m(ii) of the Factories
Act.

(A) Only (I) is true (B) Only (II) is true
(C) Both (I) and (II) are true (D) Both are not true

Which one out of the four phases of industrial development in India is broadly termed as the phase
of industrial recovery?

(A) Phase-1 (B) Phase-II (C) Phase-III (D) Phase-1V

Which of the following is not an objective of the Public Sector Enterprises in India?
(A) Capital Formation

(B) Development of Infrastructure

(C) Removal of Regional Disparities

(D) Control of Population Explosion

[BDV-2] rro. [N
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014.

01S.

016.

017.

018.

019.

violls0 3 199141 29 s Hizl 2uls YRt ol 30 7 sl 2uddl e Aldiuid
25 gdl. AA-uniddl 53 vl s uRoun A §1 us ?

(A) stdamdl 21 sl YRl (B) e st ay sl A
(©) WelAs 2uMdmi v1sl (D) Gewg seumi Yl

AP R AL dd 2§l AlA AARL 20 SAHL 2UAAL HuA YAIRL A oL 69,
1. dQ 2 ge2dl Sl Al 2 Gewrg Al viroll Al AeculidiA ol >uudl.
2. nala Bua Rl wadg [Qas.

3. 228 Su-dlaia Aid2AN)A dd 21 314 G312 8dld sauxl HogEl 2uudl.

sy (At / s [l 0 / e ?

(A) 1AL T 244 2 0L 89, (B) M7 2 241 3 0L 69,

(C) HuA 3 0y 8. (D) 618 AL 89,

@IRAME UldA 25 (A 52) Aeeiui DA-unisd 3 / s [Qauq / [Qannl ) /i 8 ?
1. IR A4 25U 1954-5541 Evd s3UMT UL .

-

2. (IR Al 252 AUAN AV AL U % S 24l 8l - (AT Acuil, -y Dl 214
A2 wilZa

(A) HiA 10y 8. (B) HLaL 2 13 69,

(C) 61 1 24 2 0L 89, (D) 61 vii2L 89,

AAn S A Ad HRd AR W2 [B-lasmasl W adls sinvami 2ud © ?
(A) AARHLNBAL YR WA (B) [RaraL 24 202108 u WA
(C) ¥R U Wy (D) s s ALl U WA

2020-21 -uRuély ay eRu cuani e sifla vue sedl sdl ?
(A) 4.5 251 (B) 5.5 251
(C)7.5251 (D) 9.3 251

cuRa-dl g siflu Alld-u igeini DA [Qaudia enmi dl 214 lAuisl 0l e u2is s2i.

1. A% sl el siuel uR ARl 2 9 200041 sumi 2udl edl.

2. A slU gUsIER) 21 o2 AA1a (FRBM) 2ALE[RUH a 200441 AHAQHT 20,

3. FRBM (AR 2 desifan S A5121 2009 YA H3ya vl €2 s2a1g $2A%ud iy ¢,
(A) 1AL T 244 2 0L 89, (B) WL 2 ¢4 3 uAL 89,

(C) 1AL 1 1 3 0L 89, (D) Gt AL 89,
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014.

01S.

016.

017.

018.

019.

Privatization was one of the major policies introduced as part of the massive economic reforms
introduced in 1991. Which of the following may not be an outcome of privatization?

(A) Improvement in efficiency and performance
(B) Better service to customers
(C) Reduction of regional disparities

(D) Improvement in productivity

The major reforms introduced in the oil and natural gas sector in the recent years are:

I. Allowing private sector participation in exploration and production of oil and natural gas
I1. Dismantling of the administered pricing mechanism

II1. Allowing domestic companies to acquire international oil and gas reserves

Which statement/s is/are true?

(A) Only (I) and (IT) are true (B) Only (IT) and (III) are true

(C) Only (IIT) is true (D) All are true

Which of the following statement/s is/are true with regard to service tax in India?
I. Service Tax in India was introduced in1954-55

IIL. Service Tax in India was first introduced on three services — telephone services, general
insurance and share broking

(A) Only (I) is true (B) Only (IT) is true
(C) Both (I) and (II) are true (D) Both are false

Which of the following is generally termed as a non-developmental expenditure for Government
of India?

(A) Expenditure on infrastructure
(B) Expenditure on education and health
(C) Expenditure on defence

(D) Expenditure on social welfare schemes

What was the fiscal deficit in India during 2020-21 financial year?
(A) 4.5 per cent (B) 5.5 per cent
(C) 7.5 per cent (D) 9.3 per cent

Consider the following statements with regard to fiscal policy of India and choose the right answer
from below:

I. The Committee on Fiscal Responsibility Legislation was constituted in the year 2000

II. The Fiscal Responsibility and Budget Management Act came into force in the year 2004

III. The FRBM Act mandated the then Central Government to eliminate revenue deficit by 2009
(A) Only (I) and (II) are true (B) Only (IT) and (III) are true

(C) Only (I) and (III) are true (D) All are true

[BDV-2] [PT.0.
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020.

021.

022.

023.

024.

WLl U IR Ul 8idR Aeeinl 1A 2uda [Qan-iniddl sy / s (Qa / [l ) /008 ?
1. A URL UALRA UL, AU AU Hsed, 2l HidL 53] g,

2. 4lAs AUl S A8 dRd gl

(A) A 1 9. (B) HiA 2 13 €9,

(C) 1l 1 211 2 01 89, (D) 61l 1 A 2 w21 69,

A= Qe aial 24 DA-unid a0y [Asey yric 5.

1. AR ARSI AU A 33 [Fecuil 214 8 WyRfRua stulRa-iui 2uult vy aqau- seisy
(DRMP) &3} 5l €9,

2. DRMP il 8¢ U5 diril 14 HI2 WA RYARUA SR duiR sau-l .
(A) HA 101y 8. (B) WAL 2 13 69,
(C) 611 1 24 2 L 89, (D) 61l 1 A 2 wi2L 89,

A [Qennl 2 uR al.

1. Ybd 61202 Aot AN SUR (laissez faire) Rugid-il Wolg st 23 9.

2. ¢ sl v (sH1ms S 51IHL) 2518 Ll Aultig 1o sl Aol 247 Adlriel 2 sRlEHALHI2 2150 A
3. 8 61361 Wl YAUSRALA 183 GIRL GLrllAUHL AL Sl

GuAsanidl s34/ su /e ?

(A) WA 1 (B) 14 3

(C) 1412 (D) WA 2

AA-unidl 59 [Qgnai sald © 5 cudla 21ed=1 [Qsadla sl o ?
1. AU Youd vidl 6.

2. U269 [ t9ul eisidl

3. Wirtd Y1) Aooll opataru

4. WAl Aan-l wangls Gl wsu

A 2 [Aseuinidl il [ase uaie s

(A) 1A 1244 2 (B) Wit 1 ¢4+ 4

(C) WA 2 ¢ 3 (D) WA 1,2 ¢4 3

25 alg 24 2uls Qs Aeeiul DA [Qai-iA Luqui @l

1. 205 ala 2 @), Hadls 2uas 4 Fan yasisini ARl 8 suR 2Rs Qs 2 200R 2y
€2, GLUL YAUER, ALERAL £ i Aol £ YRl 8.

2. 2uls glg A aiew suou-l uEa Q suR 2ulls s 2 250 ouo-dl uldu 9.
GuR »uua [Aa-tinidl 5y / sun Qs / [l 0 /6 ?
(A) WA 1 (B) H13A 2
(C) 131 2 61 (D) GURisd WA 218 vt 1l
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021.

022.

023.

024.

Which of the following statement/s is/are true as far as transfers through Finance Commissions
are concerned?

I. All the Finance Commissions sought to give due importance to backward states
II. Advanced States were deprived of resources from the Centre

(A) Only (I) is true (B) Only (II) is true

(C) Both (I) and (II) are true (D) Both (I) and (II) are false

Read the following statements and choose the right option from below:

I. The Government of Gujarat has implemented Disaster Risk Management Programme (DRMP)
in all 33 Districts and 8 Municipal Corporations of the State

I1. The DRMP aims at preparing only municipal corporations to manage disasters
(A) Only (I) is true (B) Only (II) is true
(C) Both (I) and (II) are true (D) Both (I) and (II) are false

Consider the following statements:
1. A Free-market economy follows the guidelines of laissez faire principle

2. Command economy does not create wealth sustainably and are not conducive for innovation &
efficiency

3. The Bombay plan was made by Jawahar Lal Nehru

Which of the above is/ are correct?

(A) 1 only (B) 1 and 3 only
(C) 1 and 2 only (D) 2 only

Which of the following features indicates that Indian economy is in a developing category ?
I. Occupation is mainly agriculture

II. Disguised unemployment

II1. Poor quality of human capital

IV. High per capita intake of proteins

Select the correct answer from the codes given below :

(A) I and II only (B) I and IV only

(C) II and III only (D) I, IT and III only

With reference to economic growth and economic development, consider the following statements:

1. Economic growth is an increase in the indicators like GDP, per capita income etc., whereas
economic development is improvement in life expectancy rate, infant mortality, literacy rate
and poverty rates.

2. Economic growth is a long-term process whereas economic development is a short-term process.
Which of the statement/s given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) None of the above

[BDV-2] rro. [N
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02S.

026.

027.

028.

029.

030.

031.

adundas als 2 eudla [As ulsad x1s weayel Gaau ©. »u Aeeul DaA-umidl sy uRouwm
MRAHL uHdell algi uRwwal ?

1. Y2t 2. adlell g2t 3. sl [Ruin 4. [aydls@
A 20 [Aseunl Guaiol s30A AL FAsL YiE SRU.

(A) WAt 1, 3 ¢4 4 (B)HA 1,21 3

(C) 1A 2, 3 A 4 (D) {1 1, 2 1A 4

St ALyl B2 ......... 0.

(A) suRudd (B) 4@ vidl

(C) sNGUAIML YHIRL (D) cuASA, U

D2luniofl 53 alou dd Ao vig el ?

wiell oald
(A) & ALK
(B) 2uy [Rie)
(C) sl R NTE
(D) 8el ARARSR

Y oY

gl sui A3l wes -l ?
(A) V1R (B) Sidint
(C) axug (D) vl

DAuHiefl s uRowil 2raan Adzil digd il HasHl FIRAHD AL HAA A9 53081 Sl ?

Logrdd 25l a2, ARSI+ dUIR 3. U1+ AUAS 4. s uoiladl
A 21U [Aseunl Gualal s34 1AL Bt YRiE 53U

(A) WAt 1, 2 ¢4 4 (B)HA 1,3 21 4

(C) WA 2 ¢ 3 D)1,2,3 %1 4

Al 5 61217 Al Ay sAUAL [ S SLUEL | SIAEL 5Y [ 5UL 6 ?

1. d sM Uil we un SR SalszilAs 28 uida .

2. d vl dH- Gewe -l aianiid 2ug3u ¢ia w18 Angedl s Hl usiA UelA 52 8.
A2 2uia [aseusl Guaia s34 A0l wasL wAE 52

AHAl (B) H1A 2

(C) 141 2 61 (D) Buisd U4 25 v -l
URY WRA AR ......... 18 oifd 9.

A) B (B) e [aRma

(C) A1 (D) Al
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026.

027.

028.

029.

030.

031.

Inclusive growth is an important objective of Indian development process. In this context, which
of the following would result in inclusive growth India?

1. Good governance 2. Poverty reduction
3. Skill building 4. Disinvestment
Select the correct answer using the codes given below:

(A) 1,3 and 4 only (B) 1, 2 and 3 only
(C) 2,3 and 4 only (D) 1,2 and 4 only

‘Gobardhan Yojana’ aims at:
(A) Horticulture (B) Organic forming
(C) Improving fertility (D) Generating biogas

Which of the following is not correctly matched?

Animal Breed
(A) Buffalo Bhadawari
B) Cow Sindhi
(C) Goat Jamunapari
(D) Sheep Tharparkar

Which one among the following is not a cash crop?
(A) Rubber (B) Colon
(C) Tobacco (D) Rice

Which of the following factors / policies were affecting the price of rice in India in the recent past?
1. Minimum support price 2. Government’s trading

3. Government’s stock piling 4. Consumer subsidies

Select the correct answer using the codes given below:

(A) 1,2 and 4 only (B) 1, 3 and 4 only

(C) 2 and 3 only D)1,2,3 and 4

What is/are the advantage/advantages of implementing the “National Agriculture Market”
scheme?

1. It is a pan-India electronic trading portal for agricultural commodities.

2. It provides the farmers access to nationwide market, with price commensurate with the quality
of their produce.

Select the correct answer using the codes given below:
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) None of the above

Suraj Dhara Yojana is related with :
(A) Loan (B) Exchange of seeds

(C) Vaccination (D) Insurance

[BDV-2] rro. KB
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032,

033.

034.

03s.

036.

037.

038.

039.

“Afus oun’Hl [Qeua-u-l [As .......... uR 28R 6.
(A) s [asu (B) A% Slu (A5
(C) uRag 241 AR [asu (D) AldRA|A a1

DAHi s A< HvuSla YA ugsil & ?
1. ¥l e

2. oig[ay ol wAdl (Fau-A

3. yulaelly 2142 2usRel

4. B

A2 21U [A5eunl Guaiol s30H AL FAL YL SRU.

(A) 1,241 3 (B) 2, 3 ¥ 4
(C) 1,3 21 4 (D) 1,2,3 21 4

(A2 nau slaueu (FuRAHL) su1 A8AA A © ?

(A) HELAE — HAS (B) HHELAE — Y8l
(C) ¥ouS —yal (D) [B&dl —3ou§
Aol sul gedl Auu-il Blas aes 9 ?

1. vi-iley 2. g¥lA 3. well

A2 2 [Qseudl Guaiol s34 1l gLl ude $3i.

(A) 1442 (B)2 1 3

(C) 133 (D) GURASd Ax M

c

‘PAN’ Hi A3¥UdHI AFZPK7190K Fdl uia Houai-l 6l €. 21l P -l 21

(A) alsd (B) Ul

(©) [Bg xlaculxa g (D) A5l 200181
lga Al DA-unidll suAzu el Asnda O ?

(A) Y ued (B) Gr uga

(C) 21d (D) A2

YR 56 gl (B2 2udg € ?
(A) uyu (B) diduL
() didl (D) -HEL

ogto (A Alell HIg stteiiqt sui 2udg O ?
(A) 4oL (B) wisdl
(C) 53¢ (D) WiRbiER
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032. The development of the concept of “Global Village” is based on:
(A) Social development
(B) Political development
(C) Transport and communication development

(D) International organization

033. Which of the following are the challenges of urban infrastructure?
1. Land Acquisition
2. Clearance from Multiple Agencies
3. Environment Impact Assessment
4. Financing
Select the correct answer using the codes given below :
(A)1,2and 3 (B)2,3 and 4
(©)1,3and 4 M) 1,2,3 and 4

034. World’s first hyperloop (in India) is to link cities of
(A) Ahmedabad — Mumbai (B) Ahmedabad — Pune
(C) Mumbai — Pune (D) Delhi — Mumbai

035. Which of the following forms the biotic component of natural resources?

1. Minerals 2. Land 3. Water

Select the correct answer using the codes given below :

(A) 1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only (D) All of the above

036. A ‘PAN’ has initially a five-alphabet series like AFZPK7190K. Here P stands for:

(A) Individual (B) Firm
(C) Hindu Undivided Family (D) Association of persons

037. ‘Gokul Gram Scheme’ is associated with which of the following States ?
(A) Andhra Pradesh (B) Uttar Pradesh
(C) Gujarat (D) Rajasthan

038. Surat is located on the banks of the river
(A) Yamuna (B) Ganga
(C) Tapti (D) Narmada

039. Where is the world’s largest graveyard of ships is located?
(A) Alang (B) Mandavi
(C) Kandla (D) Porbandar

[BDV-2]
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040.

041.

042.

043.

044.

045.

046.

047.

048.

Ul A FLRAURA Yeiseil Aus sl e ?
(A) 4l [Qopu 5as: (B) 4l Al o
(C) A Hies s 2usgaulau (D) &l aw, ofl. 381

MOIL Limited ®1Rd¥Hi 58 Gue (product) -1t Algl HizL Geaugs ¢ ?
(A) [Banavll (Matchstick) (B) U (Marijuana)
©) il (Manganese) D) wiRl (Mercury)

BuMiSL 24 AR cdlleiRl (Consumers and Channel Partners) HUSAL WFS2 AUR AU 58 6ls
211 WAARE AsuloL $3 €9 ?

(A) SEBI (B) RBI

(C) IRDAI (D) SBI

QA VA 56 Azl MRI Hellui Guaioimi dami 2uadl curd-l Aluaxn Superconducting magnet
system U5l yds [Asadl © ?

(A) IIT HaA (B) IISc

(C) IVAC (D) S.R.M. Institute of Science and Technology

AR Higyer, =g 2ol dul udgio Sassiadsd- Gaugd w2 58 sudl aw oflou 52
(three Giga factories) 2a1ugl ?

(A) ey S+3dlo Q123 (B) 2121 %

(C) NTPC [a123 (D) el o

AAA £V Yt Blod alsa Yl wisan W2 56 su-lai s sul 6 ?

(A) NTPC [&{123 (B) 2121 WaR

(C) YA A (D) »1g1ell Al 2ings [Al2s

DRDO i Quick Reaction Surface-to-Air Missile System (234l B o4l s FPuda
wauell) L 69 Gt uLlal (six flight tests) si-ll 018 G121 Qi ¢ ?

(A) MRdAlY AL (Indian Navy) (B) ISRO
©) cuRdly a0 A (Indian Army) D) cudla ay A (Indian Air Force)

*URAL sul vialdl ‘Diamond League Champion’ oal ?
(A) e Az (B) [Rw g1
(C) 2. 2. u-in ()l dl. [2y,

WHO i 2030 YHlHi a4 20354 s 01 2:01efl 2uadl da USD 1.5 ollfau-g 2wldaq a3 53 ?
A) Buarsan B) silas-19
(C) vidlul (D) sis2ua A0 Séla
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048.

The author of the book ‘Growth and Finance’ is :
(A) Shri Vijai Kelkar

(B) Shri C. Rangarajan

(C) Shri Montek Singh Ahluwaliah

(D) Shri Y. B. Reddy

MOIL Limited is the largest producer of which product in India?
(A) Matchsticks (B) Marijuana
(C) Manganese (D) Mercury

Which bank & WAARE collaborate to finance projects for consumers & channel partners?
(A) SEBI (B) RBI
(C) IRDAI (D) SBI

Which one has successfully developed India’s first superconducting magnet system used in MRI
machines?

(A) IIT Madras

(B) IISc

(CO) IUAC

(D) S.R.M. Institute of Science and Technology

Which company will build three Giga factories to manufacture solar modules, wind turbines and
hydrogen electrolyzers?

(A) Reliance Industries Limited (B) Tata Group
(C) NTPC Limited (D) Adani Group

Which company has entered into an agreement to supply renewable energy power to the armed
forces?

(A) NTPC Ltd (B) Tata Power
(C) Suzlon Energy (D) Adani Green Energy Ltd

With whom has DRDO conducted six flight tests of the Quick Reaction Surface-to-Air Missile
system off Odisha coast?

(A) Indian navy (B) ISRO
(C) Indian army (D) Indian air force

Which sportsperson of India became ‘Diamond League Champion’?
(A) Neeraj Chopra (B) Hima Das
(C) H. S. Prannoy (D) P. V. Sindhu

WHO launched a USD 1.5 billion campaign to include a vaccine for which disease across Africa
by 2030?

(A) Hepatitis (B) Covid-19

(C) Polio (D) Bacterial meningitis

[BDV-2] rro. K3
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049.

050.

051.

052.

053.

054.

05sS.

056.

AR 202240 AU SIG-3AAL Als AU Y2512 S UL seUMT 2l 9 ?
(A) arll3en cuzidl (B) A4S [Aoru
(C) Y (D) HSQ bUoY

A8 [Rarul w3Rudde uRarid 100 Baudl Aoudl suuar W2 58 A3 UBR Heasial
Ao a3 $30 8 ?

(A) AUd (B) Gr uga
(C) A2 (D) ueast

Paytm L 2 58 $u-llA BCCI L §¥4 WALYS 85 (title sponsor) dla €9 ?

(A)yHu (B) {1
(C) W21 (D) dlai

59 Small Finance (qg "u'&li) A3 s5d lduRaldd (transgender) AYEIU W2 ‘Rainbow Savings
Account’ 3 534 8 ?

(A) Capital Small Finance Bank Limited (B) ESAF Small Finance Bank Limited

(O) Fincare Small Finance Bank Limited (D) AU Small Finance Bank Limited

AR21012 202240 59 A Hi2L WA Sas2ils Geug w2 PLI il dsu 32 cicuedlaia Hogdl
2l 69 ?

(A) lBory Hnay (B) CERC
(C) CEA (D) NITI 20l

AMNH 7312 53l 2 24 212l i3 (land of horse) a5 2nelldl &9 ?
(A) Widnlau (B) el 2ul351
(C) 5~ (D) Y5 200 A[HRUd (UAE)

audla 2ad ¥ 58 udd (initiative) S50, S1d3 «dla e sitaal w2 vl Su-laid 2uRd
AL HI2 UAH AUld 2732 BIIR UIsY, ?

(A) 223 214 S5, 2212-244 SR (Stand-Up India, Start-Up India)
(B) 4$ S+ S[=uL (Make in India)

(C) s MIRd, 2% M1d (Ek Bharat, Shrestha Bharat)

(D) Ag HIRd (Incredible India)

suL A% Tl aeundl 249 yren 2UARUH’ ‘Residents Safety and Security Act’ U tig-8d5
viHAUSQ UZa a3 s34 & ?

(A) Hauay (B) i1
(C) ulBan sidun (D) [s8ln
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049. Who has been confirmed with the annual Sahitya Puraskar of the Lok Nayak Foundation in

September 2022?
(A) Tanikella Bharani (B) Joseph Vijay
(C) Suriya (D) Mahesh Babu

050. Which state government has launched an ambitious scheme to provide 100 days of employment to
needy families in urban areas?

(A) Gujarat (B) Uttar Pradesh
(C) Rajasthan (D) Punjab

051. Which company has replaced Paytm as the title sponsor of the BCCI?
(A) Puma (B) Dream
(C) Mastercard (D) Vivo

052. Which Small Finance Bank has launched a ‘Rainbow Savings Account’ exclusively for the
transgender community?

(A) Capital Small Finance Bank Limited
(B) ESAF Small Finance Bank Limited
(C) Fincare Small Finance Bank Limited

(D) AU Small Finance Bank Limited

053. Which institution has approved 32 beneficiaries under the PLI scheme for large-scale electronic
manufacturing in September 2022?

(A) Ministry of Commerce (B) CERC
(C) CEA (D) NITI Aayog

054. Which country is known as the land of the horse according to AMNH?
(A) Mongolia (B) South Africa
(C) Kenya (D) UAE

055. Under which initiative, Indian Railways for the first time floated a tender to invite private players
to build a high-speed wheel plant?

(A) Stand-Up India, Start-Up India
(B) Make in India

(C) Ek Bharat, Shrestha Bharat
(D) Incredible India

056. Which state has launched a multipurpose online portal called the ‘Residents Safety and

Security Act’?
(A) Meghalaya (B) Odisha
(C) West Bengal (D) Sikkim
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057.

058.

059.

060.

061.

062.

063.

064.

065.

sul [Bax btid%%l‘{l?-l VlcHS U 42519 [8a4 (International Suicide Prevention Day) € ?
(A) AR 10 (B) AR 11
(C) WRWR 9 (D) AR 8

Y23 (393 a0 sl oL €9 ?
(A) Prince Edward (B) Prince Charles III
(C) Prince Andrew (D) Prince William

MURATL 5UL A%UA AHidRANIU 21dd HalS 2023 W2 dlsd (aceredited) SAUNL 0 6 ?
(A) 21d (B) ulZau sicun
(C) Brr v (D) 21RRu

adln etisdla 2A-uladlsu Aisedr (Innovative boxing analytics software) W2 59 A SAwA
1) v:eélzga 215 WiEA (Inspire Institute of Sports)Hi ANS ?

(A) IIT 63 (B) TIT “391Y2
(C) IIT Hs1 (D) IIT [2&d)

SUL AUV, 9 AR R, [BHau [Ba’ adls Gyl ?
A) [B81R (B) Grrwvis
(QIRERK] (D) 2AU0H

AL dldalsa Hie el ol aienonou- (st ug 2uuall QU 241 seaL anall yed e
ol @81 US Ui 20d & ?

(A) 25 0l (B) 15
(C) 10 aM (D) 35

suL ad YL HiRd 20104 82 A 50 Brdlaq Sia-u uRm (size) Yol usiuadl Acua-n g ?
(A) 2030 (B) 2025
(C) 2022 (D) 2023

sddIg AL suL ASHI Al YU dAlY Blog i s2 (Maitree Super Thermal Power Project) &lucUHl
2L 8 ?

(A) AN (B) a5l

(C) via-u (D) AxWws

sa2s HI2 Adl d2adly fx caqaun Al 518 HoR 38 ?
(A) 2[Rd e (B) "3+% uigl
(C) &% Aea (D) Ml ua
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057. Which day is International Suicide Prevention Day?
(A) September 10 (B) September 11
(C) September 09 (D) September 08

058. Who has become the new King of the United Kingdom?
(A) Prince Edward (B) Prince Charles I11
(C) Prince Andrew (D) Prince William

059. Which State of India has been accredited the International Travel Award 2023?
(A) Gujarat (B) West Bengal
(C) Uttar Pradesh (D) Odisha

060. Which institute joined Inspire Institute of Sports for innovative boxing analytics software?
(A) IIT Bombay (B) IIT Kharagpur
(C) IIT Madras (D) IIT Delhi

061. Which State celebrated September 09 as ‘Himalaya Diwas’?
(A) Bihar (B) Uttarakhand
(C) Sikkim (D) Assam

062. As per the policy for long-term leasing of railway land for Prime Minister Gati Shakti, what is the

tenure up to which land lease is provided?
(A) 25 years (B) 15 years
(C) 10 years (D) 35 years

063. Healthcare sector in India is expected to reach a size of $50 billion by which year?
(A) 2030 (B) 2025
(C) 2022 (D) 2023

064. Maitree Super Thermal Power Project has been set up in which city of Bangladesh?

(A) Chattogram (B) Dhaka
(C) Khulna (D) Rajshah

065. Who approved the New Coastal Zone Management Plan for Karnataka?
(A) Amit Shah (B) Narendra Modi
(C) Bhupender Yadav (D) Priti Patel
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066.

067.

068.

069.

070.

071.

072.

073.

074.

el Adloneia - [gdlu-l wansin sean adl -l el ?
(A) 74 @ 21 8 |- (B) 73 ad 241 10 H[&-1
(C) 72 4t 244 9 ul8-u (D) 70 aM 24 7 H[&-1

auRd-{l AlnaH Intra-nasal 511U U INCOVACC 58 su-lat duiR 531 ?
(A) Biocon (B) Bharat Biotech
(C) Dr. Reddy’s Lab (D) Serum Institute of India

Google Doodle 8 AR ¢uA eHR51-l 964l -Haddldl Goasll 53 28] ©. dvil 58 s w2
elldl el ?

(A) 1u (B) [R50
(C) e (D) i2lla

$UL Sl {4 gl E-Daakhil WEd 03 sl 20 €9 ?
(A) s tuLidl Huau (B) A A AU HAAY
(C) Aoy, 214 Gelldr Hana (D) ~uRl H{-ne

012 2022 Hi A8 sRuElU RAs@QHE dHH Hauadl 244, [Qeuoini 59 4 2iaq sH 8 9 ?
(A) RTO (B) UIDAI
(C) CRPF (D) EPFO

RURA sUL 2L usUle] btid:&%l‘{lq 51822 =UHAR udd (International Counter Ransomware
Initiative)-l HIOL 3U AAGR YRA& sdd 1 43l 8dl ?

(A) UK (B) 2w~
(C) slu (D) 2izgdla

UNESCO Global Network of Learning Cities Hi $41 281 s ¢ ?
(A) $1A0, AYR 2 il (B) ARid, (B4R 21 [RansR
(C) sia0yR4, Siendln 211 HyR (D) YR, ARl 24 Y2

Eastern Economic Forum g 211%+ €2 at 541 821l 4%HIAUE $AUHL 20 6 ?
(A) A (B) L3
(C) -l (D) Wdrs

A1 5UL ASIMIL (Electronics Manufacturing Cluster - EMO)1 ul%gél 2udl €9 ?
(A)usl (B) dl [2ed)
(C) louy3 (D) A~
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066.

067.

068.

069.

070.

071.

072.

073.

074.

Queen Elizabeth II’s reign lasted for how many years?
(A) 74 years and 8 months (B) 73 years and 10 months
(C) 72 years and 9 months (D) 70 years and 7 months

Which company developed INCOVACC, India’s first intra-nasal Corona vaccine?
(A) Biocon (B) Bharat Biotech
(C) Dr. Reddy’s Lab (D) Serum Institute of India

Google Doodle is celebrating Bhupen Hazarika’s 96th birth anniversary on September 8. He was
known for which form of art?

(A) Dancing (B) Painting
(C) Architecture (D) Music

E-Daakhil portal is launched by which Central Ministry?
(A) Ministry of Consumer Affairs

(B) Ministry of Labour and Employment

(C) Ministry of Commerce and Industry

(D) Ministry of Finance

Which organization has topped among all Ministries and Departments in resolving Public
Grievances for August 2022?

(A) RTO (B) UIDAI
(C) CRPF (D) EPFO

India conducted a Cyber Security Exercise as part of the International Counter Ransomware
Initiative in collaboration with which country?

(A) UK (B) Japan
(C) France (D) Australia

Which cities have joined the UNESCO Global Network of Learning Cities?
(A) Kochi, Mysuru and Varanasi

(B) Warangal, Thrissur and Nilambur

(C) Kanchipuram, Dolavira and Mysuru

(D) Mysuru, Varanasi and Jaipur

Eastern Economic Forum is being hosted by which country every year?
(A) Russia (B) Sweden
(C) Germany (D) Poland

The Government has approved an EMC — an Electronics Manufacturing Cluster — in which city?
(A) Pune (B) New Delhi
(C) Bengaluru (D) Chennai
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07s.

076.

077.

078.

079.

080.

081.

Q%Cﬁ Space Expo £¥R1 wiadla as-lél (Space Technology) Hi ISRO 2 U1 2l viadla vl
(Space Agency) & ¢1llerd] 53 ¢l ?

(A) 5l (B) 22 lul
(C) USA (D) Awn

steHig vl Awo-i ruld [Bren edl ¢igidl grat el A Hire gHag [B13e sid viiad saml
Y ¢ ?

(A) % 6l Aad (B) %Re g0l [Ria ysia

(C) %A H-UY Uid (D) ¥R H-l Y48 URlaq

Y158 (Chakan) Y&l vid Gautet 2isH A3 5304 56 Su-lla tid-l Aluan LNG §4 awll ol 251
AR 54 6 ?

(A) Mercedes-Benz (B) Mahindra & Mahindra Ltd.

(C) Suzuki Motor Corporation (D) Blue Energy Motors

Al 2l 43g Higlw PM-SHRI ol 281 531 6. aoudi-i (s 24 Gild (upgradation)
W2l 20 215 udd (initiative) 9. 22 M-l S2¢l oAl 200 PM-SHRI AL 860 ¢9 ?

(A) 20,500 (B) 15,500

(C) 16,500 (D) 14,500

RURA U512 AT, UH ttedld 53 U Buua A58l 53 6 ?

(A) (&1 v (B) 2B uy
(C) AMAg, (D) $ccu ua

$UL APAUL ATAANA 2 G121 g il AMAH FA-AHL (bio-villages) RAUAUHL 20dQ € ?
A) By (B) A%
(C) 201 (D) [Bwag usa

nY =\ "\ =\ =\

QUEL-T A, WEL-TT A8 231 24 A 2004 $13+1 Buaidl $30 AL B URie 52U,

AEL-T (MURAAL FNHLY) ALel-I1 (su AUHL [RRa 8.)
a. HRAIR 1. sQu2s

b. cuR st (Barkana) 2. e91il1218

c. Rasie 3. RBuiaa usa

d. G2 HiY FRRET]
(A)a-4,b-1,c-2,d-3 B)a-1,b-2,c-3,d-4
(C)a-4,b-3,c-2,d-1 (D)a-3,b-2,c-4,d-1
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07s.

076.

077.

078.

079.

080.

081.

ISRO partnered with which country’s space agency in space technology during Bengaluru Space
Expo?

(A) France (B) Australia

(C) USA (D) Japan

Who has been conferred the title of Honorary General of the Nepali Army by Nepal President
Bidya Devi Bhandari in Kathmandu?

(A) General Bipin Rawat

(B) General Dalbir Singh Suhag

(C) General Manoj Pande

(D) General Manoj Mukund Naravane

Which company has unveiled India’s first LNG-fuelled green truck by launching a manufacturing
plant at Chakan, Pune?

(A) Mercedes-Benz

(B) Mahindra & Mahindra Ltd
(C) Suzuki Motor Corporation
(D) Blue Energy Motors

Prime Minister Narendra Modi has announced a new initiative, the development and upgradation
of how many schools across the country are under the PM-SHRI Yojana?

(A) 20,500 (B) 15,500
(C) 16,500 (D) 14,500

The Government of India has decided to rename Rajpath by which name?
(A) Ahimsa Path (B) Agnipath
(C) Ramsetu (D) Kartavya Path

Which state set up the country’s first bio-villages, recognized by an international group?
(A) Tripura (B) Rajasthan
(C) Assam (D) Himachal Pradesh

Match List-I with List-II and select the correct answer using the code given below the lists:

List I (Waterfall of India) List II (Location in the state)
a. Dudhsagar 1. Karnataka

b. Barkana 2. Chhattisgarh

¢. Chitrakote 3. Himachal Pradesh

d. Rudra Nag Falls 4. Goa
(A)a-4,b-1,c-2,d-3 B)a-1,b-2,c-3,d-4
(C)a-4,b-3,c-2,d-1 MD)a-3,b-2,c-4,d-1
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082. -lA o [l 2 9. s [Aaund [Rdeq (Assertion) (A) da ollo [t s1:81 (Reason) (R)H
AHIBA sul .

[Rden (Assertion) (A) : 1Rl AMARNOUHE Wis-] [Ral fuRd- e B 214 wEn- aeaiul anidlRd
530 2 Al 5dld s adRL 2\ 6.

51281 (Reason) (R) : €[ 4 ulaHl %uini Gauled A1 ysiod umua ay siu 6.
A2 20Ua sigHl GuULL 53] A1AL FAUG YRAE 53U,

(A) (A) 4L (R) i 12 €9 21 (R) 1 (A)d, 112 2udls2e 6,

(B) (A) L (R) tiq A14L & Uid, (R) ¥ (A)d, 1 2udls -l

(C) (A) W & uig (R) “ig 8.

(D) (A) Wi & uig (R) 1Y .

083. Gw (26l Asald (Tropical Cyclones)-l Ae®HE DA WAL 53 [Atnq / sui (Al nea 9 ?

1. (IRdAHL Wi Guasoidly asaddl Gault 2120l ays uR wu & x4 cuRa-u ulan BR
EIEL R

2. Guas[2oifly Asad H-ofrt dal 2AL52161-1A¥012 UL gRuU BgMmd €9,

Q2 2uuen sisHl Gualol 520 w2l Bt wE 53U

(A) WA 1 (B) {17 2

(C) 1441, 2 6iA (D) 1 A2 2 U4l 2isunL 4l

084. glaa 213[R51 vigHl A1 WS sul 22 3 &1t (Landlocked) € ?
(A) dgial
B) el
(C) 41 [593% 245 2121 (The Kingdom of Tonga)
(D) B4

085. A USL 53y viex Qi 51810 vieR als el ¢ ?
(A) A121L i4l (Sao Paulo) (B) -2 (Santos)
(C) A 4l 2ARd (Rio de Janeiro) (D) 63244 2A<1A (Buenos Aires)

086. 11 ol [Qtul e 9. s [ [Rdeq (Assertion) (A) a2l oo [Aund 51221 (Reason) (R)dl
AHIBA sul 6.

[Rdgn (Assertion) (A) : Sl 2R Ay Glod Ha st A3 QUi UA8IA $UR 8.
$1281 (Reason) (R) : PR SlAULT, 8- AU 8 QUL $100L SALSMS S, Beaos L A1 6.
A1 2Ua sisHl GUULL 53] ALAL FAUG URAE 53U,

(A) (A) Al (R) i 121 8 21 (R) L (A)d, i ulse e,

(B) (A) a2 (R) bird 1201 89 ug (R) 2 (A)g w13 2udlsm 4.

(C) (A) W & uig (R) “ig 8.

(D) (A) “ig & ug (R) 3 €.
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082.

083.

084.

08s.

086.

Assertion (A): In recent period, there is tendency for sugar mill to shift and concentrate in

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R):

southern and western states of India
Reason (R): The cane produced in southern and western states has higher sucrose content.
Select the correct answer using the code given below:
(A) Both (A) and (R) are true and (R) is correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not correct explanation of (A).
(O) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

With reference to tropical cyclones which of the following statements is/are correct?

1. Majority of tropical cyclones in India have their genesis over Arabian sea and strike the west

coast of India.
2. Tropical cyclone occurs during the months of May-June and October-November.
Select the correct answer using the code given below
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

Which of the following countries of South America continent is landlocked?
(A) Venezuela

(B) Bolivia

(C) The Kingdom of Tonga

(D) Uruguay

Which of the following ports is known as the coffee port of the world?
(A) Sao Paulo (B) Santos
(C) Rio de Janeiro (D) Buenos Aires

Given below are two statements, one is labelled as Assertion (A) and other as Reason (R):
Assertion (A): Coal-based thermal power stations are contributors to acid rain.

Reason (R): Carbon dioxides are emitted when coal is burnt.

Select the correct answer using the code given below:

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true

[BDV-2] rro. B3
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087.

088.

089.

090.

091.

092.

=\ =\ "\ =\ =\

QEL-T A AEL-TT 18 AL 24 1A 2uda $13+1 Guall $3) AL G e $3U.

ael-1 (22 ael-11 (el a8)
a. ud @Il 1. 06Ud (Rabat)

b. you~si 2. sudl (Kampala)

c. wHllGrn 3. 2109 (Abuja)

d. HiRssl 4. d3€ls (Windhoek)
(A)a-3,b-2,c-4,d-1 (B)a-1,b-2,c-3,d-4
(C)a-4,b-3,c-2,d-1 (D)a-3,b-1,c-4,d-2

gyl [A2512 Quid HYod Adl HoHL (Magma) - AU AW WA 54 [t / s [l wea 8 ?
1. Hi21eUS1L HoHL (Magma) 4 U], Bt 241 iy, ueial] M €ia 6.

2. HoHL (Magma) Hi Well-l ousy 240 516043115158 Yoo, Ayl 210 Sl 6.

A2 e si3-U Gualal 5309 WAL Pt YAE $3U.

(A) WA 1 (B) 1A 2

(C) 1911 2 6iA (D) 1 21241 2 U4l »isul ]

el 23R s [Qeun gald- anaqi Herdl s uel siovuu ¢ ?
(A) AclA (Selvas) (B) w3 (Pampas)
©) EI] (Prairie) (D) Yy (Steppe)

MR Brivydlu Gamga-u Aetul Al WA sy [ / sun Qe 2 /i & ?
1. #9121 YR BN 2 ¢ Grivydlu cuda YHl (a4l .

2. Grrydlu cuatmi 26l 291401 (Karbi Anglong) d2l Hendul Gamga i [gusedlu visl [ddel
RL2L £9.

A2 20Ul S BuARL $3H AAL UG YA_E S
(A) WAt 1 (B) "1~ 2
(C) 144 2 6iA (D) 1 A2 2 U4 2isuL 4l

D2 W 54 21001284 pAndd H2tHE HIE ([Qci-i AEMHD) a-uma AU 6 ?
(A) %l R8I 2N (B) R aru@a UMY
(C) 52971 WY, AU AU (D) JAUBIAR AL AMAURRY

Al 524 Uldil uL e, 58 Adlul yed)l YAl Alell @5 vid Sl e ?
(A) 541 g (B) 234l 2w
(C) 490l =yl (D) 214 WA
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087.

088.

089.

090.

091.

092.

Match List-I with List-II and select the correct answer using the code given below the lists:

List I (Country) List IT (Capital City)

a. Nigeria 1. Rabat

b. Uganda 2. Kampala

¢. Namibia 3. Abuja

d. Morocco 4. Windhoek
(A)a-3,b-2,c-4,d-1 B)a-1,b-2,c-3,d-4
(C)a-4,b-3,c-2,d-1 MD)a-3,b-1,c-4,d-2

With reference to the Magma released during volcanic eruption which of the following statements

is/are correct?

1. Mostly Magma is a mixture of liquid, solid and gaseous matters

2. Water vapor and carbon dioxide are major gases dissolved in magma.
Select the correct answer using the code given below

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

The extensive treeless grassland of South America is called as:
(A) Selvas (B) Pampas
(C) Prairie (D) Steppe

With reference to North East plateau of India, which of the following statements is/are correct?
1. Chota Nagpur plateau extends into north eastern parts of India

2. Karbi Anglong and Meghalaya plateau in north-eastern part are extension of peninsular block.
Select the correct answer using the code given below

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

Which one of the following is the largest (in terms of area) wildlife sanctuary of Gujarat?
(A) Wild Ass Sanctuary

(B) Gir Wildlife Sanctuary

(C) Kutch Desert Wildlife Sanctuary

(D) Shoolpaneshwar Wildlife Sanctuary

On which date is the earth at its closest distance to the Sun during its orbit around the Sun?
(A) 5% July (B) 2374 September
(C) 4™ January (D) 21 March

[BDV-2] [PT.0.
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093.

094.

09s.

096.

097.

=\ =\ "\ =\

QEL-T A AEL-TT 18 AL 24 1A 2uda $13+1 Guall $3) AL G e $3U.

BT (sausuynll udd)

a. HIB-2 IR (Mt. Rainer)

b. H1G+2 Wi+ (Mt. Mayon)

c. B2 gl (Mt. Fuziyama)

d. WB-2 siziwell (Mt. Cotopaxi)
(A)a-2,b-3,c-4,d-1
(C)a-4,b-3,¢-2,d-1

A2l W 54 2182 S1aui % d ea-dl Al 44l ?
2

(A) $HS5AIA

(B) Sell2aidflan

(C) RUAHR

(D) 5=l

&L
&
o
M
29
-

ALEL-T A Agl-1T 18 %At 244+l
agl-1 (Guay)

a. virlos da

b. dit}

¢. Wl

d. olisa152
(A)a-4,b-3,¢c-2,d-1
(C)a-3,b-4,c-1,d-2

Ud si3+1 Gual

A1El-1T (501 equi 2uddl ¢9)
1. BllwsS -

2. $5d31R

3. AYsd AwU RS

4. -
B)a-3,b-1,c-4,d-2
(D)a-1,b-2,c-3,d-4

Aol A8

dR-Yddir

wdla nou0U

434

ARiell

3 53] A1l BriR ude $3.
wel-11 (Yo Gewes)

1. elaw 2ulz5

2. viedla

3. 4.4,

4. Y|l
(B)a-1,b-2,c-3,d-4
MD)a-3,b-1,c-2,d-4

A AALARRME Sloi31ALsAS s, Wldgid adl 2, dl DAL UL 56 B2 o1 -l ?

(A) yedl 2124 sl
(©) eRw-l Al 2R 12 oral.

A2 2uian [Qanl i al.

(B) 4 Me2ll uR 4125 Ylamal.
(D) d AAS16U PP UL At

1. uedl, g5, 618 211 Hom WlEla (Terrestrial) As1 8.
2. 31, All, Y4 2 Ay Al (Jovian) AL .
3. WlEa (Terrestrial) Al RS ALt s8un & w2 Adlud (Jovian) ALL GUEL AL sSUd O,

GuR- WSl sy [Qanq / s [Qanl 0 / e ?
(A) WA 1
(C) 1 viacu 2 U4 2isuat 1l

(B) WAL 1 244 2
(D) BURLSd Ax M

[BDV-2]
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093.

094.

09s.

096.

097.

Match List-I with List-II and select the correct answer using the code given below the lists:

List I (Volcanic Mountain) List I (Location in Country)
a. Mt Ranier 1. Philippines

b. Mt Mayon 2. Ecuador

¢. Mt Fuziyama 3. United States of America
d. Mt Cotopaxi 4. Japan
(A)a-2,b-3,c-4,d-1 B)a-3,b-1,c-4,d-2
(C)a-4,b-3,c-2,d-1 MD)a-1,b-2,¢-3,d-4

Which of the following cities is not the present capital of the respective country?

(Country) (Capital City)
(A) Kazakhstan — Nur-Sultan
(B) Ethiopia — Addis Ababa
(C) Myanmar — Yangon
(D) Kenya — Nairobi

Match List-I with List-II and select the correct answer using the code given below the lists:

List I (Production) List II (Leading Producer)
a. Mineral Oil 1. South Africa
b. Copper 2. Australia
¢. Manganese 3. The USA
d. Bauxite 4. Chili
(A)a-4,b-3,c-2,d-1 B)a-1,b-2,c-3,d-4
(C)a-3,b-4,c-1,d-2 MD)a-3,b-1,c-2,d-4

Which one of the following will not happen, if the percentage of carbon dioxide increases in the
atmosphere?

(A) The earth will heat up
(B) Ice will melt at the poles
(C) The sea level will decrease

(D) This will increase the amount of greenhouse gases.

Consider the following statements

i. Earth, Venus, Mercury and Mars are terrestrial planets

ii. Jupiter, Saturn, Uranus and Neptune are Jovian planets

iii. Terrestrial planets are called inner planets and Jovian planets are called outer planets
Which of the statements given above are correct?

(A) i only (B) i and ii only

(C) Neither i nor ii (D) All are correct

[BDV-2] rro. B3
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098.

099.

100.

101.

102.

103.

‘{[iférﬂq (Perihelion) wdl Rald 9 3 Fui....
(A) yedl gl Akl g2 Siu 69, (B) uadl 2l Alell 1205 lu 6.
(C) el 24 Yl a2l g 2ud 9. (D) 3 24 sl a2 yed) 2ud 9.

A A vl A 2R 2FHgd w3sl A uHr (dominating) AME Adllgq
$AHL 204 6.

(A) 2Rd5 21BA5a vis sl 24 oilBs xBAgA wsst

(B) 3&Rls g vissl 2A Hls 2BA5A W3Sl 21el HEls 2BRLd visst
(C) w2i-ls 21 5a w35l w1 sudultrud (hypabyssal) 2ER5d visst

(D) 21¢214515 2ABA5d w35l 2R S1dulBrud (hypabyssal) AR 5d v3sl

8dlsudl gedl A d AHA Beut Ydl [AlA8 usIR-L d22U M Ad AL dZiHi [Aeud sl
w14 69 ?

(A) s a3 (B) SR azou

(C) Wl -l (surface) A3l (D) BURLSd AxIM

U2l HIAWR (Pacific Ocean) (A2 1A WA 5y (At / sun [Qunl 2] / 01 6 ?

1. N2d HSIRAR Aldl ay Avaiml 21yl q1d 8.

2. ulZam (312l 21yl 21y $HA (island arcs) 241 33371 (festoons) (HWUSIR 20y24L) 2l MR AL 89 R yd
(312 wa AL 20y 21l 69,

3. alid HSRARIRAL 21y vidly 21y, 21y, sHIA (island arcs) i1 522+ (festoons) (HWUSIR 21Yil)
i £92169UUL Ll LY AAUHL AL sReUMT U 8.

{12 U4 uloy [Aseu uie 42U,

(A) 1,241 3 (B) WA 2

(©) WA 1 (D) GURisd WAl visur ]

A1HIY, Fld A8 [AeURl 2w kel (ARl sl Ay ARH 1L, S-S ...

1. 20 Gellol 2= @l*&ﬂ 1801 d=t (Central heating system) A 51201 A1) 23 UgL W €9,

2. 28271 B2l AR”AR 5141, 27 SHIRALAL ARH) 285 dRyul.

3. 6iR21u $2di [A4l201 BuR aldiazella UgHEL g1R1L 202918l A2,

GuL U4 £y Qe / su (Al aca 69 ?

(A) WA 1 241 3 (B) WiaL 2 1A 3 (C) WA 1 241 2 (D) GuRisd dxn

s10fl ol (Chernozem soil) .......... 6.

1. Alefl ay sngu, nu o1, 22U (step) (HEL) UeAHL A HIL 8.

2. ArdlA %581 (humus) 243 ULl vl Gau 41adl 2l 21[asRid i,

3. HEY VA 1R 0 NS AN Al HAAL v A,

Bu-iL U4l 59 510l %3l (Chernozem soil) )l cualBisay41 € ?

(A) "= 1 (B) Wi 2 ¢4 3 (C) 11 3 (D) 1,241 3
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098.

099.

100.

101.

102.

103.

Perihelion is a condition in which

(A) The earth is farthest from the sun

(B) The earth is closest to the sun

(C) The moon comes between the earth and the sun

(D) The earth comes between the sun and the moon

On the basis of the chemistry and mineralogical composition the igneous rocks are classified into
the following dominating groups

(A) Acidic igneous rocks and basic igneous rocks
(B) Felsic igneous rocks and mafic igneous rocks, ultramafic igneous rocks
(C) Plutonic igneous rocks and hypabyssal igneous rocks

(D) Ultramafic igneous rocks and hypabyssal igneous rocks

The different types of waves generated during the occurrence of an earthquake are generally
divided into

(A) Primary waves (B) Secondary waves
(C) Surface waves (D) All of the above

What is true for the Pacific Ocean?
i. The Pacific Ocean has the largest number of islands

ii. The western coast is studded with islands, island arcs and festoons while the eastern coast has
only a few islands

iii. The Islands of the Pacific Ocean are grouped into the continental islands, island arcs and
festoons and scattered smaller islands

(A) i, ii and iii (B) Only ii
(C) Only i (D) None of the above

Urban areas are generally warmer than the surrounding countryside because of

i. the direct production of heat in the city from fires, industry and central-heating system
ii. the heat-conserving properties of the brickwork and fabric of the city

iii. the blanketing effect by atmospheric pollution on outgoing radiation

Which of the above statements is/are correct?

(A) i and iii (B) ii and iii

(C)iandii (D) All of the above

Chernozem soil is

i. most fertile, black in colour, found in Steppe region

ii. highly under-developed soil having deficiency of humus and important minerals
iii. basic soil found in hot deserts of mid-latitudes

Which of the above are the characteristics of Chernozem soil ?

(A) only i (B) ii and iii

(C) only iii (D) i, ii and iii
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104.

10S.

106.

107.

108.

109.

CUIRA ARSIR GIRL IRAA A%L WS USUAA e azedl A=) 2011 Yared Al 244 210 Wl [A=duw
Q2 yored €9, sul 321 Al el ?

[yeal (& otz ALERAL azdloflaal
(A) AHOIR 990 58.82% 584
(B) cawdl 1007 68.26% 257
(C) "ML 961 72.31% 210
(D) o 1006 75.16% 129

-

HIRATL WoALd HEAL i d % 2201 sidal 9 d-ll 2l DA 2uudl €. 56 A aioy Ad Asiadl «dl ?

(A) AU UAY gl2d — HUYR (B) A& sAlaR sld — Qe
(C) s8¢ A Udxn — AyR (D) agll [Qeun Wax — asien

Daleu [Qan-ini Yo 6ig 2 dud Aaon [Qodl >uda 8. sy [Aa A el ?

1. %~ (Ennore) 6ig2 (dlRa-ly) xaal 51492 (Kamarajar) g2 [AM23 d eudd wilds
(inaugural) siuile oigR 69,

2. Wkl oigR (ARR) - viRRHL H8IEl 21 sioun-l vl s U R 9. d 2uxEl usdl
@URdArL Yd eRuisis [Ruivl sami 2uda uam vig .

3. [Aauviuzy vie: (wiauew) - [Qeuviugy vie o [ vigedl uat nelld € d 24 daRaAL (berths)
127, 193341 U] 2044 yd [3UR 2udg, turd Alell o w813l (shipyard) €.

4. 51l vigR (sRu25) - 51l ol A tRd-w elERL Ul (3R 2udy HeTarl vigAuid 25 6. d-ll
UL 1958 i 4 sl
(A4 (B)3 ©2 D)1

ol [Rxt-laloti How [ A1 U4 5 (Aot AL 8 ?

1. 24 HUUL QAL AR 5161 Precuni Jeuundl dunui M €9,

2. d vRaelHl Adli AgeuqHl uee WA 2udg ©.

3. v 2 (Adell Ao 45 aelld ©.

(A) WA 1 (B) W2 2 (©)1,2¥13 (D) WIsL 1 241 2

A2 WA 54 wRewn aAgd-u [Ruiami saia deL 53 8 ?
1. 84 2. Gl 3. 941 4. s
(A) WAL 1 244 2 (B) WiaL 2 1A 3 (C) WA 3 i1 4 D) 1,2,3 41 4

DA U £y [Qenn / sa [Qeunl ) /a8 ?
1. %=1 €2 2 Uldan 1000 -l adl €16 did %-H-l v €.
2. 4y e 2 A 1000 - azdl €ls yeyll dva .

3.6U0 Yy €2 (infant mortality rate) >l 1000 @dd %4 €ls 1 auell Uil Gu-1 sunsi-i yey-ll
vl 69,

(A) HaL 1 244 2 (B) HIA 2 211 3 (C) 11 3 (D) 1,294 3
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104.

105.

106.

107.

108.

109.

The detailed analysis of Population and other data as per Census 2011 published by Govt. of India
for Gujarat state is as under.

Which data is not correct?

DISTRICT SEX RATIO LITERACY DENSITY
(A) Jamnagar 990 58.82 % 584
(B) Tapi 1007 68.26 % 257
(C) Narmada 961 72.31 % 210
(D) The Dangs 1006 75.16 % 129

Famous palaces in India & their locations are given below

Which pair is not correct?

(A) Rambagh Palace Hotel, Jaipur (B) Wildflower Hall, Shimla

(C) Fernhills Royal Palace, Mysore (D) Lakshmi Vilas Palace, Vadodara

List of major ports with necessary details are mentioned under. Which statement is not correct?
1. Ennore Port (Tamil Nadu): OR Kamarajar Port Ltd. : It is India’s inaugural corporate seaport.

2. Paradip Port (Orissa): located at the junction of the Mahanadi and the Bay of Bengal in Orissa,
it was the first seaport built on India’s eastern coast after independence.

3. Visakhapatnam Port (Andhra Pradesh): The Visakhapatnam Port often known as Vizag port,
is India’s oldest shipyard, located on the country’s east coast; it was established in 1933 and it
has 24 berths.

4. Cochin Port (Karnataka): The port of Cochin is one of the most important ports in southwest
India. It was founded in 1958.

(A)4 (B)3 ©O2 ™1

Which facts are true for Chitra Vichitra Fair in Gujarat?

i. The fair takes place in the village of Gubhakhari in Sabarkantha district of Gujarat
ii. It is located in the foothills of Aravalli range near Rajasthan border

iii. This place is called Triveni Sangam

(A) i only (B) ii only (O) i, ii and iii (D)iandii

Which of the following factors discourage settlements?
i. Cold ii. Altitude iii. Heat iv. Drought
(A)iandii (B) ii and iii (C)iii and iv D) i, ii, iii, iv

Which of the following is correct?
i. Birth rate is the number of live births per year per 1,000 of the population
ii. Death rate is the number of deaths per year per 1,000 of the population

iii. Infant mortality rate is the number of deaths of children below 1 year of age per 1,000
live births.

(A) i and ii only (B) iii and iii only (C) only iii (D) i, i, iii
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110.

111.

112.

113.

A2 W) 56 ouotd nidU URuMzu e ?

1. 2idRs €353 (movement) A 121 244 ASAU [As12 A €L o 9.

2. xidlRs 8282 Al A1l 220U 244 GuA21R1 Al AL [AriRiAL Seal 52 69,
3. 6U&L ANidR v 534 il gollg Rddls@ 83 8.

4. ANIAR HIAAAAl Ui $UR (receiving) -l Ml arRl 3 €9,

(AW 1,2 ¢4 3 (B) 1A 3 211 4

(C) WA 2 21 3 D)1,2,3 %1 4

MURAAL A1&RAL €2 (AL DA UL 54 (At / s (Al 0 /a0 6 ?

1. ALl Gl ERcL £ A1 501 GURAML ULH 54 69,

2. 50 6uig ollon s3 [RosiRH 2ud 8.

(A) WA 1 (B) {12t 2

(C) 1 %11 2 i 2 89, (D) 1 244 2 6 L 9.

A=A WS sun (Qau-l i ?

1. SIHEIRL 5 BHEL AE R AHAUNUAAL HI2L AL (A2l £9 HISAL S ddl af) AHU ERUA 511 54 8 duA
Hu SIHEIRL AZLS NN 21d 8.

2. SIMEIRL § B AL AHUAOUAL Hi2L oLl (A2l €9 HIS-usll 2Hie91) UMY eI 511 53 L 8
dud Afluid SIHERL A5 Gnvicani »ud 8.

3.% s 2y Alsadl ol uR Y-l a3usl, 200 USR5 (SR UKD dart Hoadl W 511
5369 drl vld HYR AARIAHL H1d €9,

(A) 1,291 3 (B) HIA 1 241 2

(C) WA 2 ¢4 3 (D) st 1 244 3

A 2uuan [QaHl i al.

1. ALS5A AHAUUU 2141 2L [R5 247 dHIH HIAAMLA 2L AU 2UALAAL YA QAL dSLdn
AR 851HS Adart sSUHL 21d 8.

2. el $&4 (RS He 5@ nAlAL HEU 5l Ay Sld, dl d UUR Adad 4d 8.
3. UUIRT, S 5IRUHS UG HRAAAL 22U QUUIR ARIEIR A2 dZlS BNy 8,

4. AR, 5RAHS A HRAAAL 8 AR SAEIR AR d3L5 HLNBUY 8,

Q2 2uuen sisHl Gualol 520 w2l gt we 53U

(A) {1 1 211 2 (B) WAt 1

(0©)1,2,3 21 4 (D) {1 3 1A 4

[BDV-2] [Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


110. Which among the following are the results of Migration?

111.

112.

113.

i. Internal movement leads to the growth of towns and cities

ii. Internal movement can lead to establishment of new towns and the spread of suburbs and

urban sprawl
iii. External migration can lead to depopulation especially in rural areas
iv. Migration increases the population of the receiving countries
(A) i, ii, iii (B) iii and iv

(C) ii and iii (D) i, i, iii, iv

Which of the following is true for Literacy rate in India?
i. Kerela ranks first in India with highest Literacy rate

ii. Mizoram follows Kerala

(A) only i (B) only ii

(C) both i and ii are correct (D) both i and ii are not correct

Which of the following statement is correct?

i. Those workers who had worked for the major part of the reference period (i.e. 6 months or

more) are termed as main workers

ii. Those workers who had not worked for the major part of the reference period (i.e. less than 6

months) are termed as marginal workers

iii. A person who works on another person’s land for wages in money or kind or share is regarded
as an agricultural labourer
(A) i, ii and iii (B) i, ii only

(C) ii, iii only (D) i, iii only

Consider the following Statements:

i. The difference between the value of a nation’s exports and imports of all goods and services over

a given period of time is called positive balance of trade

ii. If the value of the total exports is more than the value of the total imports in a country, it has a

balance of trade
iii. A country with positive balance of trade is known as trade creditor nation
iv. A country with negative balance of trade is known as trade debtor nation
Select the correct answer using the code given below:
(A) i and ii only (B) only i

(C) i, i, i, iv (D) iii and iv only
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114.

115.

116.

117.

118.

119.

2l WAL 53y (s / s Qs i /e 6 ?

1. MR- an-lld 21 Al uamaR 1894 Hi sl 2udl 8dl 24 cuReue 1952 Hi YA 2udl ¢dl 244
AHl 1988 Hi Yr:YHIRL SAUHI 2l Sdl.

2. 219l W (A2 an [Bad a3 Garaami »ud €.

3. U512 gIRA 1980 Hi art 28R ALBRUM B3] 20l § P antll gHlnA 214 5185 S W2 JuidR sa
uz uldeiy cue ©.

A2 2uUa sisHl GUULL 53] A1AL FAUG URAE 53U,
(A) WA 3 (B) HAA 1
(C) WA 2 21 3 (D) 1,243

(3200400 ot AvHIHE Sl A i 6 ?
(A) $as2i-ls uRuani [agla

(B) Aas1ad1-A-L A1RSINL (solar cell) =L 51
(C) u®a Yyl u2 uldgn x1u2

(D) BuRsd dH

A5 2 A5 AU BUR glRaMi 2iadl iDL (intersecting) JUUHL ........... 6.
(A) xaia (B) 2wl
(©) culas A3 (D) Buisd U4 2isuat 4l

£ A1 us12L 2-udl eulda i ¢ ?

(A) yzdl-u At (B) Aluti-L 49 (interstellar dust)

() (A) ¥4 (B) tinl (D) Buisd Ul visuat 1l

-l Asiudl .......... gl uR aun (s Adl) [(Paithan) (Jayakwadi)] st [Agya Mg s2 Yl s
SN RN

(A) 22U (B) s1ddl

(C) -MeL (D) et

gl curaui [Radlld-l 25l el 93 Raa wme .......... AL AUH AN 89,

(A) Waae 92 (The Palghat gap)
(B) MiRHI2 &2 (The Bhorghat pass)
(C) waae e (The Thalgat pass)
(D) tlld- &2 (The Bolan pass)
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114. Which of the following is a true statement?
i. The forest policy in India was first formulated as early as 1894, revised in 1952 and again in 1988
ii. March 21 is celebrated as the World Forest Day

iii. The Government enacted the Forest Conservation Act in 1980 which restricts conversion of

forestland to any other use
Select the correct answer using the code given below:
(A) only iii (B) only i
(C) ii and iii only D) i, ii, iii

115. The hazards of radiation belts include

(A) deterioration of electronic circuits

(B) damage of solar cells of spacecraft
(C) adverse effect on living organisms

(D) All of the above

116. The intersecting lines drawn on maps and globes are
(A) latitudes (B) longitudes

(C) geographic grids (D) None of the above

117. The light of distant stars is affected by
(A) the earth’s atmosphere
(B) interstellar dust
(C) both (A) and (B)

(D) none of the above

118. The Paithan (Jayakwadi) Hydro-electric project, completed with the help of Japan, is on the river
(A) Ganga (B) Cauvery
(C) Narmada (D) Godavari

119. The pass located at the southern end of the Nilgiri Hills in south India is called
(A) the Palghat gap
(B) the Bhorghat pass
(C) the Thalgat pass
(D) the Bolan pass
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M

120. GURAML BH (Jhum) vid) (A2l DA WAL sy (A i €9 ?
1. d HEEig 2uAHMHL 21 B,
2. d 249 =3 61 (Slash and burn) ds-l4l a5 2ioeuy 69,
3. 2 us1RAl vidlui s0gudl ALsLs asiHl vy 2 onu 6.

BuR- WAL sy [Aanq / s (sl 0 / e ?
(A) 1,241 3 (B) WA 2 ¢4 3 (C) {1 1 211 2 (D) {A 1 94 3

121, 1A AHUR AN (Ramsar Sites) 241 A%l AL i€l 200l 9. 585 A dl Al 9 ?
1. vllordlul aru2a AU — YA RAd
2. suvil2l (Bakhira) 4-d@d AHARQY — G Ml
3. 513196l uall vimuiReu — alfang
4. v AR (Sakhya Sagar) — &L U
5. we goafdd & — Mo
U1y [d5ey uaie s2U.
(A) 1,213 (B) 2, 3 ¥ 4
(©) 3,441 5 D) 1,2,3,4945

122. 1A [@las usR-N valaelly audl (Environment convention) i[Baui 200l . d gu-ui 4l
1. AHAUR AHYAL — d gl -l anogdl sdau 9.
— d 197141 S AHA AL 1 s1cuni 2udl edl.
— d 19754 2uani 2udl
2. @5l Q{H"zg\cﬂ : —d [ sweils 3{2_,}[3\[ (Persistent Organic Pollutants) (POPs) [asiHl
AHYdl s 69,
— d 20014 @, dleRdAxs viid ddlsiaui 2ud).
— d 200420 21441 2udl,
3. suial (Kyoto) A%g1E) Rreur (Protocol) :
— d gy A8 auRnA 85 2 du-i Gualaefl Gemadl cueiil awoll
v AL aduell 24911 Flas Alaadirl Anogdl-l 2=iadlu wulaella
%513 Rr21R (Protocol) 8.
— d 201031 1 s1RcUHI 1l
— d 20149 2HAUL 20,
4. [3ondl 5212 (Kigali Agreement) :
— d Hirglud Agidl (el 2da yaRL e,
— d 201631 1 s1RcUMI 1l

— d 20198 HHAH]I el
Bu-L U 56 AHLAlAL HR AL 20120 A8l ?
(A)4 B)3 ©)2 D)1
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120. Which of the following are true regarding Jhum cultivation in India?
L. It is largely practised in Assam
IL. It is referred to as ‘slash and burn’ technique
III. In it, the fertility is exhausted in a few years
(A) L II and III (B) II and 111
(C)Iand II (D) I and III

121. List of Ramsar Sites and the State, is mentioned below. Which pair is correct?
1. Khijadia Wildlife Sanctuary in Gujarat
2. Bakhira Wildlife Sanctuary in Uttar Pradesh
3. Karikili Bird Sanctuary — Tamil Nadu
4. Sakhya Sagar — Madhya Pradesh

5. Pala Wetlands — Mizoram
(A)1,2and 3 (B) 2,3 and 4
(©)3,4and 5 D)1,2,3,4and 5

122. Brief about different Environment conventions is mentioned below.
1. Ramsar Convention — It is called the Convention on Wetlands
— It was adopted in the city of Iran, Ramsar in 1971.
— It came into force in 1975.
2. Stockholm Convention — It is a convention on Persistent Organic Pollutants (POPs)
— It was adopted in 2001 in Geneva, Switzerland.
— It came into force in 2004.

3. Kyoto Protocol —1It is an international environment protocol on Access to Genetic
Resources and the Fair and Equitable Sharing of Benefits Arising
from their Utilization (ABS) to the Convention on Biological
Diversity (CBD).

— It was adopted in 2010.
— It came into force in 2014.
4. Kigali Agreement — It is an amendment to the Montreal Protocol.
— It was adopted in 2016.
— It came into force in 2019.
The data for which convention is not correct?

(A)4 (B)3 ©)2 D)1
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123.

124.

125.

126.

STERI DRTTE P Oﬁ,i\l (Bureau of Indian Standards) (BIS) (42l -1l 2nda [dau-i euqui @l
1. d Rl 83U Hins A2 69, %+l 2au-il BIS 2AlBRUH, 1986 Acdid scuHi 2ud) €.

2. M550 (Standardization) il 2iAWl2d (harmonious) (A5t W2, dp@aniiad Wl 2 uHldd s2a
d2l HIRAHL HA 2 0l ula e BIS 2AMAUH 201620 dHi IR0 a1 SAHT 21l Sdl.

A 2 S13HL Gualol 530 AL FAsL YA $3U.
(A) WA 10y 8. (B) WAL 2 13 69,
(C) o1l 1 dL 2 AL 89, (D) 1 1aa 2 2i5 gL 0 4.

TIHs (22 A1 2utan [Qa-l 2uqui al.
1. M1RAHI 25 Technology Innovation Hub (TIHs)-l 22u-l s 2ud) €9,

2. 1T [2¢dl vid I-Hub Foundation for Cobotics (IHFC) ¥ 25-1lal® adlsa w2 s 530 28 8. Hira
612 ASURL W2 SIS viac AUl A6 S

A2 2y an i3l Gualol 530 AL UL YAUE $3U.
(A) A 1Y 9. (B) HiA 2 13 €9,

(C) 611 1 AL 2 1L 89, (D) 1 1ac 2 245wl 20l 9.

([Qsu v (@9l DA [Qnl i al.

1. [dsun MAR (Vigyan Prasar) (VP) 2 &URd 4512 [Asur 241 dslél Hsuau (Department of
Science & Technology) (DST) 8601+l 15 iutt A1 .

2. VPl 4 84 [Bedli [Asun alsBia a1 Wi Aa 2l 8.

A 200a si37 GUULDL 53] A1AL FUC YRAE S3U.

(A) WA 10y 8. (B) WAL 2 13 69,

(C) 611 1 A2l 2 AL 89, (D) 1 218al 2 25 w0 -9l

AR HIARRH [AzaRun (A9 Dl [Qaunl 2uHi |l

1. AR ‘-ﬁ&t{i&‘-l (@23 ‘Automatic Sluice gates’ dl ‘block irrigation system’-ll Rl w2 el
89, % o1 2% S 21o0u6{241L 12U 9. AHA UAUTILS HUR AL AT A-HLL HIRd el AU Hi
2 Y| Sdl.

2. ddl o du-il o~u [Ba 154 02304R 1 Engineer’s Day d<ls H-ilaaimi 2ud €9,
A2 21U sisHl GUULL 53] A1AL FAUG UAE 53U,

(A) WA 101y 8. (B) WAL 2 13 69,

(C) 61l 1 AL 2 AL 89, (D) 1 1ac 2 2i5 uRL 0 9.
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123.

124.

125.

126.

Consider the following statements for Bureau of Indian Standards (BIS).
1. It is the National Standards Body of India, established under the BIS Act 1986.

2. And it was updated with the BIS Act 2016, for the harmonious development of standardization,
marking and certifying for quality, as well as testing of goods and materials in India.

Select the correct answer using the code given below:
(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Neither 1 nor 2 is correct

Consider the following statements for TIHs.
1. 25 Technology Innovation Hubs (TIHs) are established in India.

2. I-Hub Foundation for Cobotics (IHFC) at IIT Delhi is working for Technology Vertical: Cobotics
or Collaborative Robotics for Human-Robot Collaboration

Select the correct answer using the code given below:
(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Neither 1 nor 2 is correct

Consider the following statements for Vigyan Prasar.

1. Vigyan Prasar (VP) is an autonomous organization under the Department of Science and
Technology (DST), Government of India.

2. The principal objective of VP is to serve Delhi’s science popularization agenda.
Select the correct answer using the code given below:

(A) Only 1 is correct

(B) Only 2 is correct

(C) Both 1 and 2 are correct

(D) Neither 1 nor 2 is correct

Consider the following statements for Sir Mokshagundam Visvesvaraya.

1. Sir Mokshagundam Visvesvaraya is recognized for creating the ‘automatic sluice gates’ and
the ‘block irrigation system’, both of which are today considered engineering wonders. He was
awarded the Bharat Ratna, the highest honour presented by the Indian Republic.

2. And that’s why Engineer’s Day is observed in India on his birthday, September 15th.
Select the correct answer using the code given below:

(A) Only 1 is correct (B) Only 2 is correct

(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

[BDV-2] rro. 8



CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


127.

128.

129.

130.

‘SAKSHAT? (43l 0121 [Qan-l Lunui @l
1. d ‘SAKSHAT?’ - One Stop Education Portal -ud+{l deizuse €.

2. axH [Qenguvndl 214 [Quaini G221 gt e-content dulR 53l ‘SSAKSHAT’ BUR »udls sAHi
248l

A2 2uucn [aseu-l Guaior s30 Al FaoL ude s:1.
(A) A 1Y 9. (B) HiA 2 13 €9,
(C) 611 1 AL 2 1L 89, (D) 1 1aa 2 245wl 20l 9.

SWAYAM (a9 N [Qtu-l i @l
N\ _C

1. SWAYAM (Study Webs of Active-learning for Young Aspiring Minds) MOOC+, Wesi vl
202241 AICTE g2 Uidi-l {ld (indigenously) [Asuauui 2uey €.

2. SWAYAM Hi AGQUASHL 3 AU dUR $UML 20agl. (1) 894 vl (video lectures) (2) U
AUR sAUML 2udY alu AU 5 % 1Gals [ Bire 530 asil. (3) uslan 2 sdlo giRlL a-Heuis
EENTAR

A 2den [Qseu-l Guaiol 530 1AL Fauet YRAE 53U,
(A) WA 1013 6. (B) WAL 2 13 69,
(C) 611 1 24 2 0L 89, (D) 1 a2 245 4L 20l 9.

Wleas (Margdarshak) (gl D2 [Qtu-l Luqni Al

1. 20 Ao AR, ARy Qe [Qe (Aani €iu 5 Rgn)d weteads ddls wnist sami 20ad 3
% cueel 22 NBA -l Hirddl Wid s2a a2 ds4lél Risadl dpeiann yaar weleel »uua
U501 AU sIR adls s 52,

2. vl Hteesid uRue uRag a2y (aralds wal 2ga1R) 244 uld [Ban 31 5000/- Hi-e dd--l
ysagll 52 ©.

A2 2 [Qseudl Guaiol 531 1AL B UAE 53U,

(A) WA 10y 8. (B) WAL 2 13 69,

(C) o1l 1 daL 2 A1 89, (D) 1 A2 2 25 YRt L .

E-Governance [Q2 12+ [Qau-l 2uui al.

1. S-ota--u A3 Al Guaoy s, HURA AR asRiqL [@ARAHY dar U812 214 walRkst
23] [Alay dat caqzaiil v Al Asa W 25012 2uRd dari-A (n) ©.

2. S-dra-d--l eyfRst wiA guetgilsing A cueidiql amde adi 1l 321 A2+ naell, 2ias«
RWVAUAL AAA 21 anaell, sy 321 sindl anagl), IT qtiffd 8-l Gualoy 24 anagl
(81542 211 Als2dR) Q2R

A 2 [Qseudl Guaiol 530 1AL Faet YiE 53U,

(A) WA 101y 8. (B) HaL 2 13 69,

(C) 61l 1 dl 2 AL 89, (D) 1 1aa 2 2i5 uL 0 9.
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127.

128.

129.

130.

Consider the following statements for SAKSHAT.
1. It is a website named “SAKSHAT” a ‘One-Stop Education Portal’.

2. The high-quality e-content once developed will be uploaded on SAKSHAT in all disciplines and
subjects.

Select the correct answer using the code given below:
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following statements for SWAYAM.

1. SWAYAM (Study Webs of Active-Learning for Young Aspiring Minds) MOOC Platform was
developed indigenously by AICTE in 2022.

2. The courses hosted on SWAYAM are in 3 quadrants — (1) video lectures, (2) specially prepared
reading material that can be downloaded/printed (3) self-assessment tests through tests and

quizzes.
Select the correct answer using the code given below:
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following statements for Margdarshak.

1. As per this Scheme, Senior academicians (serving or superannuated) shall be nominated as
Margdarshak (MD) to act as individual mentors for guiding beneficiary institutes to achieve the
NBA accreditation and enhance the quality of technical education.

2. Council is making payment of Travelling Allowance (as per actual) and Honorarium of Rs.5000/-
per day to these Margdarshaks.

Select the correct answer using the code given below:
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following statements for E-Governance.

1. E-Governance is Technology driven Governance for delivering Government Services, Exchange
of Information, Communication, Transactions and Integration of various Systems & Services
between Government & Citizens.

2. Roles & Responsibilities of E-Governance are excluding: Data Centre Maintenance, Development
& Maintenance of Online applications, Maintenance of Institutional database, Procurement &
Maintenance of IT related equipments (hardware and software), etc.

Select the correct answer using the code given below:
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

[BDV-2] rro. 53
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131.

132.

133.

134.

135.

MMP (G2l {12 [Qannl eaqui al.

1. Urftn, 2asdl, A dgr wauie 1 54 Mission Mode Project (MMP) 6.
2. 5[, aieu, [RigL 249 Wl ulRas- 21 A%4 Mission Mode Project (MMP) €.
A2 2 [Qseudl Guaiol 530 1AL Bt YAE 53U,

(A) WA 101y 8. (B) WAL 2 13 69,

(C) 61 1 AL 2 AL 89, (D) 1 a2 25 L 0 9.

{12 2004 25182 (Acronym) LML Al

1. INCOSPAR - Indian National Committee for Space Reseach

2. TERLS - Thumba Equatorial Rocket Launching Site

2 2uuen [Aseuqdl Gualol 530 Al s uiE $2U.

(A) HAA 1013 6. (B) WAL 2 13 69,

(C) 611 1 A2l 2 AL 89, (D) 1 21dl 2 2is uL 0L -l

ISRO Ut 5+ (A9l A=A [QauAl 2ol al.

1. U, 50125 Ay GIWLA, HEL Ueel vild 21dd SURUd 25 5% Master Control Facility (MCF) 1
ISRO -l dHIH Geostationery / Geosynchronous (Gj\—%ﬁ{l?n/(ﬂ;%iisﬁ-ld) Guasi Apollo, Aura, Aqua,
Terra, Gemini, Glory A2l suuy A [ 53 69,

2. MCF ¥l Guaisi-u sixisau Gl s, in-orbit Payload testing d2l 21l GUACIAL AHA A5 (life)
€31 on-orbit SIHANEL W2 FAUALIR €,

2 2u0an [Aseusl Guaiol 530 1Al aiet vrie 2.

(A) WA 101y 8. (B) HLaL 2 13 69,

(C) 61l 1 dL 2 AL 89, (D) 1 1aa 2 2i5 L 0 9.

{12 2u0a1 51831 (acronym) RAUAHI Al

1. ESCES - Experimental Satellite Communication Earth Station

2. SITE - Satellite Instructional Telecommunication Experiment

12 2uden [Aseu-dl Guaiol 530 A1l st wre s3.

(A) A 1 9. (B) HiA 2 13 €9,

(C) 11 1 L 2 A1 89, (D) 1 a2 245wy 20l 9.

ISRO (a3l Al [Qau-l La-ui al.

1. AstroSat, MOM 3 [SRO-U Adldia Guas (Navigation Satellite) 6.

2. SITE, STEP ¥ ISRO -l ulRs¢u-1il (projects) / W22l (experiments) €.

A2 2den [Qseudl Guaiol 531 AL Bt UAE 53U,

(A) WA 101y 8. (B) HaL 2 13 69,

(C) 61l 1 dl 2 AL 89, (D) 1 1aa 2 2i5 uL 0 9.
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131.

132.

133.

134.

135.

Consider the following statements for MMP.

1. Pension, Income tax, Insurance and Passport are Central mission mode project (MMP).

2. Agriculture, Health, Education and Road Transport are State mission mode project (MMP).
Select the correct answer using the code given below:

(A) Only 1 is correct (B) Only 2 is correct

(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following acronym.

1. INCOSPAR - Indian National Committee for Space Research

2. TERLS - Thumba Equatorial Rocket Launching Site

Select the correct answer using the code given below:

(A) Only 1 is correct (B) Only 2 is correct

(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following statements for centres for ISRO.

1. Master Control Facility (MCF), a centre for ISRO, at Hassan in Karnataka and Bhopal in
Madhya Pradesh monitors and controls all the Geostationary/Geosynchronous satellites of
ISRO, namely, Apollo, Aura, Aqua, Terra, Gemini, Glory, etc.

2. MCF is responsible for Orbit Raising of satellites, In-orbit payload testing, and On-orbit
operations all through the life of these satellites.

Select the correct answer using the code given below:
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following acronym.

1. ESCES - Experimental Satellite Communication Earth Station

2. SITE - Satellite Instructional Telecommunication Experiment

Select the correct answer using the code given below:

(A) Only 1 is correct (B) Only 2 is correct

(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

Consider the following statements for ISRO.

1. AstroSat, MOM are navigation satellites of ISRO.

2. SITE, STEP are projects/experiments of ISRO.

Select the correct answer using the code given below:

(A) Only 1 is correct (B) Only 2 is correct

(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

[BDV-2] rro. B3
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136.

137.

138.

139.

140.

141.

142.

143.

“The Make in India’ $14$H .......... AL AY A3 SAUHL UL el
(A) AR 2012 (B) 2R 2014
(C) A~y2uil 2014 (D) 2212 2016

(Brr-uuR AR 1R e suL e ?

(A) 215381, [Bint u12 244 ARy a4 ailayel Gualo

(B) URHIY, 213 Y5 &lotl, UMY, Blod 21 &-0lu [RURdL (regional stability)
(C) U8IcHs oli3s1l, ICBMs ddl SLBMs

(D) UMWY, 1AM 24 F(ds A4l

A1 U gL 2tld [Bin Y (Non-renewable) oAl €9 ?
(A) yRRun, sedl ay, W (B) sedl aiy, y(Run, sidex
(C) ugidlum, y(Rum, o4 Gut Glot (D) 2le 3, YR(Aum, Wél

2516 [asiu 2ul (Sustainable Development Goals) (SDGs) i {2 204l 34 astiHi sraadl Glw

(stimulate) sl glal 53 (recognize) 6.
A) C'l\l.’s\l, AL, -Zi‘i[n\&, il 244 cualleldl (People, Planet, Prosperity, Peace and Partnership)
B) alsi, us, 2111[\& arufd 24 2ua1 (People, Planet, Prosperity, Plants and Planning)

© dlsl, A8, 2{14[?&, anuld 244 cudlleisl (People, Planet, Prosperity, Plants and Partnership)
D) alsl, A, Q‘lﬂ[\s&, Aila 241 2uain (People, Planet, Prosperity, Peace and Planning)

[Rrnouni DA QA suL ABUHL HETH AAULE AA 69 ?
(A) dlRa-ug (B) Bixu
(C) g (D) R Med

Great Green Wall U84 (initiative) (A3l 121 U4 ED) [Qeun A 69 ?

(A) d 83U L BuR A 59 (SR 2ue918) atnRaidl aurd-l Adl udd (initiative) €.

(B) A d-ll Heit [Bauet (Great wall) UR drig, 2U491E A4IRAL 21 USH (initiative) Sl & €.
(C) Al %l 28 [A2A1R (desertification) -l AL 52a1 HIS 2UZ51-0 20 Uy UL (initiative) €.
(D) d AHBA AAHL At 20269181 atnan W2 ellda-dl udd (initiative) €.

AP ARHL A 2 AYUR HoALAA SIHEIRL W2 ded uiZa A3 534 8. d uldad UM .......... 8.
(A) %S-bi‘-dld EL] (E-Amrit Portal) (B) ¥ X TURNEL] (Jan Samarth Portal)
(C) W1 EV uigd (My EV Portal) (D) $-24 UiZd (e-Shram Portal)

s {4 loed udd (Digital initiative) ‘UTSAV’ U2 23 534 €9 ?
(A) Meuur Hnay (B) 4l Huau
(C) Qa1 Houan (D) AU HAAY
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136.

137.

138.

139.

140.

141.

142.

143.

Programme “The Make in India” was started in
(A) November 2012 (B) September 2014
(C) January 2014 (D) September 2016

What are the three pillars of the Non-Proliferation Treaty?

(A) disarmament, non-proliferation and peaceful uses of nuclear technology
(B) nuclear weapon-free zones, nuclear power and regional stability

(C) strategic bombers, ICBMs, and SLBMs

(D) nuclear, chemical and biological weapons

Choose the set of non-renewable resources
(A) Uranium, natural gas, soil

(B) Natural gas, uranium, phosphates

(C) Petroleum, uranium, geothermal energy

(D) Shale gas, uranium, soil

The Sustainable Development Goals (SDGs) recognize that all countries must stimulate action in
the following key areas.

(A) people, planet, prosperity, peace and partnership
(B) people, planet, prosperity, plants and planning
(C) people, planet, prosperity, plants and partnership
(D) people, planet, prosperity, peace and planning

Which one of the following states receives maximum amount of rainfall during winter?
(A) Tamil Nadu (B) Mizoram
(C) Bihar (D) Uttar Pradesh

Which one of the following statements regarding the Great Green Wall initiative is correct?
(A) It is India’s new initiative to increase the green cover along the National Highways.

(B) China has taken this initiative along its Great Wall to increase its forest cover.

(C) It is Africa’s flagship initiative to combat the increasing desertification.

(D) It is Brazil’s initiative to increase the forest cover in the Amazon region

Recently Ministry of Labour and Employment launched a digital portal for workers. The name of

portal is:
(A) E-Amrit Portal (B) Jan Samarth Portal
(C) My EV Portal (D) e-Shram Portal

Which Ministry has launched a digital initiative “UTSAV Portal”?
(A) Ministry of Tourism (B) Ministry of Culture
(C) Ministry of Education (D) Ministry of Health

[BDV-2] [PT.0.
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144.

145.

146.

147.

148.

National Payments Corporation of India (NPCI) N ERE URUIZ 5N AL (umbrella organizaiton)
8 %...

1. MURAHL €925 U5ARU (retail payments) A At Mouell (settlement system) . AA1AA W2
51434 69,

2. d *iRdld And 6ivs (RBI) 241 Indian Banks’ Association -l U4 (initiative) €.
3. BHIM ¥l NPCI gL [dsuaqiui 2ud) 69,

Guu [t WAL sy [Qamysun [l a6 ?

(A) WA 3 (B) Hiat 1

(C) {1 1 311 2 (D) BURLSd A M

RURAML AR Y& HIG AR g1RL 1Al udd (initiative) Sl 4auui 2udl €.
1. A5l Cyber Space dl ¥l2a 1idR v [Asuauni >uy 8.

2. AHA HIRAHE HURL Y22 290 [z 214 2)ld stdsHl g1 4auml uea 8.
3. AR infected 51742 YAl W2 Su-lzAl rdlaiuzu WA duIR 53 6.
GuR-t [Qau-l Ul sy [Qae/sa [Qaqi a8 ?

(A) WA 3 (B) H13L 2

(C) A 1241 2 (D) BURASd M

DA UL 56 Yg 25+ GuRani Al 2y 4l ?

1. Qo 2. T-72 3. %% 25 MK-2 4. AMX-13
A2 2 [Aseunl Guaial 530 0l el vie s3i.
(A) 1312 (B) 2 ¢ 3 (C)2 1 4 (D) "1~ 4

Agni-TV [Ruda-n deeiui a1 U sy [Qauny/sa [l ac © ?

1. d il orafl (surface-to-surface) uHl Buda 6.

2. d Wizt Nl widdr2 g1 o A 8.

3. d uuedly A AAH (nuclear weapon capable) Ruda 6.

4. d 202R 7500 (5.4 g2l s 21 MY sRARL usiAdl w3 8.

A 2t [Aseunl Guaion 531 A1 Aol uie s3U.

(A) " 1 (B) 121 3 (©) 1,213 (D) BURAsd dHIM

a1l Adl Glod Dla-u you Sqil :

1. Wi ddl [3ud Guasy

2. yarew (improved) 53¢l Glod AcMdl 244 2l

3. ay 2516ug] 241 2uls 9l

A2 20 [Aseunl Guaial 530 1l el vie s3i.

(A) {1 1 241 2 (B) WAt 2 (C) 1= 3 D) 1,241 3
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144.

145.

146.

147.

148.

National Payments Corporation of India (NPCI) is an umbrella organization:

1. It works for operating retail payments and settlement systems in India

2. It is an initiative of Reserve Bank of India (RBI) and Indian Banks’ Association
3. BHIM is developed by NPCI.

Which of the statements given above is/are correct?

(A) 3 only (B) 1 only

(C) 1 and 2 only (D) All of the above

Following initiatives have been taken by the Government for cyber security of India.
1. Government cyberspace and critical infrastructure have been developed,
2. Information security education and awareness programme has been launched all over India,

3. Companies produce antivirus programmes to prevent infection from viruses and heal infected
computers.

Which of the statements given above is/are correct?
(A) 3 only (B) 2 only
(C) 1 and 2 only (D) All of the above

Which of the following battle tank is not built in India?

1. Vijayanta 2.T-72

3. Arjun tank MK-2 4. AMX-13
Select the correct answer using the code given below;
(A)1and?2 (B) 2 and 3
(C)2and 4 (D) Only 4

With reference to Agni-IV Missile, which of the following statements is/are correct?
1. It is a surface-to-surface missile

2. It is fuelled by liquid propellant only

3. It is a nuclear weapon capable missile

4. It can deliver one-tonne nuclear warheads from about 7500 km away.

Select the correct answer using the code given below:

(A) Only 1 (B) 1 and 3

(C)1,2and 3 (D) All of the above

The key objectives of the new energy policy of India are:

1. Access at affordable prices

2. Improved Energy Security and Independence

3. Greater sustainability and Economic Growth.

Select the correct answer using the code given below:

(A) 1 and 2 only (B) 2 only
(C) 3 only (D) 1,2 and 3

[BDV-2] rro. 3
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149. cuRdln Y BGlogt (st viop=d) (412 (Indian Renewable Energy Development Agency Limited)
(IREDA)U iga{ui 12 sudan [Qaudl ea-ui al.
1. d uoeclls (2123 us1dl sull 8.
2. d i-ei-glo Andla su-dl €.
3. d 19974 2aus 8dl.
GuR uual [l Ul sy [Qay/sa [l aea & ?
(A) 1A 1 244 2 (B) H1AA 2 211 3
(©) 1,241 3 (D) {1 14 3

A Y

150. Q831 (Donkey) HI2Hl GHIc-l AMAH AL Gelnl sul RAUAHT AR €9 ?
(A) Qg (B) U2
(C) as (D) slastl

151, %l -ug wial wesn 1A U4l 56 uglaat ganer 8 ?
1. RSN (mining)
2. 3uy, [Ruial
3. aiuuidl 2ivensdl eiiae
4. caus3i-l 4Rl (Timber logging)
A 2 [Aseuinidl a1l ot ude s
(A) " 1 (B) 1,2 ¥ 4
(C)1,244 3 (D) BURisd dHIH

152. au®d A 2ARMARH, 1972 21 [Qlag usir- dA8d asidl Aowd 3 9. 20 suoid i AAdq
8oL AU Al

1. AxlY Genrt 2. AU VUHUIRRY
3. AaReL 2UR(8d &at 4. 8 2UR(8q &
A 2 [Aseuinidl a2l Al uade s3i.

(A) WAL 1 241 4 (B)HA 1,2 ¢4 3
(C) WA 2 211 4 D) WA 1,2 w4 4

153. 13 2uden HiRdIL DR 2UR(Ed &xl U5l 53 World Network of Bioreserves Wi au[dw -4 ?
(A) {1 (B) YUl Hvild
(C) Raxlldl (D) -eledl

154. gnay, uRad+ [Qal adlu 51l Ao (National Action Plan on Climate Change) (NAPCC)
idold sea (R ¢ ?
(A)8 (B) 9
e D) 10

E [BDV-2] [Contd.
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149. Consider the following statements with reference to the Indian Renewable Energy Development
Agency Limited (IREDA):
1. It is a Public Limited Government Company,
2. Itis a Non-banking Financial Company,
3. Established in 1997.
Which of the statements given above is/are correct?
(A) 1 and 2 only (B) 2 and 3 only
(C)1,2and 3 (D) 1 and 3 only

150. Where is India’s first conservation park for Donkey being set up ?
(A) Lakshadweep (B) Rajasthan
(C) Leh (D) Kolkata

151. Which of the following activities are responsible for the disappearance of forest?
1. Mining
2. Dam construction

3. Weaving basket with bamboos

4. Timber logging

Choose the correct answer from the code given below:

(A) Only 1 (B) 1,2 and 4
(C)1,2and 3 (D) All of the above

152. The Wildlife Protection Act, 1972 provides for various categories of protected area considers the

following:
1. National Park 2. Wildlife Sanctuaries
3. Biosphere Reserve 4. Tiger Reserve

Choose the correct answer using the code given below:
(A) 1 and 4 only (B) 1, 2 and 3 only
(C) 2 and 4 only (D) 1,2 and 4 only

153. Which of the following Biosphere Reserves of India is not included in the World Network of

Bioreserves?
(A) Manas (B) Gulf of Mannar
(C) Nilgiri (D) Nanda Devi

154. How many missions are in NAPCC (National Action Plan on Climate Change)?
(A)8 B)9
e D)10

[BDV-2] rro. B8
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158.

156.

157.

158.

159.

160.

161.

§-dta-u-ll You 84 ...

1. ARSI GIRIAIR Sl €9,

2. AR1R, WARSL 4 dauedl A cuaen HeE3U A dHY UM sdl.
3. Al 211 HUR AL 33l adlaz YAl s:al.

A2 S8 Guaidl 53] 1AL FUst YRAE S3U.

(A) a1 (B) ot 1 444, 2

(C) WA 3 (D) 1,2 ¢4 3

ay 2020-21 i National e-Governance Award (Q%d) S8 @il ?
(A) RailMadad (B) UMANG, IRCTC App

(C) “waud-s-u HiA [yecnd adladld (D) ASHA-Soft 1%

QA WS su1 snan @siag s %819 (Light Combat Aircraft) -l s+ azn (Rulet DRDO g1t
scuHi 2udl €9 ?

(A) JYOTI (B) TEJAS

(C) TRISHANKU (D) GURisd WA visur ]
osouHullAL 611 BUR BEMAdL HOUR (debris) Al MU .......... a3 oelldi €.
(A) Creep (B) Fall

(C) Lahar (D) Lateral Spreads

a2 Yra wARUH Yoo adlaiad DA U8 56 uoald-l siellui qsani 2ud 6 ?
(A) @C{O-l (Rare) (B) dde-ella (Vulnerable)
(C) 4\ (Endangered) D) Ricdresnis Ad qrarid (Critically endangered)

International Union of Conservation of Nature and Natural Resources 121 35U 8d $2cuHi »udd
Yzds ‘RED DATA BOOK’ ¥ 2l gl 4R1d €9 ?

1. % [QAlasdi aaui 812 2auRs anuld 244 el woaldil.
2. a2l 214 el grasmay/amdl waldi

3. [Alay 2onmi ugld 2 dus-i-u 89 w2« Adid -l

AL 137 Gualol 531 A1 FaAeL URAE S

(A) H1A 121 3 (B) Wt 1

(C) H1A 2 ¥ 3 (D) 1A 2
yedld 2022 A 251 2sA YA GAE .......... Higfl 2ud 69,

(A) tiggu a-l (B) aul a-il

(C) u¥s (D) -l HelHl
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15S.

156.

157.

158.

159.

160.

161.

The main objectives of e-Governance are:

1. To prevent corruption in the Government

2. To support and simplify Governance of Government, Citizen and Business
3. To ensure speedy administration of services and information

Choose the correct answer using the code given below:

(A) 1 only (B) 1 and 2

(C) 3 only (D) 1,2 and 3

Who won National e-Governance Award (Silver) 2020-21?
(A) RailMadad

(B) UMANG, IRCTC App

(C) Mon District Administration of Nagaland

(D) ASHA-Soft Rajasthan

Which Light Combat Aircraft (LCA) has been designed and developed by DRDO?
(A) JYOTI (B) TEJAS
(C) TRISHANKU (D) None of the above

Debris flow that originates on the slope of a Volcano is known as
(A) Creep (B) Fall
(C) Lahar (D) Lateral Spreads

As per the Wildlife Protection Act, Gharial is placed in which of the following species category?
(A) Rare (B) Vulnerable
(C) Endangered (D) Critically endangered

The “RED DATA BOOK” published by the International Union of Conservation of Nature and
Natural Resources contains the lists of:

1. Endemic plants and animal species present in biodiversity hotspots

2. Endangered/threatened plant and animal species

3. Protected sites for conservation of Nature and Resources in various countries.
Select the correct answer using the codes given below:

(A) 1 and 3 only (B) 1 only

(C) 2 and 3 only (D) 2 only

Nearly fifty per cent of the oxygen production on earth comes from
(A) Coniferous forests (B) Rain forests
(C) Ocean planktons (D) Grasslands

[BDV-2] rro. B
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162.

163.

164.

165.

166.

167.

168.

169.

yed) BuRrit 908 wiRvuR Wizl Avaiein sqAR, sy well Al g1 »idRd), Aledl uen o4y ww
Alsd ud 8 ?

A) A (B) s8ll
(C) g (D) R

-\

Wl Quisl G121 SRaddl davial 2 ML (Betula) 8-l $4L HILLL BUALRL $AHE 21adl dl ?
(A) uel (Leaf) (B) 44y 914 (Ring bark)
(C) idR aus§ (Heart wood) (D) U Als§ (Sap wood)

el axdl aggddl DA-midl sauRoin gt s adl 9l ?
(A) HElS AUl (B) AugAASATAA {vul
(C) Buasy A8l Hisl (D) azdl alg €=

A2 W 54 aam 2 Alsell Wl (clay soil) J qza el ?
(A) &{I-{l 241 QU (Wet and heavy) (B) 47248l (percolation) Hi 41l
(C) Ayal Ad uy Ysd (aerated) (D) ol uda W2 i uldzins

YRl AHYDS HRAVN (semi-dry saline) MEAHL el gai-ll 56 unld YAs 98 (indicator tree)
a3 s 2ud 8 ?

(A) AL (B) Hzais/dly (Salvadora)
(C) il (Mangifera) (D) %%}, (Syzygium)

3Udnr g Yosor “Alvudu-ll RI2dldl” (survival of the fittest) 2AAld .......... .
(A) 2Alq glg we 2158

(B) 58l 2usdil U512 saU W2 vigs8n

(C) RZ2od) 28 al A Nt AHAL HI A5

(D) 2% RS dgredl e vgsan

TUCN i 2351 RirA .......... Hi aollgd sul 9.
(A) den2lla (Vulnerable) (B) [R5 {ld grasm (Critically endangered)
(C) QAINMOL HUAA (Near threatened) (D) gy (Endangered)

GuaslRoidlu aruigl ooel (a2 A1 WSl sy [ aea el ?
(A) WIS cecll HI2L GUIL 913 UL % AA[Rd Sl 69,

(B) WAl ulus el viot o AHg iU 69,

(C) [zl el R %o dlata (variety of life) 421d €.

(D) %Ml Akl uelal g (scarce) Sl 8.
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162.

163.

164.

16S.

166.

167.

168.

169.

Which animal has the strongest sense of smell of all the terrestrial animals detecting it from
farthest distance, according to the number of scent receptors?

(A) Bear (B) Elephant
(C) Tiger (D) Lion

Which part of Bhojpatra (Betula) tree was used to write manuscripts by ancient writers?
(A) Leaf (B) Ring bark
(C) Heart wood (D) Sap wood

The carrying capacity of a population in an environment is NOT determined by which of the
following factors?

(A) Per capita consumption (B) Number of users

(C) Amount of available resources (D) Population Growth Rate
The clay soil is NOT

(A) Wet and heavy

(B) Extremely slow in percolation
(C) Perfectly aerated

(D) Considerably resistant to penetration by roots

Natural tree species that serve as such an indicator tree of semi-dry saline regions of Gujarat is
(A) Sagwan/Teak (7ectona) (B) Meswak/Pilu (Salvadora)
(C) Mango (Mangifera) (D) Jamun (Syzygium)

According to the theory of Darwin, the “survival of the fittest” means
(A) Adaptation to indefinite growth

(B) Adaptation to resist natural calamities

(C) Adaptation to survive and reproduce

(D) Adaptation to best physical fitness

IUCN has classified African Cheetah:
(A) Vulnerable (B) Critically endangered
(C) Near threatened (D) Endangered

Regarding the tropical rain forests which of the following statements is not correct?
(A) Nutrients are mostly stored in the plants themselves

(B) Soils are very rich in nutrients

(C) Contain world’s greatest variety of life

(D) Have scarce presence of organic matter on the ground
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170.

171.

172.

173.

174.

175.

176.

177.

QURAHE Al A UAR ... 8.
(A) Ry (B) 20dlen
(C) BiaBair (D) gals Piosin

A0 U 5y gradua aal we Al ay Adedla e ?

(A) 2uus ALoIAs [ARa1R, auaie Ul caus uldwydl, [Qaun 2aulAs axdlaw]
(B) ulasilia clotfes [z, auae -l caus Aldwydr, [Qaun a5 azdlay]
(C) cuus ALILAs [AraiR, anaie ud-l Hallzd wldwydl, [Qaun 2nlAs azdla]

(D) cuus ARIAS [A2d1R, aunae ul-l s Alduadl, sieu eRs azdlaw]

B WS A ..., .

(A) Wl (B) Azt el

(C) [Rigs s (Filter feeder) (D) [ 512 sl
DA WAL 5y [Qaun ue ol ?

(A) vut well -l el vyoy 2ied vug well Wld 6.
(B) ¢l wiell A Hesellal Hlg alll & €.

(C) o well-l wuegeflatl vy 2aleg dueg wiell fla .
(D) vt el :egelatl du-dl ndluisll 0 oy 8.

MRAH AsuAs anlden (scientific forestry) <l 232ud 518l 531 gdl ?
(A) N. L. Bor (B) H. G. Champian
(CO) R. S. Troup (D) Dietrich Brandis

.......... 2 ol 28 ool uonld € 5 @ HUYSL virlaal PESIRHU UL UAE 52 € A B HY
Hoaal {2 Bami 2ud 9.

(A) %[0 $iA21 (Apis dorsata) (B) xA[u Hell521 (Apis mellifera)
©) AU R SR8 (Apis cerana indica) D) [Ux sdilRu (Apis florea)

AL 2 2is WIS AN (resin) O 5 % .......... GIRL U A1 89,
(A) 8913 (B) fles (C) 52 (D) DU,
A U 5y [Qanq a9l ?

(A) ariuld AAs14U (Herbarium) 3 AlssA s81L s+ 2012 SIS A3 6 %+l BUR YSIUAL 91371 3L
QlatsauHi 2ud 69,

(B) arizuld AA814x (Herbarium) 2 Y5141 913U AalRud d 2lsdd 4 ie a3,

(C) artkuld AAS14A (Herbarium) 2 215 Ul €IS A3 FHI YSAAL 91371 A¥-l aalRd d aaaami
14 69,

(D) artzuld AAS14U (Herbarium) 2 2is AIR3SL SIS A3 € FHi YsAAL 9130 Ayl AalRRAd dd
AR”QAUHL 20 89,
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170.

171.

172.

173.

174.

175.

176.

177.

The ONLY Ape found wild in India is
(A) Chimpanzee (B) Gorilla
(C) Orangutan (D) Hoolock Gibbon

Which one of the following is most vulnerable to extinction?

(A) One with extreme geographical range, broad habitat tolerance and large local population
(B) One with restricted geographical range, broad habitat tolerance and large local population
(C) One with extreme geographical range, narrow habitat tolerance and large local population

(D) One with the extreme geographical range, broad habitat tolerance and small local population

Whale Shark is NOT a
(A) Fish (B) Mammal
(C) Filter feeder (D) Non-hunting animal

Which statement is WRONG ?

(A) Salt water fishes drink very less of saline water
(B) Fresh water fishes tend to absorb the salt

(C) Fresh water fishes drink very less of fresh water

(D) Salt water fishes lose salt through their skin

Who introduced scientific forestry in India?
(A) N. L. Bor (B) H. G. Champian
(O) R. S. Troup (D) Dietrich Brandis

A Wild Honey Bee species that prefers dark places for making its comb and has also been
domesticated for honey is

(A) Apis dorsata (B) Apis mellifera
(C) Apis cerana indica (D) Apis florea

Lac is the ONLY resin secreted by
(A) Plant (B) Insect
(C) Fungus (D) Bacteria

Which statement is WRONG ?

(A) Herbarium may be a sheet of paper of definite size with a dried plant specimen pasted on it
(B) Herbarium may be a systematically arranged collection of the dried plants

(C) Herbarium may be a box in which dried plants specimen are kept preserved systematically

(D) Herbarium may be a room in which dried plants specimen are preserved systematically
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178.

179.

180.

181.

182.

183.

184.

185.

-\

‘SIMBA’ 4 .......... dune.

(A) well

(B) 913

(C) Aig2dr

(D) Gresi Wsllatiql AARAHE 4 41 22l s %2

.......... 2 9ol oLl Adl ALl ay 2105+ ularias garll wald 8.

(A) AR (Avicennia) (B) 133 (Ailanthus)
© A4 (Azadirachta) (D) A (Boswellia)
Gl Al dRs 45eldl WAL ARSUEAU UUIR .......... HIS AU 8,

(A) 81351 (B) ¢id

(C) (D) u4d

MIRd Ay (A1) w[EMRAH 197270 55 ugzgﬁmi large Bengal Monitor (Common Indian
Monitor) 210l Axd a1 €9 ?

A) gy (B) A4y 1T
(C) 232 1 OERRIEN Y
UEHS PM 2.5 Wi {v1 2.5 % .......... isH gald 9.

(A) W5l WA (B) 5t Hle:
(C) el Hle= (D) {lell

ol AABRv 2 g yad 9 ?

(A) %4 [AzcRHE 20017 stopui Aal W2 Fare-dl il uR saR1Hl a2l eiriaanl 2uddl [@fas usious-
s vl

(B) %214l 201l Acuarian [zl il gadadl »is v

(C) aaui salddl »is v 5 il 2u 518 Hlsul 6.

(D) adui salddl 2is v 3 ol ol 201 A AU 8.

21421l Faelln (Island Biogeography)-il [Rigidl yored AlA-unidl sur 2vysi Alell ay woaldil gl ?
(A) UL, €24 21y (B) Hi2l, sl 21y,
(C) UL, @5+l 21y (D) HI2L, gl 21y,

A2 WA 54 2 ged), [Brrt uerlflany] AR AA(Ad [Rau-dA (Ecosystem) el ?
(A) ViCAL HSIAIR (B) ¥l Gu-iL ol
(C) ARl Helrl (D) eRumi Hdlny] 1Elyu
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178.

179.

180.

181.

182.

183.

184.

18S.

“SIMBA” is the name of
(A) Animal

(B) Plant

(C) Software

(D) Group of countries interested in conservation of endangered species

The most fire resistant tree species occurring in the Forest of Gujarat is....
(A) Avicennia (Cher) (B) Ailanthus (Ardusa)
(C) Azadirachta (Neem) (D) Boswellia (Salai)

The illegal trade pushing the Mongoose (Nevla) towards extinction is for its
(A) Bones (B) Teeth
(C) Hairs (D) Liver

In which of the following schedule of Indian Wildlife (Protection) Act 1972 is the Bengal Monitor

(Common Indian Monitor) Lizard included?
(A) Schedule I (B) Schedule II
(C) Schedule III (D) Schedule IV

In pollutant PM 2.5, the figure 2.5 refers to the unit of
(A) Microgram (B) Micrometer
(C) Millimetre (D) Milligram

Fire line in forest denotes

(A) A line of varying width constructed through the litter on the forest floor to control a fire in

forest area
(B) A line to demonstrate the boundary of fire-prone area in the forest
(C) A line in the forest from where forest fire breaks out

(D) A line in the forest at which forest fire ends

Which of the following will have highest number of species as per Theory of Island Biogeography?
(A) Small, distant Island (B) Large, nearby Island
(C) Small, nearby Island (D) Large, distant Island

Which of the following is NOT an example of natural unsubsidised solar powered ecosystems?
(A) Open Ocean (B) Upland forests
(C) Grasslands (D) Tidal estuaries
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186.

187.

188.

189.

190.

191.

192.

193.

194.

9122 qaraHl uda 831 Bl a0 dR1adl Alel ay s12 QL 2 DA HI2 desld vdR-LS UY $ULE ?

(A) S1531% 1 ues153
(C) 51611 31 ALSAS S

aq@d YRAUN (Wildlife corridor) i ..........

(B) U2l U3
(D) ACSR 31ASAUG S

(A) R8RS [QAUR 9 5 % ct-ll WA 18 YR WA 8.

(B) W+l axdl-l wmglas ania Wl

(C) waa [Aru-l gedl 881l [Agun Add [AzdiR

(D) s Wl 5 B+l Guaiar [Alas wsllail glas 8 si-u (Al el azdl amid s2a1Gualol 53 as 8.

Daleu WAL 53 well cwen wislle 425 @adA & ? (Fresh water indicator organism)

(A) Tubifex (B) Daphnia

(C) Sludge worm (D) Escherichia coli
Qg%’?.ld“-li%ﬂ ufl 2uda s HérC{‘QB{ wien (Rajasaurus narmadensis) C R 6.
(A) ga-ll uala (B) uall-l uoala

(C) uRyu-l uanla (D) 2t Wl weald
2 AlFd uulazelly 2sHe R ...

(A) Rfd 2eusdr a2 € 214 uldsisda ad ¢,

(B) Rald 2a1usdl a8 €9 214 uldsisa al o,

(C) Rala 2nusdl 241 Wldstgdl st~ ad 69,

(D) [Rald 2eusdr 244 Wlassdl o ul .

A U 5y 21 Akl o AHA AN D ?

(A) vl dlan A2y (B) 4l dvua

(C) azasu saldd &t (wetland) (D) NAURJAAR

Green Muffler i .......... 8 HoilAa 6.

(A) Wl ugul (B) talR uguwl

(C) ¥ UgNRL (D) Ay Mg

Y AAHT ARSI il HIG 5L & uold-l sl cuaulAs Wil Gualo a6 ?

(A) dlisL tuan (Prosopis juli flora)
(C) S35 6uAN (Acacia tortilis)

quaAds Ad steaHi 2iadl sl A ..........
(A) g3l A5
(C) s0-ll s

(B) uR (Acacia catechu)
(D) ulogsi (Prosopis cineraria)

-

(B) 4l s
(D) ALS3IHL oS

[BDV-2]

[Contd.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


186. Which gas in sewer systems smells like rotten eggs and is most corrosive, immediately dangerous

to life?
(A) Hydrogen sulphide (B) Nitrogen oxide
(C) Carbon dioxide (D) Sulphur dioxide

187. Wildlife corridor is
(A) An area of habitat that runs alongside a road
(B) A natural migration route of a population of animals
(C) A large continuous area of undisturbed natural habitat

(D) A route that animals can use to migrate between different patches of natural habitat
188. Which of the following is freshwater indicator organism?

(A) Tubifex (B) Daphnia

(C) Sludge worm (D) Escherichia coli

189. Rajasaurus narmadensis an important fossil discovered from Gujarat is a
(A) Tree species (B) Bird species
(C) Reptile species (D) Mammal species

190. During the course of self-generated ecological succession
(A) Resilience decreases and resistance increases
(B) Resilience increases and resistance decreases
(C) Both resilience and resistance increase

(D) Both resilience and resistance decrease

191. Which of the following is the oldest Ramsar site in Gujarat?
(A) Khijadia sanctuary (B) Thol lake
(C) Wadhwana wetland (D) Nal Sarovar

192. Green Muffler is related to
(A) Soil pollution (B) Noise pollution
(C) Water pollution (D) Air pollution

193. The wood of which tree species is commercially utilized in making charcoal in Gujarat?
(A) Prosopis juli flora (Ganda bawal) (B) Acacia catechu (Khair)
(C) Acacia tortilis (Israel bawal) (D) Prosopis cineraria (Khijda)

194. Commercially extracted kathha is from
(A) Leaf extract (B) Flower extract
(C) Fruit extract (D) Wood extract
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195.

196.

197.

198.

199.

200.

A WA sa1 2200 2 ALLS16LU (riparian) %LAL %l WAL €9 ?
(A) 8l w1 21y goalda ef3en (3

(B) Briau-l didl-u dd usaini

(C) ulBan sz-u ydlu gioudidl afdl Gu:

(D) ud az-n ydla givudidl andl Gu

2 WS 54 2 ualarw Aoilfd s1ueidla AEsRI0 2115 249 lsail dan AUl g5 e
AR 2l Al uuiarelly 28181 241 FaranL A8 6ilRd UL 21u2515 [Rsia 08 4oiRa © ?

(A) vuiazel (ia) 2A[BRau, 1986 (B) armell Q&) x1f@Ran, 1972
(C) Ba dla x1[a8lHuw, 2002 (D) 2nd Al oynd 2i52 2010

sl AU Mg W12 (Bl Wi vud € ?
(A) $i61 (Cobra) (B) U4l (Rat Snake)
(C) $190ARL (Krait) (D) visdlduil (Viper)

yeolluirl @a-a sl - U4 sul sH 2 1l 6 ?

(A) 831 > @RAL - UL - Yrd (B) 531 > Wul - QR — Yvd
(C) B3 - Yrd — @RAL - WUl (D) H31L > ARAL - Yod — Yl
A2l WA 5y [Atnq uex el ?

(A) anaizl viiz 214 A1asH2 1 all grasa uealduil 112 Higl wd 9.

(B) ArE1U Genrl AnMeUl 244 AAAA [ woaldzi-l odladl YRR s w2 uaid wa 8.
(C) L @l (small population) 24 »ugdls & W2 Adenslla ©.

(D) il nglaztiq-u 51290 aell uenld2l AvuHi ysani >udl ©.

QA Q4 56 ouota v wnalda -l celBisa -l ?
(A) 815415 1l (B) A-dly vl Auy
(C) wydl (aerobic) Hél (D) QS5+ uoin ulza
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195.

196.

197.

198.

199.

200.

In which of the following places Riparian forests are found along?
(A) the bank of rivers and other wetland

(B) the terai region, on the foothills of Himalayas

(C) the foothills of eastern slope of Western Ghats

(D) the foothills of the Eastern slope of Eastern Ghats

Which of the following is related to effective disposal of cases related to the environmental
protection and conservation of forest including enforcement of legal rights related to environment
and giving compensation for damages to persons and property?

(A) Environment (Protection) Act, 1986 (B) The Wildlife (Protection) Act, 1972
(C) The Biological Diversity Act, 2002 (D) National Green Tribunal Act, 2010

Which snake is considered non-poisonous to human beings?
(A) Cobra (B) Rat Snake
(O) Krait (D) Viper

Which of the following is the correct order of sequence of life cycle stages in a Butterfly?
(A) Egg — larva — Pupa — adult (B) Egg > Pupa - Larva — adult
(C) Egg — adult — larva — pupa (D) Egg — larva — adult — Pupa

Which of the following statements is NOT correct?

(A) Habitat loss and degradation are a major threat to many endangered species

(B) Natural Parks, Sanctuaries and Protected areas are large enough to ensure species viability
(C) Small population are susceptible to genetic decay

(D) Many species are recognised as threatened because of human activities.

Which is NOT the characteristic feature of wetland?
(A) Hydric soils (B) Accumulation of organic matter

(C) Aerobic soils (D) Denitrification is dominant process

[BDV-2] rro. 23
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SPACE FOR ROUGH WORK
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